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FOREWORD

The National Curriculum Framework (NCF) 2005, recommends that children’s life at school
must be linked to their life outside the school. This principle marks a departure from the
legacy of bookish learning which continues to shape our system and causes a gap between the
school, home and community. The syllabi and textbooks developed on the basis of NCF signify
an attempt to implement this basic idea. They also attempt to discourage rote learning and the
maintenance of sharp boundaries between different subject areas. We hope these measures
will take us significantly further in the direction of a child-centred system of education
outlined in the national Policy on Education (1986).

The success of this effort depends on the steps that school principals and teachers will take
to encourage children to reflect on their own learning and to pursue imaginative activities and
questions. We must recognize that, given space, time and freedom, children generate new
knowledge by engaging with the information passed on to them by adults. Treating the prescribed
textbook as the sole basis of examination is one of the key reasons why other resources and
sites of learning are ignored. Inculcating creativity and initiative is possible if we perceive and
treat children as participants in learning, not as receivers of a fixed body of knowledge.

This aims imply considerable change is school routines and mode of functioning. Flexibility
in the daily time-table is as necessary as rigour in implementing the annual calendar so that the
required number of teaching days are actually devoted to teaching. The methods used for teaching
and evaluation will also determine how effective this textbook proves for making children’s
life at school a happy experience, rather then a source of stress or boredom. Syllabus designers
have tried to address the problem of curricular burden by restructuring and reorienting knowledge
at different stages with greater consideration for child psychology and the time available for
teaching. The textbook attempts to enhance this endeavour by giving higher priority and space
to opportunities for contemplation and wondering, discussion in small groups, and activities
requiring hands-on experience.

The National Council of Educational Research and Training (NCERT) appreciates the hard
work done by the textbook development committee responsible for this book. We wish to
thank the Chairperson of the advisory group in science and mathematics, Professor J.V. Narlikar
and the Chief Advisor for this book, Professor P. Sinclair of IGNOU, New Delhi for guiding the
work of this committee. Several teachers contributed to the development of this textbook; we



are grateful to their principals for making this possible. We are indebted to the institutions and
organizations which have generously permitted us to draw upon their resources, material and
personnel. We are especially grateful to the members of the National Monitoring Committee,
appointed by the Department of Secondary and Higher Education, Ministry of Human Resource
Development under the Chairpersonship of Professor Mrinal Miri and Professor G.P.
Deshpande, for their valuable time and contribution. As an organisation committed to systemic
reform and continuous improvement in the quality of its products, NCERT welcomes comments
and suggestions which will enable us to undertake further revision and refinement.

Director
New Delhi National Council of Educational
20 December 2005 Research and Training



Foreword

The Government of Andhra Pradesh has unleashed a new era in school education by
introducing extensive curricular reforms from the academic year 2020-21. The Government has
taken up curricular reforms intending to enhance the learning outcomes of the children with focus
on building solid foundational learning and to build up an environment conducive for an effective
teaching-learning process. To achieve this objective, special care has been taken in designing the
textbooks to achieve global standards. As part of this the Government of Andhra Pradesh has
decided to introduce NCERT Textbooks from class VI onwards.

As a part of the curricularm reform, an effort was made to ensure quality transaction of
textbooks, bilingual method was used. The mathematical concepts in the text book are developed
based on themes like Number System, Arithmetic, Algebra, Mensuration, Geometry and Statistics.
In this text book, concepts are introduced through activities related to daily life situations and
conversations. To strengthen these concepts, individual activities, group activities and whole class
activities are designed. The textbook attempted to enhance this endeavor through incorporating QR
codes in each chapter to enable efficient learning outside the class room.

We are grateful to our Honourable Chief Minister, Sri Y.S. Jagan Mohan Reddy, Andhra
Pradesh for being our source of inspiration to carry out this extensive reform in the Education
Department. We extend our gratitude to our Honourable Minister of Education, Sri Botcha
Satyanarayana, Honourable Minister of Education for striving towards qualitative education. Our
special thanks to Sri. Praveen Prakash, IAS, Principal Secretary, School Education, Sri. S. Suresh
Kumar, 1AS, Commissioner, School Education and State Project Director, Samagra Shiksha
Ms. Nidhi Meena, IAS, Special Officer, English Medium Project for their constant motivation and
guidance.

We convey our sincere thanks to the text book writers, who studied curriculum and best
practices across the globe to reach global standards. Our heartful thanks to Director NCERT in
designing the text book and for issuing copyrights to print the textbooks by the State Government.
We also thank our Coordinators, Editors, Subject Coordinators, Technical team members, Artists,
DTP and Layout designers for their contribution in the development of this text book. We invite
constructive feedback from the teachers, parents and Educationalists for the further refinement of
the text book.

Dr. B. Pratap Reddy
Director
SCERT - Andhra Pradesh

Vi



RATIONALISATION OF CONTENT IN THE TEXTBOOKS

In view of the COVID-19 pandemic, it is imperative to reduce content load on students. The
National Education Policy 2020, also emphasises reducing the content load and providing
opportunities for experiential learning with creative mindset. In this background, the NCERT
has undertaken the exercise to rationalise the textbooks across all classes. Learning Outcomes
already developed by the NCERT across classes have been taken into consideration in this
exercise.

Contents of the textbooks have been rationalised in view of the following:

Overlapping with similar content included in other subject areas in the same class
Similar content included in the lower or higher class in the same subject
Difficulty level

Content, which is easily accessible to students without much interventions from teachers
and can be learned by children through self-learning or peer-learning

Content, which is irrelevant in the present context

This present edition, is a reformatted version after carrying out the changes given above.

vii
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2 NUMBER SYSTEMS

CHAPTER 1

NUMBER SYSTEMS
I

1.1 Introduction

In your earlier classes, you have learnt about the number line and how to represent various types
of numbers on it (see Fig. 1.1).

Fig. 1.1 : The number line

Just imagine you start from zero and go on walking along this number line in the positive
direction. As far as your eyes can see, there are numbers, numbers and numbers!

Now suppose you start walking along the number line, and collecting some of the numbers.
Get a bag ready to store them!



26037"59“1?260 3

éoaﬁiéﬁéo

1.1 HBWcdo

A% (&od B, s éospgésp 1800 LHBAW TR DAY Bsee éogpge):éa dew Jredomest 3633%05&63
(He20 1.1 Seiod).

Heo.1.1 . 60@;"588,3

FatYet) o) S0 (@PBodod), FrEre BIES® &3 éoa?egéaa F0erdEHE0 BIJA0S0&. & 8D
Hsst éogpéen (950830 éoaa?geaa) &non!

Heo.1.2

EXas) FaNe) éoapfgésp Road SEHE0 HBAH §°€O&éogp§e>26) HEBoBEo (FrBodoTER dHHoTro.
A HEB0SERIS 2.8 $HoAD Rgo D&%l !



4 NUMBER SYSTEMS

You might begin with picking up only natural numbers like 1, 2,
3, and so on. You know that this list goes on for ever. (Why is this
true?) So, now your bag contains infinitely many natural numbers!
Recall that we denote this collection by the symbol N.

Now turn and walk all the way back, pick up zero and put it into
the bag. You now have the collection of whole numbers which is
denoted by the symbol W.

Now, stretching in front of you are many, many negative integers. Put all the negative integers
into your bag. What is your new collection? Recall that it is the collection of all integers, and
it is denoted by the symbol Z.

Z comes from the
German word
“zahlen”, which means
“to count”.

] . ] 13
Are there some numbers still left on the line? Of course! There are numbers like 7' or

—2005 . L .
even — - = If you put all such numbers also into the bag, it will now be the collection of

rational numbers.

N

9 8 6721 60
161 \]12

- N

49
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6 NUMBER SYSTEMS

The collection of rational numbers is denoted by Q. ‘Rational’ comes from the word ‘ratio’,
and Q comes from the word ‘quotient’.

You may recall the definition of rational numbers:

Anumber ‘r’is called a rational number, if it can be written in the form g , Where pand g
are integers and g = 0. (Why do we insist that q = 0?)

Notice that all the numbers now in the bag can be written in the form g , Where pand q are

-25
1
the rational numbers also include the natural numbers, whole numbers and integers.

integers and g = 0. For example, —25 can be written as ; here p =—25and q = 1. Therefore,

You also know that the rational numbers do not have a unique representation in the form 2,
where p and g are integers and g = 0. For example 1-2.0_2_4 and so on The(le
pandg g 47" P =472 T 50 " o4 '
are equivalent rational numbers (or fractions). However, when we say that g Is a rational
number, or when we represent g on the number line, we assume that q= 0 and that p and q have
no common factors other than 1 (that s, p and g are co-prime). So, on the number line, among

e . . 1 . 1
the infinitely many fractions equivalent to 5 we will choose 7 to represent all of them.

Now, let us solve some examples about the different types of numbers, which you have
studied in earlier classes.

Example 1 : Are the following statements true or false? Give reasons for your answers.

(i) Everywhole number is a natural number.

(i1) Every integer is a rational number.

(iif)  Every rational number is an integer.

Solution : (i) False, because zero is a whole number but not a natural number.

(i1) True, because every integer m can be expressed in the form ? ,and so itis a rational number.

3. :
(ii)  False, because c s not an integer.
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8 NUMBER SYSTEMS

Example 2 : Find five rational numbers between 1 and 2.
We can approach this problem in at least two ways.

Solution 1 : Recall that to find a rational number between rand s, you can add r and s and divide
: . 3.
the sum by 2, that is r_;s lies between r and s. So, S isa number between 1 and 2. You can
proceed in this manner to find four more rational numbers between 1 and 2. These four numbers
511 13
d —

*28 84
Solution 2 : The other option is to find all the five rational numbers in one step. Since we want

) ) i ) i i 6
five numbers, we write 1 and 2 as rational numbers withdenominator5+1,i.e.,1= ry and 2=

12 7 8 9 10
— . Then you can checkthat -, = and — are all rational numbers between 1 and 2. So,

36 66§ 6
- 1,2 = d—
theflve numbersare 533" 3

Remark : Notice that in Example 2, you were asked to find five rational numbers between 1
and 2. But, you must have realised that in fact there are infinitely many rational numbers between
1 and 2. In general, there are infinitely many rational numbers between any two given

rational numbers.

Let us take a look at the number line again. Have you picked up all the numbers? Not, yet.
The fact is that there are infinitely many more numbers left on the number line! There are gaps
in between the places of the numbers you picked up, and not just one or two but infinitely many.

The amazing thing is that there are infinitely many numbers lying between any two of these gaps
too! @

| - ("¢
So we are left with the following questions:

1. What are the numbers, that are left on the number line, called?

2. How do we recognise them? That is, how do we distinguish them ijg‘
from the rationals (rational numbers)?

These questions will be answered in the next section.
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10 NUMBER SYSTEMS

EXERCISE 1.1

1. Iszeroarational number? Can you write it in the form Ep , Where p and g are integers and
q=0?

2. Find six rational numbers between 3 and 4.

3. Find five rational numbers between g and %.

4. State whether the following statements are true or false. Give reasons for your answers.
(1) Every natural number is a whole number.
(i1) Every integer is a whole number.

(i1i) Every rational number is a whole number.

1.2 Irrational Numbers

We saw, in the previous section, that there may be numbers on the number line that are not
rationals. In this section, we are going to investigate these numbers. So far, all the numbers you
have come across, are of the form g , Where pand g are integers and g = 0. So, you may ask: are
there numbers which are not of this form? There are indeed such numbers.

The Pythagoreans in Greece, followers of the famous mathematician

and philosopher Pythagoras, were the first to discover the numbers

which were not rationals, around 400 BC. These numbers are called

irrational numbers (irrationals), because they cannot be written

in the form of a ratio of integers. There are many myths surrounding

the discovery of irrational numbers by the Pythagorean, Hippacus

of Croton. In all the myths, Hippacus has an unfortunate end, either Pythagoras

for discovering that 2 is irrational or for disclosing the secret (569 BCFiEg; 3739 BCE)
about /2 to people outside the secret Pythagorean sect!

Let us formally define these numbers.
A number ‘s’ is called irrational, if it cannot be written in the form Ep where p and q are
integers and q = 0.
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You already know that there are infinitely many rationals. It turns out that there are infinitely
many irrational numbers too. Some examples are:

2. 3. yi5, 7, 0.10110111011110...

Remark : Recall that when we use the symbol ./, we assume that it is the positive square
root of the number. So /4 = 2, though both 2 and -2 are square roots of 4.

Some of the irrational numbers listed above are familiar to you. For example, you have
already come across many of the square roots listed above and the number .

The Pythagoreans provedthat /2 is irrational. Later in approximately 425 BC, Theodorus
of Cyrene showed that /3, /5, /6, /7, 410, V11, V12, V13, /14, /15 and /17 are also irrationals.
Proofs of irrationality of /2, /3, /5, etc., shall be discussed in Class X. As to r, it was known
to various cultures for thousands of years, it was proved to be irrational by Lambert and Legendre
only in the late 1700s. In the next section, we will discuss why 0.1011011101110... and ware
irrational. >

Let us return to the questions raised at the end of the previous
section. Remember the bag of rational numbers. If we now put all
irrational numbers into the bag, will there be any number left on
the number line? The answer is no! It turns out that the collection
of all rational numbers and irrational numbers together make up
what we call the collection of real numbers,
which is denoted by R. Therefore, a real number is either rational or irrational. So, we can say
that every real number is represented by a unique point on the number line. Also, every
point on the number line represents a unique real number. This is why we call the number
line, the real number line.

In the 1870s two German mathematicians, Cantor and
Dedekind, showed that : Corresponding to every real
number, there is a point on the real number line, and
corresponding to every point on the number line, there
exists a unique real number.

R. Dedekind (1831-1916) G C 1845-1918
Fig. 1.4 . Cantor ( -

Fig. 1.5
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Let us see how we can locate some of the irrational numbers on the number line.

Example 3 : Locate ~/2 on the number line.
: . _ _ _ C B
Solution : Itis easy to see how the Greeks might have discovered /2 . Consider NG

asquare OABC, with each side 1 unitin length (see Fig. 1.6). Then you can see by o1y
the Pythagoras theorem that OB = /1 + 1 = /2. How do we represent v/2 on Fig. 1.6
the number line? This is easy. Transfer Fig. 1.6 onto the number line making sure

that the vertex O coincides with zero (see Fig. 1.7).

Fig. 1.7

We have just seen that OB = /7 . Using a compass with centre O and radius OB, draw an arc
intersecting the number line at the point P. Then P corresponds to /2 on the number line.

Example 4 : Locate /3 on the number line.

Solution : Let us return to Fig. 1.7.

D
\\
V3l XN
1 \\ \\ J3
' ' — | 4 ;
3 2 —1%0 APQ 3
Fig. 1.8

Construct BD of unit length perpendicular to OB (as in Fig. 1.8). Then using the Pythagoras

theorem, we see that OD = ,/(ﬁ)z +12 =+/3 Using a compass, with centre O and radius OD,

draw an arc which intersects the number line at the point Q. Then Q correspondsto /3.
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In the same way, you can locate ./ for any positive integer n, after ./n —1 has been located.

EXERCISE 1.2

1. State whether the following statements are true or false. Justify your answers.
(i) Every irrational number is a real number.
(i1) Every point on the number line is of the form /m , where m is a natural number.
(iit)  Everyreal number is an irrational number.

2. Are the square roots of all positive integers irrational? If not, give an example of the
square root of a number that is a rational number.

3. Show how ./5 can be represented on the number line.

4. Classroom activity (Constructing the ‘square root
spiral’) : Take a large sheet of paper and construct the *square
root spiral’ in the following fashion. Start with a point O and
draw a line segment OP, of unit length. Draw a line segment
PP, perpendicular to OP. of unit length (see Fig. 1.9). Now
draw a line segment PP, perpendicular to OP,. Thendrawa  Fig. 1.9 : Constructing
line segment P_P, perpendicular to OP,. Continuing in this square root spiral
manner, you can get the line segmentP__ P_by
drawing a line segment of unit length perpendicular to OP__,. In this manner, you will
have created the points P,, P.,...., P ,... ., and joined them to create a beautiful spiral

depicting 2, /3, V4, ...

1.3 Real Numbers and their Decimal Expansions

In this section, we are going to study rational and irrational numbers from a different point of
view. We will look at the decimal expansions of real numbers and see if we can use the expansions
to distinguish between rationals and irrationals. We will also explain how to visualise the
representation of real numbers on the number line using their decimal expansions. Since rationals
are more familiar to us, let us start with them. Let us take three examples : %, % % :

Pay special attention to the remainders and see if you can find any pattern.
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Example 5 : Find the decimal expansions of %, % and %
Solution :
3.333... 0.875 0.142857...
3[10 8(7.0 710
9 64 7
10 60 30
9 | 56 28
(10 40 20
9 _ 40 14
10 0 60
9 56
1 40
35
50
49
1

Remainders:1,1,1,1,1...Remainders:6,4,0 Remainders:3,2,6,4,5,1,
Divisor : 3 Divisor : 8 3,2,6,4,51,...

Divisor : 7
What have you noticed? You should have noticed at least three things:

(1) The remainders either become 0 after a certain stage, or start repeating themselves.

.. . : . . : . .10

(i) The number of entries in the repeating string of remainders is less than the divisor (in —

one number repeats itself and the divisor is 3, in - there are six entries 326451 in the
repeating string of remainders and 7 is the divisor).

(i) If the remainders repeat, then we get a repeating block of digits in the quotient
(for 3 3 repeats in the quotient and for -, we get the repeating block 142857 in the
quotient).
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Although we have noticed this pattern using only the examples above, it is true for all rationals
of the form 2 (g = 0). On division of p by g, two main things happen — either the remainder
becomes zero or never becomes zero and we get a repeating string of remainders. Let us look
at each case separately.

Case (1) : The remainder becomes zero

7 . :
In the example of g e found that the remainder becomes zero after some steps and the decimal

. 7 1 639
expansion of 8- 0.875. Other examples are 5= 0.5, % = 2.556. In all these cases, the

decimal expansion terminates or ends after a finite number of steps. We call the decimal
expansion of such numbers terminating.

Case (i) : The remainder never becomes zero

10 1 . . : .
In the examples of 3 and -, we notice that the remainders repeat after a certain stage forcing

the decimal expansion to go on for ever. In other words, we have a repeating block of digits in

. . — _ . 10
the quotient. We say that this expansion is non-terminating recurring. For example, 3° 3.3333...

and ; = 0.142857142857142857...

: . : 10 . L S
The usual way of showing that 3 repeats in the quotient of 31 to write it as 3.3. Similarly,

. - . . 1 .1
since the block of digits 142857 repeats in the quotient of -, we write ~ 8S 0142857 where

the bar above the digits indicates the block of digits that repeats. Also 3.57272... can be written

as 3.572. So, all these examples give us non-terminating recurring (repeating) decimal
expansions.

Thus, we see that the decimal expansion of rational numbers have only two choices: either they
are terminating or non-terminating recurring.

Now suppose, on the other hand, on your walk on the number line, you come across a number
like 3.142678 whose decimal expansion is terminating or a number like 1.272727... that is,

1.27 , whose decimal expansion is non-terminating recurring, can you conclude that it is a rational
number? The answer is yes!
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We will not prove it but illustrate this fact with a few examples. The terminating cases are easy.
Example 6 : Show that 3.142678 is a rational number. In other words, express 3.142678 in the
form g, where p and g are integers and g = 0.

3142678

Solution : We have 3.142678 = 1000000

» and hence is a rational number.

Now, let us consider the case when the decimal expansion is non-terminating recurring.

Example 7 : Show that 0.3333... = 03 can be expressed in the form g, where p and q are
integers and q = 0.

Solution : Since we do not know what 03 is, let us call it ‘x” and so
x = 0.3333...
Now here is where the trick comes in. Look at
10 x = 10 x (0.333...) = 3.333...
Now, 3.3333... = 3 + X, since x = 0.3333...
Therefore, 10x=3+X
Solving for x, we get
—qi _1
9x = 3,1.e.,, Xx= 3
Example 8 : Show that 1.272727... = 127 can be expressed in the form g, where p and g are

integers and q = 0.
Solution : Let x = 1.272727... Since two digits are repeating, we multiply x by 100 to get
100 x = 127.2727...

So, 100 x = 126 +1.272727... =126 + X
Therefore, 100 x — x = 126, i.e., 99 x = 126

) 126 14

l.e., = =

99 11
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14 _
You can check the reverse that el =1.27.

Example 9 : Show that 0.2353535... = 0.235 can be expressed in the form g, where p and q
are integers and q = 0.

Solution : Letx= 0.235. Over here, note that 2 does not repeat, but the block 35 repeats. Since
two digits are repeating, we multiply x by 100 to get

100 x = 23.53535...

So, 100 x = 23.3 + 0.23535... = 23.3 + X
Therefore, 99 x = 23.3

- _ 23 eich dives x= 253
e, 99 x = 10 » which gives x = 390

233 —
You can also check the reverse that 99 = 0.235.

So, every number with a non-terminating recurring decimal expansion can be expressed in the
form g (g=0), where p and g are integers. Let us summarise our results in the following form
The decimal expansion of a rational number is either terminating or non-terminating

recurring. Moreover, a number whose decimal expansion is terminating or non-terminating

recurring is rational.

So, now we know what the decimal expansion of a rational number can be. What about the
decimal expansion of irrational numbers? Because of the property above, we can conclude that

their decimal expansions are non-terminating non-recurring.
So, the property for irrational numbers, similar to the property stated above for rational numbers,
is

The decimal expansion of an irrational number is non-terminating non-recurring. Moreover,
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a number whose decimal expansion is non-terminating non-recurring is irrational.

Recall s =0.10110111011110... from the previous section. Notice that it is non-terminating
and non-recurring. Therefore, from the property above, it is irrational. Moreover, notice that
you can generate infinitely many irrationals similar to s.

What about the famous irrationals /2 and n? Here are their decimal expansions up to a certain
stage.

J2 = 1.4142135623730950488016887242096...
n = 3.14159265358979323846264338327950...
(Note that, we often take % as an approximate value for rt, but T # % )

Over the years, mathematicians have developed various techniques to produce more and more
digits in the decimal expansions of irrational numbers. For example, you might have learnt to
find digits in the decimal expansion of /2 by the division method. Interestingly, in the Sulbasutras
(rules of chord), a mathematical treatise of the Vedic period (800 BC - 500 BC), you find an
approximation of /> as follows:

J2 = 1+l+[lxlj—[ixlxlj=1.4l42156
3 4 3 34 4 3
Notice that it is the same as the one given above for the first five decimal places. The history of
the hunt for digits in the decimal expansion of & is very interesting.

The Greek genius Archimedes was the first to compute digits in
the decimal expansion of n. He showed 3.140845 < &t <
3.142857. Aryabhatta (476 — 550 C.E.), the great Indian
mathematician and astronomer, found the value of = correct to
four decimal places (3.1416). Using high speed computers and
advanced algorithms, m has been computed to over 1.24 trillion, ... . . (287 BCE - 212 BCE)
decimal places! Fig. 1.10

Now, let us see how to obtain irrational numbers. . )
Example 10 : Find an irrlational number between - and -
Solution : We saw that — = 0142857, So, you can easily calculate % =0.285714.

) ) ) 1 2 ) ) )
To find an irrational number between - and = we find a number which is
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non-terminating non-recurring lying between them. Of course, you can find infinitely many
such numbers.

An example of such a number is 0.150150015000150000...

EXERCISE 1.3

1. Write the following in decimal form and say what kind of decimal expansion each

has :
(i) = (ii) = (iii) 4
100 11 8
. 3 2, . 329
(iv) R\ 1 W) 00
R — : : : 2 3 45
2. You know that - = 0142857 . Can you predict what the decimal expansions of IIEIRIEL

g are, without actually doing the long division? If so, how?
[Hint : Study the remainders while finding the value of % carefully.]
3. Express the following in the form % where p and g are integers and g # 0.
(1) o6 (i1) 047 (i) o001
4. Express0.99999.... in the form % .Are you surprised by your answer? With your teacher
and classmates discuss why the answer makes sense.

5. What can the maximum number of digits be in the repeating block of digits in the decimal
expansion of %? Perform the division to check your answer.

6. Look at several examples of rational numbers in the form % (g#0), wherepandgare
integers with no common factors other than 1 and having terminating decimal
representations (expansions). Can you guess what property g must satisfy?

7. Write three numbers whose decimal expansions are non-terminating non-recurring.
8. Findthree different irrational numbers between the rational numbers ? and %
9. Classify the following numbers as rational or irrational :

(i) v23 (i) 225 (iii) 0.3796

(iv) 7.478478... (v) 1.101001000100001...
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1.4 Operations on Real Numbers

You have learnt, in earlier classes, that rational numbers satisfy the commutative, associative
and distributive laws for addition and multiplication. Moreover, if we add, subtract, multiply or
divide (except by zero) two rational numbers, we still get a rational number (that is, rational
numbers are ‘closed’ with respect to addition, subtraction, multiplication and division). It turns
out that irrational numbers also satisfy the commutative, associative and distributive laws for
addition and multiplication. However, the sum, difference, quotients and products of irrati%;;\l
numbte_rs arle not always irrational. For example, (\/E) + (_\/6) , (ﬁ) - (ﬁ) , (\@)(ﬁ) and N5
are rationals.

Let us look at what happens when we add and multiply a rational number with an irrational
number. For example, /3 is irrational. What about2 + /3 and 2./3? Since /3 has a non-
terminating non-recurring decimal expansion, the same is true for 2 + \/3 and 24/3 . Therefore,
both 2 + /3 and 24/3 are also irrational numbers.

Example 11 : Check whether 7./5, l,ﬁ + 21,7 — 2 are irrational numbers or not.
g 5

Solution : /5 =2.236..., /2 =1.4142..., n = 3.1415...

7 7~/5 7~/5
Then 75 =15.652..., ¢ = fs—{;g:Tf =3.1304...

V2 +21=224142..., n-2=1.1415...

All these are non-terminating non-recurring decimals. So, all these are irrational numbers.

Now, let us see what generally happens if we add, subtract, multiply, divide, take square roots
and even nth roots of these irrational numbers, where n is any natural number. Let us look at
some examples.

Example 12 : Add 24/2 + 53 and /2 - 3J/3.
Solution : (242 +53) + (V2 = 3J8) = (242 +42) + (513 - 343)
= Q+1)V2+(5-3)/3=3/2+23
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Example 13 : Multiply 65 by 2.5 .
Solution : 645 x 26 =6 x2x /5 x /5 =12 x5 =60

Example 14 : Divide 815 by 2/3.

SOIUtIoN * 8415 = 23 = % 4

These examples may lead you to expect the following facts, which are true:
(1) Thesum or difference of a rational number and an irrational number is irrational.
(i1) The product or quotient of a non-zero rational number with an irrational number is irrational.

(ii)  If we add, subtract, multiply or divide two irrationals, the result may be rational or
irrational.

We now turn our attention to the operation of taking square roots of real numbers. Recall
that, if a is a natural number, then \/a =b means b2 =a and b > 0. The same definition can be
extended for positive real numbers.

Let a > 0be areal number. Then \/a =b means b?=aand b > 0.

In Section 1.2, we saw how to represent /n for any positive integer n on the number line. We
now show how to find \/x forany given positive real number x geometrically. For example, let
us find it for x = 3.5, i.e., we find /3.5 geometrically.

A< 35— sB I C

Fig. 1.11

Mark the distance 3.5 units from a fixed point Aon a given line to obtain a point B such that AB
=3.5units (see Fig. 1.11). From B, mark a distance of 1 unit and mark the new pointas C. Find
the mid-point of AC and mark that point as O. Draw a semicircle with centre O and radius OC.
Draw a line perpendicular to AC passing through B and intersecting the semicircle at D. Then,

BD=.35.
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More generally, to find +/x , for any positive real number x, we
mark B so that AB = x units, and, as in Fig. 1.12, mark C so that BC
=1 unit. Then, as we have done for the case x = 3.5, we find BD =
Jx (see Fig. 1.12). We can prove this result using the Pythagoras
Theorem.

A< x >B 1 C
Fig. 1.12

Notice that, in Fig. 1.12, A OBD is a right-angled triangle. Also, the radius of the circle is X%

units.

Therefore, OC=0D =0A= XTH units.

X+1

-1
Now, OB = X—[—}XT-

2

So, by the Pythagoras Theorem, we have

2 2
,_ 2 AR2 - x+1) _(x—lj _Ax
BD?=0D?-0B —( > 5 X

This shows that BD = /x .

This construction gives us a visual, and geometric way of showing that ,/x exists for all real

numbers x > 0. If you want to know the position of \/x on the number line, then let us treat the
line BC as the number line, with B as zero, C as 1, and so on. Draw an arc with centre B and

radius BD, which intersects the number line in E (see Fig. 1.13). Then, E represents /x .
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We would like to now extend the idea of square roots to cube roots, fourth roots, and in
general nth roots, where n is a positive integer. Recall your understanding of square roots
and cube roots from earlier classes.

What is 3/g ? Well, we know it has to be some positive number whose cube is 8, and you must
have guessed 3/g =2. Let ustry $/243. Do you know some number b such that b® =243? The
answer is 3. Therefore, $/243 = 3.

From these examples, can you define /3 for a real number a > 0 and a positive integer n?

Let a > 0 be a real number and n be a positive integer. Then &/ = b, if b» = a and
b > 0. Note that the symbol “./~ * used in /2, /8, ¥/a, etc. is called the radical sign.

We now list some identities relating to square roots, which are useful in various ways.
You are already familiar with some of these from your earlier classes. The remaining ones
follow from the distributive law of multiplication over addition of real numbers, and from
the identity (x +y) (x —y) = x?—y?, for any real numbers x and y.

Letaand b be positive real numbers. Then

(i) ab=+avb (ii)\/%=%

(iii) (Va++b)(va-b)=a-b (iv) (a++b)(a-vb)=a’-b
() (Va+b) (Ve +Vd ) = ac +ad +vbe + vbd

(Vi)(x/5+\/5)2=a+2\/%+b

Let us look at some particular cases of these identities.

Example 15 : Simplify the following expressions:

M (5eV7)(2+5) (i) (5+5)(5-+5)

(i)  (VB+T) (iv) (VIL-7) (VI +7)
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& BT8R0 TP AR Kgyg éosp§ N $805» a> 0 e EVISEY éogpegéa 1fa %o QBggrosKeTe?

a>0 oH80 a8 RS Dogy B N a8 &S Feg Dowg 0808, adpi Ya = b wond
b" = a %805 b >0 50508, /2, ¥/8, Ya B FHSE HFTrR0DS | 7 D& TEES HE)

[Sel:hite)

B0 BYPE HPFreroBd Koe0HoNS ERY) DTy SrSEy Achdre 8k orrro. (Eod
BBr5HeE* th HBE® 5 oB HBoD TENHI GIRB. HADSD TN Vogge BE) Ho8eBoR Heses
Qe TAHEw FoBAsH (X +Y) (X —Y) = X2 — Y2 &0 383 Srek8s Aohno Toe TeebhdEntn. a8

X, Y en 3T PR Soggen.

a,ben HBD 5 KD Bogygen, w0

(i) Vab=+avb (ii)\/%=%

(iii) (vVa +b)(va-vb)=a-b (iv) (a+vb)(a-b)=a"-b
(v) (Va +B) (Ve +d) = Vac + Jad + Vhe + Vbd

(vi) (\/5+\/5)2=a+2\/%+b

S DBy DIy Achdre @nE) §°Q) @E%é Qodoyekd K)B%é’)mot’o.

&S 15 : (Bod $srdreds SrgEsosod.

(i) (5+7)(2+5) (ii) (5++5)(5-+5)

(iii) (V3 +7) (iv) (VIL-7) (VIL +7)
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Solution : (i) (5++7)(2++5)=10+5J5 + 27 +/35

(ii) (5++5)(5-5)=5 —(v5) =25-5=20

(ii))(V3 + V7) = (V3) + 237 + (V) =3+ 221 +7 =10+ 2V21
(V) (VL1 ~7) (VIL + ¥7) = (VL) - (V7) =11-7=4

Remark : Note that ‘simplify” in the example above has been used to mean that the expression
should be written as the sum of a rational and an irrational number.

1
We end this section by considering the following problem. Look at N Can you tell where it

shows up on the number line? You know that it is irrational. May be it is easier to handle if the
denominator is a rational number. Let us see, if we can ‘rationalise’ the denominator, that is, to
make the denominator into a rational number. To do so, we need the identities involving square
roots. Let us see how.

L . 1
Example 16 : Rationalise the denominator of N

Solution : We want to write 2 asan equivalent expression in which the denominator is a

. L o1 2
rational number. We know that /7 ../ is rational. We also know that multiplying 72 by %

will give us an equivalent expression, since —= = 1. So, we put these two facts together to get
V2

11 2 2
NN AN T

. - 1 . i
In this form, it is easy to locate 7z Oon the number line. It is half way between 0

and /2.
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56 (i) (5+7)(2+5) =10 +5V5 + 247 + /35

(ii) (5+5)(5-+5)=5 ~(v5) =25-5=20

(iii) (V3 +7) =(VB) + 24347 + (V7) =3+ 2421 + 7 =10 + 2421
(iv) (VA1 —7) (Vi1 +7) = (V1) —(V7) =11-7=4
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) 1
Example 17 : Rationalise the denominator of 5 NG

1
Solution : We use the Identity (iv) given earlier. Multiply and divide 5 NG by 2 - /3 toget

1 2-43_2-43_
2+43 2-3 432f

5
Example 18 : Rationalise the denominator of B-15

Solution : Here we use the Identity (iii) given earlier.

5 5 3+5 5(¥3+B) (s
o, FBTHE R R s |2 (B

L . 1
Example 19 : Rationalise the denominator of 71302

Solution :

11 (7-32)_ 7-3/2 7-3/2
7+3/2 7+3/2 (7-3J2) 49-18 31

So, when the denominator of an expression contains a term with a square root (or a number
under aradical sign), the process of converting it to an equivalent expression whose denominator
is a rational number is called rationalising the denominator.

EXERCISE 1.4
1. Classify the following numbers as rational or irrational:
: 27
(i) 2-5 (ii) (3+23) - V23 (iii) B

(iv) % V) 2n
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2. Simplify each of the following expressions:
(i) (3+v3)(2+v2) (i) (3+3)(3-3)
(iii) (V5 + 2 (iv)(v5 —v2) (V5 +2)
3. Recall, «is defined as the ratio of the circumference (say c) of a circle to its diameter

(say d). Thatis, = = % This seems to contradict the fact that rt is irrational. How will

you resolve this contradiction?

4. Represent +/9.3 on the number line.
5. Rationalise the denominators of the following:

L1 .. 1
) 7 () 77— 7%
1 _ 1
(i) 572 (iv) 75

1.5 Laws of Exponents for Real Numbers

Do you remember how to simplify the following?

(i) 172.17°= (ii) (5?)" =
Lo 239 . _
(iii) o - (iv) 7*.93 =
Did you get these answers? They are as follows:
(i)172.17° =177 (ii) (5»)7" =54
(iii) 2203 () 70,97 =63°

To get these answers, you would have used the following laws of exponents, which you have
learnt in your earlier classes. (Here a, n and m are natural numbers. Remember, a is called the
base and m and n are the exponents.)

(I am.a"=am*" (i) @m"=am

(iii) 2 =" ".m>n (iv) amb™ = (ab)"
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2. (8ob Srrosn SrgEsosod.
(i) (3+\@)(2+ﬁ) (ii) (3+ﬁ) (3_@)
(iii) (V5 +2) (iv) (V5 —2)(¥5 +472)

3. 1ty Vw80l N wHIe a8 HF HBH(C)E O axHo (d) 8 Ko PG, s N = %

20 TR SEHCH Sogy o FPEH DBForT sob. & MHESH MHtd dor HBEKHOIH?

4, 93 % Dogrg B 2 drdotod.
5. oo @88haho BeHod.

L1 . 1
) 7 () 77
1 _ 1
(i) 5,/ (v) 75

1.5 5835 Bogge o) Hrarol chdmen:

& (808 B der SrgEBomrs® K Bende?

(i) 172.175= (ii) (52)7 =
230 . _
(iii) i (iv) 7*. 9=
808 DBore & dSgraren o Deoweoe?
(i)172.175= 17" (ii) (5% = 54
(i) & - 2w (iv) 7°. 93 = 63°

237

& BT Srotkerds, Sk & Bod SKde st 3633@:6&& (Bod Frr@ro8 ASTPOH SIRPACTTD.
(25 a, N B35 M en dres Hogyo ﬁ)@oiﬁﬁso&. ‘A Qg1 @0 M HB%H N el srarosren @
®OEPH.)

(i) am.an=am*" (ii) (@) =am

(iii) 2 =a" " m>n (iv) amb™ = (ab)"
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-n

What is (a)°? Yes, itis 1! So you have learnt that (a)° = 1. So, using (iii), we can get PO
We can now extend the laws to negative exponents too.

So, for example :

(iy 17%-17°=17" =# (i) &))" =5
(iii) - =237 V) M@ =63)°

Suppose we want to do the following computations:

() 25 .29 (ii) (ﬁ»j
(iif) = (iv) 13 -17°
73

How would we go about it? It turns out that we can extend the laws of exponents that we have
studied earlier, even when the base is a positive real number and the exponents are rational
numbers. (Later you will study that it can further to be extended when the exponents are real
numbers.) But before we state these laws, and to even make sense of these laws, we need to first
understand what, for example 43 Is. So, we have some work to do!

We define 1/a for a real number a > 0 as follows:

Let a > 0 be a real number and n a positive integer. Then /a3 = b, if b" = a and
b>0.

1

= 1
In the language of exponents, we define 1/a = a". So, in particular, 32 = 23. There are now

3
two ways to look at 42.
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Therefore, we have the following definition:
Let a > 0 be a real number. Let m and n be integers such that m and n have no common

factors other than 1, and n > 0. Then,
a; — (\n/a)m —_ /g™
We now have the following extended laws of exponents:
Let a >0 be a real number and p and g be rational numbers. Then, we have
(|) aP . a4 = grta (||) (ap)q = g
a’f
(i) )

You can now use these laws to answer the questions asked earlier.

=a""? (iv) a’bf = (ab)’

Example 20 - Simplify () 20.2° (i) (3?:}

1

1
(iv) 135 .175

(iii)

~ |\1
gl

Wl

Solution :

2 1 g+} 3 B 1 4 P
(i) PTRP PP (i) (35’} =3

7% [2_1] 3-5 2 101 1 1
(iii) —=7% ¥ =75 =75 (iv) 135 .175 = (13x17)% = 221°
75
EXERCISE 1.5
1 Find: () eaz (i) 320 (i) 125°
2. Find: (i) o (i) 322 (i) 166 (V) 125°

3. Simplify: (i) 2:.2¢ (i) (L) (i) £ (iv) 72.g
114
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1

& 20 | argeosos. (i) 2° - 2° (i) (SSJ

gl

(i) = (iv) 13° .175
75
FES

2 1 g+} 3 B 1 4 4
() 25-25=2[3 SJ=23=21=2 (i) (359 =3

1
1 1] 3-5 -2 1 1

5 11 3-5 =2 . 101 1 1
(iii) 7—1=7[5 ¥ =715 =715 (iv) 13° .175 = (13 x17)5 = 2215
75

ogrsdo 1.5
1 1 1
1. (1) 642  (il) 325 (1) 125° o Qendeo EHFK08.

2. (i) o0 (i) 32 (iii) 166 (iV) 125° © Devses EHAHE.
3. weggooson (i) 22 (i) (2] (i) B () 76
114
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1.6 Summary

In this chapter, you have studied the following points:

1.

Anumber ris called a rational number, if it can be written in the form g ,Where pand gare
integers and q = 0.
Anumber sis called a irrational number, if it cannot be written in the form g , Where p and

g are integers and g # 0.

The decimal expansion of a rational number is either terminating or non-terminating
recurring. Moreover, a number whose decimal expansion is terminating or non-terminating
recurring is rational.

The decimal expansion of an irrational number is non-terminating non-recurring. Moreover,
a number whose decimal expansion is non-terminating non-recurring is irrational.

All the rational and irrational numbers make up the collection of real numbers.

If r is rational and s is irrational, then r + sand r — s are irrational numbers, and rs and "
are irrational numbers, r = 0.

For positive real numbers a and b, the following identities hold:

(i) ab - asb (i) 2 -2

(i) (\/a+\/5)(\/7—\/6)=a—b (iv) (a+x/5)(a—x/5)=a2—b
V) (J5+JB)2 —a+2Jab +b

. we multiply this by M, where a and b are

Ja-b

To rationalise the denominator of —-
Ja +b
integers.

Let a> 0 beareal numberand p and g be rational numbers. Then

(|) aP.adl=grta (||) (ap)q = grd

(iii) Z_ _ap (iv) a’bP = (ab)?
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CHAPTER ZI

POLYNOMIALS
I

2.1 Introduction

You have studied algebraic expressions, their addition, subtraction, multiplication and division
in earlier classes. You also have studied how to factorise some algebraic expressions. You may

recall the algebraic identities :

(X +y)?=x*+2xy +y°

(X=y)P=x*—2xy +y?
and X2—y?=(x+y) (x-y)
and their use in factorisation. In this chapter, we shall start our study with a particular type of
algebraic expression, called polynomial, and the terminology related to it. We shall also study
the Remainder Theorem and Factor Theorem and their use in the factorisation of polynomials.

In addition to the above, we shall study some more algebraic identities and their use in
factorisation and in evaluating some given expressions.

2.2 Polynomials in One Variable
Let us begin by recalling that a variable is denoted by a symbol that can take any real value. We

use the letters x, vy, z, etc. to denote variables. Notice that 2x, 3x, — X, —%x are algebraic

expressions. All these expressions are of the form (a constant) x x. Now suppose we want to
write an expression which is (a constant) x (a variable) and we do not know what the constant is.
In such cases, we write the constant as a, b, c, etc. So the expression will be ax, say.

However, there is a difference between a letter denoting a constant and a letter denoting a
variable. The values of the constants remain the same throughout a particular situation, that is,
the values of the constants do not change in a given problem, but the value of a variable can keep
changing.
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Now, consider a square of side 3 units (see Fig. 2.1). What is its 3
perimeter? You know that the perimeter of a square is the sum of the
lengths of its four sides. Here, each side is 3 units. So, its perimeteris4 3 3
x 3, 1.e., 12 units. What will be the perimeter if each side of the square is
10 units? The perimeter is 4 x 10, i.e., 40 units. In case the length of each - 3 -
ig. 2.

side is x units (see Fig. 2.2), the perimeter is given by 4x units. So, as the
length of the side varies, the perimeter varies.

Can you find the area of the square PQRS? It is X x X = x? square units. ¢ X R
X2 is an algebraic expression. You are also familiar with other algebraic
expressions like 2x, x2 + 2x, x3 —x? + 4x + 7. Note that, all the algebraic  * X
expressions we have considered so far have only whole numbers as the
exponents of the variable. Expressions of this form are called polynomials P X Q
in one variable. In the examples above, the variable is x. For instance, x3 Fig.2.2

— X%+ 4x + 7 is a polynomial in x. Similarly, 3y? + 5y is a polynomial in
the variable y and t? + 4 is a polynomial in the variable t.

In the polynomial x2 + 2x, the expressions x? and 2x are called the terms of the polynomial.
Similarly, the polynomial 3y? + 5y + 7 has three terms, namely, 3y?, 5y and 7. Can you write the
terms of the polynomial —x® + 4x? + 7x — 2 ? This polynomial has 4 terms, namely, —x3, 4x?, 7x
and -2.

Each term of a polynomial has a coefficient. So, in —x® + 4x? + 7x — 2, the coefficient of x3
is—1, the coefficient of X2 is 4, the coefficient of x is 7 and -2 is the coefficient of x° (Remember,
X% = 1). Do you know the coefficient of x in x? —x + 7? It is —1.

2 is also a polynomial. In fact, 2, -5, 7, etc. are examples of constant polynomials. The
constant polynomial O is called the zero polynomial. This plays a very important role in the
collection of all polynomials, as you will see in the higher classes.

. . . 1
Now, consider algebraic expressions such as x + M Jx +3and ¥y + y*. Do you know that
you can write X + <" X + x71? Here, the exponent of the second term, i.e.,
xtis =1, which is not a whole number. So, this algebraic expression is not a polynomial.

. _ 1 1 o
Again, /x + 3 canbe written as x2 + 3. Here the exponent of x is > which is not a whole
number. So, is /x + 3 a polynomial? No, it is not. What about 3/y +y?? Itis also nota polynomial
(Why?).
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If the variable in a polynomial is x, we may denote the polynomial by p(x), or q(x), or
r(x), etc. So, for example, we may write :

p(x) =2x>+5x -3
q(x) = -1
ry)=y’+y+1
s(u)=2-u-u?+6u

A polynomial can have any (finite) number of terms. For instance, x**° + x4 + .,
+ x2 + x + 1 is a polynomial with 151 terms.

Consider the polynomials 2x, 2, 5x3, -5x?, y and u*. Do you see that each of these
polynomials has only one term? Polynomials having only one term are called monomials
(‘mono’ means ‘one’).

Now observe each of the following polynomials:
PO =x+1, X =x-x Y=y +l () =uE-w

How many terms are there in each of these? Each of these polynomials has only two
terms. Polynomials having only two terms are called binomials (‘bi’ means ‘two’).

Similarly, polynomials having only three terms are called trinomials
(“tri” means ‘three’). Some examples of trinomials are

p(X) = X+ X% + T, q(x) =2 + X=X

r(uy= u+u?-2, tly)=y*+y+5.

Now, look at the polynomial p(x) = 3x’” — 4x® + x + 9. What is the term with the highest
power of x ? It is 3x’. The exponent of x in this term is 7. Similarly, in the polynomial q(y) =
5y® — 4y? — 6, the term with the highest power of y is 5y° and the exponent of y in this term
is 6. We call the highest power of the variable in a polynomial as the degree of the polynomial.

So, the degree of the polynomial 3x” — 4x® + x + 9 is 7 and the degree of the polynomial 5y®
— 4y? — 6 is 6. The degree of a non-zero constant polynomial is zero.

Example 1 : Find the degree of each of the polynomials given below:
(i) X*=x*+3 (i) 2 —y?—y3 + 2y® (iii) 2
Solution : (i) The highest power of the variable is 5. So, the degree of the polynomial is 5.

(i1)The highest power of the variable is 8. So, the degree of the polynomial is 8.

(iii) The only term here is 2 which can be written as 2x°. So the exponent of x is 0. Therefore,
the degree of the polynomial is 0.
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Now observe the polynomials p(x) =4x + 5, q(y) =2y, r(t) =t + 2 and s(u) =3 - u. Do
you see anything common among all of them? The degree of each of these polynomials is one.
A polynomial of degree one is called a linear polynomial. Some more linear polynomials in
one variable are 2x -1, v/2y +1, 2—u. Now, try and find a linear polynomial in x with 3 terms?
You would not be able to find it because a linear polynomial in x can have at most two terms. So,
any linear polynomial in x will be of the form ax + b, where a and b are constants and a = 0
(why?). Similarly, ay + b is a linear polynomial in y.

Now consider the polynomials :

2
2X>+5, 5x?+ 3x + w, x?and x* + X

Do you agree that they are all of degree two? Apolynomial of degree two is called a quadratic
polynomial. Some examples of a quadratic polynomial are 5 — y?, 4y + 5y? and 6 —y — y2. Can
you write a quadratic polynomial in one variable with four different terms? You will find that a
quadratic polynomial in one variable will have at most 3 terms. If you list a few more quadratic
polynomials, you will find that any quadratic polynomial in x is of the form ax® + bx + ¢, where
a=0and a, b, c are constants. Similarly, quadratic polynomial in y will be of the form ay? + by
+ ¢, provided a # 0 and a, b, c are constants.

We call a polynomial of degree three a cubic polynomial. Some examples of a cubic
polynomial in x are 4x3, 2x3 + 1, 5x3 + X2, 6x3 — X, 6 — X3, 2x3 + 4x% + 6X + 7. How many terms
do you think a cubic polynomial in one variable can have? It can have at most 4 terms. These
may be written in the form ax® + bx? + c¢x + d, where a = 0 and a, b, ¢ and d are constants.

Now, that you have seen what a polynomial of degree 1, degree 2, or degree 3 looks like, can
you write down a polynomial in one variable of degree n for any natural number n? A polynomial
in one variable x of degree n is an expression of the form

n n-1
anx +an_1x +...+a1x+a0

wherea,, a,, a, ..., a areconstantsanda_=O0.

In particular, ifa,=a, =a,=a,=...=a_ =0 (all the constants are zero), we get the zero
polynomial, which is denoted by 0. What is the degree of the zero polynomial? The degree of
the zero polynomial is not defined.

So far we have dealt with polynomials in one variable only. We can also have polynomials in
more than one variable. For example, X + y? + xyz (where variables are X, y and z) is a polynomial
in three variables. Similarly p? + g*° + r (where the variables are p, g and r), u® + v2 (where the
variables are u and v) are polynomials in three and two variables, respectively. You will be
studying such polynomials in detail later.
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EXERCISE 2.1

1. Which of the following expressions are polynomials in one variable and which are not?
State reasons for your answer.
() H2—-3x+7(0i)y2+ 3 (i) si+tv2 (V) y+ 5
(V) XlO + y3 + t50
2. Write the coefficients of x2 in each of the following:
(i) 2+x2+x (ii))2-x2+x3 (iii) gx2+x (iv) V2x-1
3. Give one example each of a binomial of degree 35, and of a monomial of degree 100.
4. Write the degree of each of the following polynomials:

(i) 5% + 4x% + 7x (ii) 4 —y?
(iii) 5t — 47 (iv) 3
5. Classify the following as linear, quadratic and cubic polynomials:
(i) x*+x (i) x—x3 (ii)y+y?*+4  (iv) 1+x
(v) 3t (vi) r? (vii) 7x3

2.3 Zeroes of a Polynomial
Consider the polynomialp(x) =  5x3—2x2 + 3x — 2.
If we replace x by 1 everywhere in p(x), we get
p(1) =5x(1)°-2x (1)*+3 x (1) -2
=5-2+3-2
=4
So, we say that the value of p(x) at x = 1 is 4.
Similarly, p(0) =5(0)® - 2(0)? + 3(0) -2
=-2
Canyou find p(-1)?
Example 2 : Find the value of each of the following polynomials at the indicated value of
variables:
(i) p(x) =5x2-3x+7atx=1.
(ii) q(y) =3y* -4y + V11 aty = 2.
(iii) p(t) =4t* + 53 -t* + 6 at t = a.
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1. Bod B QD DS80S sFohen? A s2H? & JSrrrare sedsro BeHod.

(i) 4 —3x+7(i)y?+ 2 (iii) svi+t2 (V) y+ 5
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2. 8od A X2 iheaseerdy To00d.
() 2+x2+x (i)2-x2+x3 (i) gx2+x (iv) V2x-1
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5. (806 78R Bdab, £, 3 aosere $6560508.
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(v) 3t (vi) r? (vii) 7x3
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©oHHY X = 158 P(X) dend 4 ©H&0b.
@a3gore, p(0) =5(0)% - 2(0)? + 3(0) -2
=-2
508 P(—1) Densd EdfeSKew?
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(i) x=15g, (X)=5x*-3x+7
(i) y=2 g, q(y) =3y°* -4y + Ji1
(iii) t = a5, pt) = 4t* + 56— 2 + 6
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Solution : (i) p(x) =5x2 - 3x + 7
The value of the polynomial p(x) at x = 1 is given by

p(1) = 5(1)* - 3(1) +7

=5-3+7= 9

(ii) a(y) =3y’ -4y + J11
The value of the polynomial g(y) aty = 2 is given by

0(2) = 3(20°-4(2) + V11 =24—-8+ J11 =16 + V11
(iii) p(t) =4t*+5t3 -2+ 6
The value of the polynomial p(t) at t = a is given by

p(@a) =4a*+5a*-a’+6

Now, consider the polynomial p(x) = x - 1.
What is p(1)? Note that: p(1)=1-1=0.
As p(1) =0, we say that 1 is a zero of the polynomial p(x).
Similarly, you can check that 2 is a zero of g(x), where q(x) = x - 2.
In general, we say that a zero of a polynomial p(x) is a number ¢ such that p(c) =0.

You must have observed that the zero of the polynomial x— 1 is obtained by equating it to O,
i.e., x—1=0, which gives x = 1. We say p(x) = 0 is a polynomial equation and 1 is the root of
the polynomial equation p(x) = 0. So we say 1 is the zero of the polynomial x — 1, or a root of
the polynomial equation x—1=0.

Now, consider the constant polynomial 5. Can you tell what its zero is? It has no zero because
replacing x by any number in 5x° still gives us 5. In fact, a non-zero constant polynomial has
no zero. What about the zeroes of the zero polynomial? By convention, every real number is a
zero of the zero polynomial.

Example 3 : Check whether —2 and 2 are zeroes of the polynomial x + 2.
Solution : Let p(x) =x + 2.

Thenp(2)=2+2=4,p(-2) = -2+2=0

Therefore, -2 is a zero of the polynomial x + 2, but 2 is not.

Example 4 : Find a zero of the polynomial p(x) = 2x + 1.

Solution : Finding a zero of p(x), is the same as solving the equation

p(x) =0
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Now, 2x+1:Ogivesusx:—%
So, —% is a zero of the polynomial 2x + 1.

Now, if p(x) =ax + b, a=0, is a linear polynomial, how can we find a zero of p(x)? Example
4 may have given you some idea. Finding a zero of the polynomial p(x), amounts to solving the
polynomial equation p(x) = 0.
Now, p(x) = 0 means ax+b=0,a=0
So, ax=-b
. b
1.e., X=—-——.

a

b . . . .
So, x = 5 s the only zero of p(x), i.e., a linear polynomial has one and only one zero.
Now we can say that 1 is the zero of x — 1, and -2 is the zero of x + 2.

Example 5 : Verify whether 2 and 0 are zeroes of the polynomial x? — 2x.

Solution : Let p(x) = X% - 2x
Then p(2) =22-4=4-4=0
and p(0)=0-0=0

Hence, 2 and 0 are both zeroes of the polynomial x? — 2x.
Let us now list our observations:
(i) A zeroof apolynomial need not be 0.
(if) 0 may be a zero of a polynomial.
(iit) Every linear polynomial has one and only one zero.

(iv) A polynomial can have more than one zero.

EXERCISE 2.2
1. Find the value of the polynomial 5x — 4x> + 3 at
(i) x=0 (i)x=-1 (iii) x =2
2. Find p(0), p(1) and p(2) for each of the following polynomials:
() py)=y*-y+1 (i)pt)=2+t+2t -t
(iii) p(x) = x° (iv) p(x) = (x - 1) (x + 1)
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3. Verify whether the following are zeroes of the polynomial, indicated against them.

(i) pX) =3¢+ 1, x= -3 (i) p0) = 5x— 7, x= 2
@[ px)=x2-1, x=1,-1 V) px)=(x+1) (x-2), x=-1,2
(M) p(x) =x% x=0 (Vi) p(x) = Ix +m, x = _?
(Vi) p(x) =32 - 1, x = —%% (viii) p(x) = 2x + 1, x:%
4. Find the zero of the polynomial in each of the following cases:
(M px)=x+5 (i) p(x)=x-5 (i) p(x) =2x+5
(iv) p(x) =3x -2 (v) p(x) = 3x (vi) p(x) =ax,a=0

(vi)p(x) =cx +d, c# 0, c, d are real numbers.

2.4 Factorisation of Polynomials
Let us now look at the situation of Example 10 above more closely. It tells us that since the
remainder, q[—%j =0, (2t + 1) is a factor of q(t), i.e., q(t) = (2t + 1) g(t)
for some polynomial g(t). This is a particular case of the following theorem.
Factor Theorem : If p(x) is a polynomial of degree n > 1 and a is any real number, then
(1) x—a s a factor of p(x), if p(a) =0, and (ii) p(a) =0, if x — a is a factor of p(x).
Proof: By the Remainder Theorem, p(x)=(x — a) q(x) + p(a).
(1) If p(a) =0, then p(x) = (x — a) q(x), which shows that x — a is a factor of p(x).
(i1) Since x —a is a factor of p(x), p(x) = (x—a) g(x) for same polynomial g(x). In this case,
p(@) = (a-a)g(a)=0.
Example 6 : Examine whether x + 2 is a factor of x3 + 3x? + 5x + 6 and of 2x + 4.
Solution : The zero of x + 2 is-2. Let p(X)=x3+3x2+5x + 6 and s(x) =2x + 4
Then, P(=2) = (-2)° + 3(-2)? + 5(-2) + 6
=-8+12-10+6
=0

So, by the Factor Theorem, x + 2 is a factor of x3 + 3x? + 5x + 6.
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3. (0B avHeH BT B Denden T8 ErTHTTRT SOBPEOE.

(i) p(x) =3x+1, x:—é (i) p(x) =5x -, X=§
(i) px) =x*-1, x=1,-1 (iv) p(x) = (x + 1) (x=2), x=—-1, 2
(V) p(x) =x% x =0 (Vi) p(x) = Ix+m, x = ‘Tm

(vii) p(x) =32 -1, x = —%, % (viii) p(x) = 2x + 1, x = %

4. 8od a0nte Erdy evden 858508,
(M p(x)=x+5 (i) p(x)=x-5 (i) p(x) =2x+5
(V) p(x) =3x-2 (V) p(x) = 3x (vi) p(x) =ax,a=0

(vii) p(x) =cx+d,c#0, ¢, d e» oeg5d0gge.

2.4 50500 BP0 NP

2 emdede 10 &° Ho $okon)R) w8Sore H88Dmro. 8, 30 q[—%j =0 oHer S (2t +1) o368
g(t) & se8erosoydos. e q(t) = (2t + 1) g(t), g(t) o368 o8 wonn. 36 Bod drros=d &8
@%é NIelate)CH
o608 ?owsoéﬁo L 3500 HOFrwo N> 1 e Ko 255056 P(X) Lo a B FeRHSoRyg
oS (i) p(a) = 0 @ons (X — ) @38 P(X)& sederodo eHHHod. HBcs» (i) (X — a) &6
P(X) & se8eroBo wond p(a) = 0 @HBob.
QEFSe 3% drpodo @Hseso P(X)=(x —a) q(x) + p(a)
(1) p(a) =0 oo Sosties® p(X) = (X —a) q(x) &I 28 P(X)E X —a a8 s*Beroo ©HH0b.
(ii) s@dFore X —a w30 P(X) & s*8eroso 5795 P(X) = (X — @) g(X) S&xoH&0s. g(X) @36
a8 as0dhs. . p(a) =(a—a)g(a) =0.

STPSP8es 6 1 X + 2 030 X3+ 3X2 + 5X + 6 805 2X + 4 0% se8erodo eHEome?
PED X+ 2 @), ey Dend =2 . P(X) = X3+ 3x% + 5X + 6 £8co S(X) = 2X + 4 0%k,
p(-2) =(-2)% + 3(-2)* + 5(-2) + 6
=-8+12-10+6
P, =0
505K, se8er08 ?ocrgoééo 580 8D a505e X° + 3X2 + 5X + 65 X + 2 sederoBo whdob.
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Again, s(-2) =2(-2)+4=0

So, x + 2 is a factor of 2x + 4. In fact, you can check this without applying the Factor Theorem,
since 2x + 4 = 2(x + 2).

Example 7 : Find the value of k, if x — 1 is a factor of 4x® + 3x? — 4x + k.

Solution : As x — 1 is a factor of p(x) =4x®+ 3x>—4x +k, p(1) =0

Now, p(1) =4(1)® + 3(1)>-4(1) + k
So, 4+3-4+k= 0
i.e., k= -3

We will now use the Factor Theorem to factorise some polynomials of degree 2 and 3. You are
already familiar with the factorisation of a quadratic polynomial like
X2 + Ix + m. You had factorised it by splitting the middle term Ix as ax + bx so that
ab=m. Thenx?+Ix+m=(x +a) (x + b). We shall now try to factorise quadratic polynomials
of the type ax? + bx + ¢, where a= 0 and a, b, ¢ are constants.

Factorisation of the polynomial ax? + bx + ¢ by splitting the middle term is as follows:

2

Let its factors be (px + g) and (rx +s). Then 3% = 3x = first term of quotient

ax?+bx+c=(px+q) (rx+s)=prx*+(ps+qr)x+gs
Comparing the coefficients of x?, we get a = pr.
Similarly, comparing the coefficients of x, we get b = ps + gr.
And, on comparing the constant terms, we get c = Qs.

This shows us that b is the sum of two numbers ps and gr, whose product is
(ps)(qr) = (pr)(as) = ac.

Therefore, to factorise ax? + bx + ¢, we have to write b as the sum of two numbers whose
product is ac. This will be clear from Example 13.

Example 8 : Factorise 6x? + 17x + 5 by splitting the middle term, and by using the Factor
Theorem.

Solution 1 : (By splitting method) : If we can find two numbers p and q such that
p+q=17 and pg==6x5=30,then we can get the factors.

So, let us look for the pairs of factors of 30. Some are 1 and 30, 2 and 15, 3and 10, 5 and 6. Of
these pairs, 2 and 15 will giveus p + q =17.
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S8, s(-2) = 2(=2) +4=0

oo (X +2) 036 2X + 4 % =28ero8o @508, dohEos 2X +4 = 2(X + 2) eHHod. & (Hsedo
Se8eos drodo BOFHOBHoEES X + 2 528080 @ BHHE).

Smededes 7 1 4X% + 33X — 4X + K o 2550568 (X — 1) 578088 K Dend 858508,

PSS T (X—1) 38 p(xX) = 4x3 + 3x2 — 4X + K 2250068 se8eodo, p(1) =0

SRPED, p(1) = 4(1)° + 3(1)* - 4(1) +k
528, 4+3-4+k=0
3., k=-3

2K seBEEr08 ?otrgoéo 00800 HOBITE0 2 BN 3 e TVNHL BT oL 3)(‘5?‘?"%26:133{}
X2+ IX + mSod SLeT0HROR SPEar0E Ve V5o H3B BOVS RCHD. wond DS IX
B ax + bx o8 Bok dwre Boowdr VA, ah = M odyty se8mrod Jgfed Vo, wPP
X+ Ix+m= (x+a) (X +Db) adpo ax’ + bX + C o3 IY 50500 se8eros e Tapo. s
a#0605m a, b, Cen Joroseen.

DGR VgFRoWEO To° TVDHE ax’+bx+c D) s°8e08 Dgiassd (Bob DFore &oenod.
& S8 250068 (PX + () L8k (IX + 8) 93D sP8erosPer wEoTRo.
Hd axt+bx+c=(px+q) (rx+s)=prx>+ (ps+qr) x+ Qs

X2 heasreky Sy B8 a=pr
BBQBore, X Heaseerdd DBy, Hod b=ps+qr
28 dere Sy C = (S ©d Hromw.

B $08 H3E Meso h ©Ib Ps Hdd» (r o Iwgo ©d Ssy08. VB ©xo
(ps)(ar) = (pr)(as) = ac & TeeHXwD).

822 28 ax?+bx+c $BToDH0 S0l DeFesd St b 938 Bot Sogge Iwdo o, & oo ac
©d Bendyod. B8d BHard 3T errirden 186° Bendyob.

&mesdes 8 1 6X2 + 17X + 5% ogigdso Db sederod drpodo (HsPdo SEErosTenrT QEHHoE.

PED 1k (oo Desbasned Toe) 1 P,Jen @3 Bodiboggen $rBaso P+ = 17 %r6asn pg =6
x 5 = 30 se8esroseos Seothzro.

30 ogorr T°EhKdR sP8roste edel $84037 (1,30) , (2,15), (3,10) (5 ,6) #ses® (2,15) ag
p+q=175 &2 Hokyob.
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So,6x2+17x+5= 6x*+ (2+ 15)x+5
=6x2+2x+15x+5
= 2x(3x + 1) + 5(3x + 1)
=@3x+1)(2x+5)
Solution 2 : (Using the Factor Theorem)
6x2+17x +5= 6[x2 + %x + gj =6 p(x), say. If a and b are the zeroes of p(x), then
6x2+17x +5=6(x—a) (x—b). So, ab = % Let us look at some possibilities for a and b.

They could be ii,il,iiiiil.Now, p[1j=l+£[1j+§ # 0. But
2 373 2 2) 4 6\2) 6

3 3
factor of p(x).

_ 1
p[—lj =0. So, [X + —j is a factor of p(x). Similarly, by trial, you can find that [x + gj isa

Therefore, 6x>+ 17x +5 = 6[x + %j [x + gj

(2259

(Bx+1) (2x +5)

For the example above, the use of the splitting method appears more efficient. However, let us
consider another example.
Example 9 : Factorise y> — 5y + 6 by using the Factor Theorem.

Solution : Let p(y) =y?—5y + 6. Now, if p(y) = (y—a) (y — b), you know that the constant term
will be ab. So, ab = 6. So, to look for the factors of p(y), we look at the factors of 6.

The factors of 6 are 1, 2 and 3.
Now, p(2)=22-(5%x2)+6=0

So, y-2isa factor of p(y).
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2HS 6X2+ 17x+5 =6x2+ (2+15)x +5
= 6X*+2x+15x +5
= 2xX(3x + 1) + 5(3x + 1)
= (Bx+1)(2x +5)

PES 2 (s°eos Rrpodo (Heedo)

6x2+ 17x+5= 6[x2 + %x + gj = 6 p(X) 080, 283% a, b eo P(X) By oy Dewden

wond 6X° + 17X +5=6(x - a) (x—b). s ab = % a, b 0% Jggocdhy B HodYose,

=, £ 1P Goéran. P p[lj %+%[%] >

®d +=,+>,+ +E¢O.saa)

r\>I|—\
wll—\
wlo

g

2’
p[ j 0, 59, [ j 036 P(X) & oo wHE0s. sBdEomm [x N gj Ko
eSS B08,
woBos, Bx2+ 17 +5 = 6[x+%j [x%}

(229

(Bx+1) (2x +5)

R emrdrdno of Do LD DES JHI0 © Ty, B8 eTeedes ruro.
&t 91 Y2 — by + 6 & =o8eros drpodo (580 Se8Eros Defesd B0%08.

PSS p(y) =y? =5y +6. 55 ply) = (Y —2a) (Y — b) @0%08 ab =6 orb. p(y)s sederoseen
LS Eos® 6% seeoseen Sego.

6 se8gsroseen 1,2,3 o8 6.
sy P2) =22~ (5%x2) +6=0

5298 (Y —2) @36 p(y) & s8erodo ©Hsod.
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Also, p(3)=32-(5%x3)+6=0
So, y-3isalso a factor of y? — 5y + 6.
Therefore, y>-5y+6=(y-2)(y-23)
Note that y? — 5y + 6 can also be factorised by splitting the middle term -5y.
Now, let us consider factorising cubic polynomials. Here, the splitting method will not be
appropriate to start with. We need to find at least one factor first, as you will see in the following
example.
Example 10 : Factorise x3 — 23x? + 142x — 120.
Solution : Let p(x) = X3 —23x% + 142x — 120
We shall now look for all the factors of =120. Some of these are +1, +2, £3,
+4, £5,£6, £8, £10, £12, £15, £20, +24, £30, +60.
By trial, we find that p(1) =0. So x — 1 is a factor of p(x).
Now we see that x3 — 23x? + 142x — 120 = x3 — x? — 22x? + 22x + 120x — 120
=x*(x -1) = 22x(x - 1) + 120(x - 1) (Why?)
=(x—-1) (x*-22x + 120) [Taking (x—1) common]
We could have also got this by dividing p(x) by x — 1.

Now x2—22x + 120 can be factorised either by splitting the middle term or by using the Factor
theorem. By splitting the middle term, we have:

X2 —22x + 120 = x> - 12x — 10x + 120
= X(x = 12) - 10(x — 12)
= (x-12) (x - 10)

So, X3 —23x%—142x - 120 = (x — 1)(x — 10)(x — 12)
EXERCISE 2.3
1. Determine which of the following polynomials has (x + 1) a factor :
(i) ¥+x2+x+1 (i) x*+x3+x2+x+1
(i) x*+ 33+ 3x2+x+1 (iv) X = X2 — (2+2)x+ 2

2. Use the Factor Theorem to determine whether g(x) is a factor of p(x) in each of the
following cases:

M px)=2x+x2-2x-1,9g(x)=x+1
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sostoe 71
oon, pPB)=32-(5x3)+6=0

=95 (Y — 3) 036 Erme Y2 — by + 6 % sEroso ©bHdob.

®otHded, Y2 -5y +6=(y-2)(y-3)

o550 —BYR DgfRosEo axoe Erwe Y2 — By + 6 Eree 8ol Defesd DAHDIER Kool

Y2 =5y + 6 & S5 Do DBy DEbHE wTe S°BEros e eBRoB WIB HI0 KHYoHE .
BRPED, 30V 2TVDNDHOD segroseerr DPLBoher 11°8) BenoBrowro. BE)E, EgHTe) QEBD o“atg@
©EPODIO oD, SnotHre eSS sederodo ST, B ([8od GTrsedene® Srtos.

arsdes 10 1 X3 —23x? + 142X — 120 %> sedegeoseente De5B0508.
PSS p(x) =x3 - 23x2 + 142X — 120 98508,

~120 Go¥) s*8esrosten @oBR HOBOY ) 1,2, £3, #4, £5, +6, 8, £10, 12, +15, +20,
+24, +30, +60.

588 Hoveyd, P(l) =0 oH&H0s. 9% (X — 1) &8 p(X) & SeronHBos.
spee X2 — 23x2 + 142x — 120 = x® — x? = 22x* + 22x + 120x — 120
=x(x-1) = 22x(x = 1) + 120(x = 1) (don?)
=(x=1) (x*=22x + 120) (X — 1 esdiplre &o%ooee)
oo P(X) D X — 13 grRodSYPs Srme HA SPosSsH). X2 — 22X + 120.

BPeo X2 — 22X + 120 £ S5m0 Desbadhiso mewe el Soe sederosee RETOB0 TRT® SBeaoseenrT
DEIBOBHLY).
X2 —22x + 120 = x2 - 12x — 10x + 120
= X(x = 12) - 10(x — 12)
= (x-12) (x - 10)
98, X3—-23x2-142x - 120 = (x - 1)(x - 10)(x — 12)
oo 2.3
1. (8ob asodmed (X + 1) esmrossins® 86° dxbotos?
(i) x¥+x2+x+1 (i) x*+x3+x2+x+1
(i) x*+ 33+ 3x2+x +1 (iv) X = X% — (2+V2)x ++2
2. =80l drrodo edd@rhod (Bod 250BHHeS” (HS Borsgos®ir P(X) & g(X) s2EerosHns®
88° BoHod.
M px)=2x+x2-2x-1,9gx)=x+1
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(i) p(x)=x3+3x*+3x+1,g(x)=x+2
(i) p(x) =x®—4x*+x+6,g(x) =x-3
3. Findthe value of k, if x — 1 is a factor of p(x) in each of the following cases:

(M) px)=x2+x+k (i) p(X) =2 + kx + /2
(i) p(x) =kx? - fox +1 (iv) p(x) = kx? = 3x + k
4. Factorise :
(i) 12x2-7x + 1 (ii) 2x2+ 7x + 3
(iii) 6x2 + 5x — 6 (iv) 3x>—x -4
5. Factorise :
(i) =22 =x+2 (i) x*-=3x2-9x -5

(iii) x3 + 13x2+ 32x + 20 (iv) 2y +y> -2y -1

2.5 Algebraic Identities

From your earlier classes, you may recall that an algebraic identity is an algebraic equation that
is true for all values of the variables occurring in it. You have studied the following algebraic
identities in earlier classes:

Identity I : (X +Yy)?2=x2+ 2xy +y?

Identity 11 @ (X —y)? = x% = 2xy + y?

Identity I1: x2—y2= (X +Yy) (X=Y)

Identity IV: (x+a) (x+b)=x*+(a+b)x+ab

You must have also used some of these algebraic identities to factorise the algebraic
expressions. You can also see their utility in computations.

Example 11 : Find the following products using appropriate identities:
(i) (x +3) (x +3) (ii) (x-3) (x +5)
Solution : (i) Here we can use Identity 1 : (x +y)? =x? + 2xy + y2 Puttingy = 3 in it, we get
(X +3) (x +3) = (x +3)*=x* + 2(x)(3) + (3)
=X +6x+9
(ii) Using Identity 1V above, i.e., (x +a) (x + b) =x* + (a + b)x + ab, we have
(x=3) (x +5) = x* + (=3 + 5)x + (-3)(5)
=x2+2x-15
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(i) p(x)=x3+3x*+3x+1,g(x)=x+2
(i) p(x) =x¥—4x*+x+6,g(x) =x-3
3. (8ob a5Hted®, (H8 Sorgos®Er P(X) & X — 1 528ero8R8 K Dend SHASE.
(M) px)=x2+x+k (il) p(x) =2x* + kx + /2
@iy p(x) = kx2 = fox+1 (iv) p(x) = kx? = 3x + k

4, =o8ezeosrente QFBoSod.

(i) 12x2-7x + 1 (i) 2x* + 7x + 3
(iii) 6x2 + 5x — 6 (iv) 3x2—x -4

5. se8esrosrente QgiRoSod.
(i) =22 =x+2 (i) x*=3x2-9x -5

(iii) x3 + 13x2+ 32x + 20 (iv) 2y +y> -2y -1

2.5 Destfed DS o8Seren

2.8 Desiedes 5808808 o $ET°HeBH & Devden HAFHOVLKT dgaer DA TR HEFWEGE0
0ERER MHBE @iﬁaz:)gso&. D& (Bod SBKHS & (8od Dexrieds éé&éﬁbéémw 36@&5&6}.

SEingsemo | (X + )2 = X2+ 2xy + Y2
Sinssmo I 1 (X—y)2 = X2 — 2xy + Y2
S8gseo T 1 x2—y2= (X +Y) (X-Y)

S8igseo IV 1 (x+a) (X+b)=x*+(a+hb)x+ab
DEadh $ErFrod SBErod Jeed Dowd $ERESme eS@ErisETro. ambod )
GIPseSeeeD é@%@crgo.
&mrsden 111 (Bod a8 DERWDBEEETR GHRPACD oared S0l
() (x +3) (x +3) (ii) (x—3) (x +5)
TS 1 (1) myo, D88Bea0 | (X +Y)? = X2+ 2XY + Y2 e53@rARro. 20&E® Y = 3 8508
(x+3) (x +3) = (x +3)*=x*+ 2(x)(3) + (3)*
=X +6x+9
(ii) a5Hes $8RD8Be0 1V O a3@rhod (X +a) (X +b) =x*+ (a+ b)x + ab d ed&»AR
adHd (X=3) (x+5)=x2+ (-3+5)x + (=3)(5)
=x2+2x-15
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Example 12 : Evaluate 105 x 106 without multiplying directly.

Solution : 105 x 106 = (100 + 5) x (100 + 6)
= (100)? + (5 + 6) (100) + (5 x 6), using Identity 1V
= 10000 + 1100 + 30
= 11130

You have seen some uses of the identities listed above in finding the product of some given
expressions. These identities are useful in factorisation of algebraic expressions also, as you
can see in the following examples.
Example 13 : Factorise:

(i) 49a + 70ab + 25b? (i) 2 - y?
Solution : (i) Here you can see that

49a? = (7a)?, 25b% = (5b)?, 70ab = 2(7a) (5b)
Comparing the given expression with x2 + 2xy + y?, we observe that x = 7a and y = 5b.
Using Identity I, we get
49a? + 70ab + 25b? = (7a + 5b)? = (7a + 5b) (7a + 5b)

2 2 2
(ii) We have By _y_z(ng _(l)
4 9 (2 3

Now comparing it with Identity 111, we get

2 2 2
B Y _ (5. _(¥
4 9 2 3

5 B y

= 254 Y[ 2x Y
So far, all our identities involved prmguzcts o%linzomia?s. Let us now extend the Identity I to a
trinomial x +y +z. We shall compute (x +y + z)? by using Identity |.
Letx +y =t. Then,
(x+y+2)*=(t+2)°
=2+ 2tz + t? (Using Identity 1)
=(X+Yy)2?+2(x+y)z+ 22 (Substituting the value of t)
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&t 12 1 Hesedo Sohdoncs 105 x 106 cﬁwégy e:a:;éb& BRS04,

F5 105 x 106 = (100 + 5) x (100 + 6)
= (100)? + (5 + 6) (100) + (5 x 6), (¥BssdoEmo IV 65BrROD)
= 10000 + 1100 + 30
= 11130

BOBBBEP %0 TED BEFDLESeen B OEPOD Ehoirdoens® DPadTon. By Bod &oerSed®
DEaH oty B0l JFwS BAHEIS éé{gﬁﬁbééme:& SIBTRA0UHE). A o (Bod
STPSos® K0 WD),

&tesden 13 [ & (8o sederosrenrr DgfloPod.
(i) 49a + 70ab + 25b? (i) 2 - y?
PSS (1) a8
49a? = (7a)?, 25h% = (5b)?, 70ab = 2(7a) (5b)
&2 X2+ 2xy + Y2 & ey X = 7a 500050 Y = 5b e0:@0b.
ééogéﬁbééaao | B0
49a? + 70ab + 25b? = (7a + 5b)? = (7a + 5b) (7a + 5b)

2 2 2
o et
4 9 2 3
822 éé{s‘é@)ééeao I & Dbeyyre

2 2 2
Bty
4 9 2 3
IR
2 3/\2 3

BB o FES ‘éé{gﬁﬁbééme@&dﬁwﬁ Brgdedoe @asge)é) 002005003, AP Hdo InEE
BBR0DECETR) GHTPAOD, (BHH X + Y +Z &) $Bo, (X +Y +2)* D Kedaro.
X +y=teond
(+y+27 = (t+2)
=2+ 2tz + 2 (B BB ESe0)
= (X +y)?+2(x +y)z + z2 (t Qe (H&ZHoB™)
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=x2+2xy+y?2+2xz+2yz+ 272 (Using Identity I)

= X2+ y? + 22 + 2xy + 2yz + 2zx(Rearranging the terms)
So, we get the following identity:
Identity V : (X +y +2)2= X2+ y2 + 22 + 2Xy + 2yz + 27X

Remark : We call the right hand side expression the expanded form of the left hand side
expression. Note that the expansion of (x +y + z)? consists of three square terms and three
product terms.

Example 14 : Write (3a + 4b + 5¢)? in expanded form.
Solution : Comparing the given expression with (x +y + z)2, we find that
x=3a,y=4band z=>5c.
Therefore, using Identity V, we have
(3a +4b + 5¢)? = (3a)? + (4b)? + (5¢)* + 2(3a)(4b) + 2(4b)(5¢) + 2(5¢)(3a)
= 9a? + 16b? + 25¢% + 24ab + 40bc + 30ac
Example 15 : Expand (4a — 2b — 3¢)2.
Solution : Using Identity V, we have
(4a—2b - 3c)? = [4a + (-2b) + (-3¢)]?
= (4a)* + (-2b)> + (=3c)? + 2(4a)(-2b) + 2(-2b)(-3c) + 2(-3c)(4a)
= 16a® + 4b? + 9¢® — 16ab + 12bc — 24ac
Example 16 : Factorise 4x? + y2 + 72 — 4xy — 2yz + 4xz.
Solution : We have 4x2 + y2 + 22 — 4xy — 2yz + 4xz = (2X)? + (=y)? + (2)? + 2(2X)(-Y)
+ 2(=y)(2) + 2(2x)(2)
= [2x+ (=y) +z]*  (Using Identity V)
= (2x-y+2?=(2x-y+2)(2x-y + 2)

So far, we have dealt with identities involving second degree terms. Now let us extend Identity
| to compute (x + y)3. We have:

(x+y) = (x+y) (x+y)*

(X +y)(x* + 2xy + %)

X(X* + 2xy + y?) + y(x* + 2xy + )
X3+ 2x%y + Xy? + X3y + 2xy? + y3
X3 + 3x%y + 3xy? + y?

=X+ Y+ 3xy(x +y)
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=X2H2XY + Y2+ 2XZ + 2y7 + 72 ($83088e0 10 eh@rhoD)

=XPH Y2+ 22+ 2XY + 2y7 + 22X (Sore (B0 S8y Toohre)
B, DEREESE0 B TAHDHND).
B8eanEseo V 1 (X +y +2)2 = X2 +y2 + 22+ 2Xy + 2yz + 22X
DH58e0: HEBDH &) BLPPR), AEHIDP ) Vo o) VJBes Erekorr By (X +Y +2)? 08
Q0 HY Heeedd LBk Kot 08 Jored EOA &otnoh.

swrsdes 14 1 (3a+4b + 5¢)? % 988 &rdhos® ooahod.
FES L e SLekod (X +Y +2)? 8 ey 3%
X =3a, Yy =4b, z = 5¢C $Jrox.
éé&égbéésao V (Ss°50
(3a + 4b + 5¢)? = (3a)® + (4b)? + (5¢)? + 2(3a)(4b) + 2(4b)(5c) + 2(5¢)(3a)
= 9a% + 16b? + 25¢? + 24ab + 40bc + 30ac
&wrsedeal5: (4a—2b —3¢)? o DBoBod.
PHS ééogég))ééeao V ($H=e80,
(4a—2b—3c)? = [4a + (-2b) + (-3¢)]?
= (4a)® + (-2b)? + (=3c)? + 2(4a)(-2b) + 2(-2b)(-3c) + 2(-3c)(4a)
= 16a* + 4b? + 9¢? — 16ab + 12bc — 24ac
S8 16 [ AX2 + Y2 + 22 — 4XY — 2y7 + 4XZ S seSesroseentr Dg5Rosod.
FED L AXP + Y2 + 722 — AXy — 2yz + 4xz = (2X)% + (=Y)? + (2)? + 2(2X)(-Y)
+2(=y)(2) + 2(2x)(2)
= [2x + (-y) + 2]? (3850880 VR ¢ddrhod)
= (2x-y+2)?=(2x-y+27)(2x-Yy +2)
080 HOBHEE BoKd HOKwes Hrresd Bl o) ééséﬁ)aééwwé) Iyowro. BP do
$8508088e00 10 DAGEA0Y (X +Y)® D8es Tapo. Ho5&
(X+Yy) = (x+y) (X +Yy)
= (x+y)(x* + 2xy +y?)
= X(X* + 2xy +y%) + y(x* + 2xy + y?)
= X3+ 2X%y + Xy? + X%y + 2xy? + y3
= X3+ 3x%y + 3xy? + y3
=X+ Y+ 3xy(x +y)
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So, we get the following identity:
Identity VI : (X +y) =x3+y3+3xy (X+Y)
Also, by replacing y by -y in the Identity VI, we get
Identity VI :(x —y)® = x3—y3 = 3xy(X —Y)
= x3— 3x?%y + 3xy?-y?
Example 17 : Write the following cubes in the expanded form:

(i) (3a + 4b)® (ii) (5p - 30)°
Solution : (i) Comparing the given expression with (x + y)3, we find that
X = 3aandy =4b.

So, using Identity VI, we have:
(3a + 4b)® = (3a)® + (4b)® + 3(3a)(4b)(3a + 4b)
= 27a° + 64b* + 108a%b + 144ab?
(if) Comparing the given expression with (x —y)?, we find that
X =5p, y=3q.
So, using Identity VII, we have:
(5p - 30)* = (5p)° - (3a)* - 3(5p)(3a)(5p — 30)
= 125p® - 2703 — 225p?q + 135pQ?
Example 18 : Evaluate each of the following using suitable identities:
(i) (104)3 (i) (999)3
Solution : (i) We have
(104)® = (100 + 4)®
= (100) + (4)® + 3(100)(4)(100 + 4)
(Using Identity V1)
= 1000000 + 64 + 124800
= 1124864
(i1) We have
(999)® = (1000 - 1)®
= (1000)3 - (1)® — 3(1000)(1)(1000 - 1)
(Using Identity VII)
= 1000000000 — 1 — 2997000
= 997002999
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PN, 0J0 &8 éé&é@aééww [E° T°ODHKY).
B8eanEseo VI (X +Y)° = X3 +y3 +3xy (X +Y)
BB88Be0 VI y@;zéoesﬁ —YKo oS Hk0 (Bobd $BWHEBE0 BrorHEeo.
B8eanEseo VI (x—y) = x3—y3 - 3xy(X - Y)
= x3— 3x?%y + 3xy?-y?
& 17 1 (Bod $oarod dKBoSod.
(i) (3a + 4b)® (ii) (5p - 3a)°
P51 (i) 2D D8RR (X +Y)3 & ey, Hi5
X = 32 %0050 Y = 4b eki.
5P, ééogég))ééeao VI %Kxfbbﬂ?s_on
(3a + 4b)® = (3a)® + (4b)® + 3(3a)(4b)(3a + 4b)
= 27a° + 64b° + 108a%b + 144ab?
(i) 2y SRy (X — Y)?8® Deyre, L3%
X =5p, y=30.
SO éé&‘égbéés’ao VII (%K)(fbﬁﬂ?s_oo
(5p - 309)° = (5p)° - (30)° - 3(5p)(30)(5p - 30)
= 125p3 - 27¢° - 225p*q + 135pQ?
&mrsdes 18 1 (8od PR SRS JERDLESEro SO@BrA0D KBoBod.
(i) (104)3 (i) (999)3
SRS () (104)% = (100 + 4)3
= (100)® + (4)° + 3(100)(4)(100 + 4)
(8080 VI ¢5@3mA0D)
= 1000000 + 64 + 124800
= 1124864
(i) (999)% = (1000 - 1)
= (1000)® - (1)® - 3(1000)(1)(1000 - 1)
(80880 VIR e@3rAo)

= 1000000000 - 1 — 2997000
= 997002999
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Example 19 : Factorise 8x3 + 27y2 + 36x%y + 54xy?
Solution : The given expression can be written as
(2x)° + (3y)* + 3(4x*)(3y) + 3(2x)(%y?)
= (2x)° + (3y)* + 3(2x)*(3y) + 3(2x)(3y)*
= (2x + 3y)®*  (Using Identity VI)
= (2x + 3y)(2x + 3y)(2x + 3y)
Now consider (X +y + z)(X? + y?+ 22 — Xy — yz — zX)
On expanding, we get the product as
X(X2+y2+ 22— Xy —yz —2X) + (X2 + y2 + 22 — Xy — yz — 2X)
+2Z(X2+ Y2+ 22— Xy — Yz — 2X) = X3 + Xy? + X22 — X%y — Xyz — 2x* + X%y
+ Y3+ Y72 — Xy? — Y22 — XyZ + X°Z + y?Z + 23 — Xyz — Y72 — X2?
=x3+y3+ 73— 3xyz (On simplification)
So, we obtain the following identity:
Identity VI :x3+y3 +22-3xyz=(X +y +2)(X? + y? + 22 = Xy — yZ — ZX)
Example 20 : Factorise : 8x® + y3 + 2723 — 18xyz
Solution : Here, we have
8x3 + y® + 272% — 18xyz
= (2x)° +y® + (32)° - 3(2x)(y)(32)
= (2x+y + 37)[(2x)* + y* + (32)* = (2)(y) - (¥)(32) - (2x)(32)]
= (2x +y + 32) (4x® + y? + 9722 — 2xy — 3yz — 6X2)

EXERCISE 2.4
1. Use suitable identities to find the following products:

(i) (x+4) (x+10) (i) (x + 8) (x — 10)(iii) (3x + 4) (3x - 5)

V) (P2 0P-2) ME-20) (3 +29)
2. Evaluate the following products without multiplying directly:
(i) 103 x 107 (i1) 95 x 96 (iii) 104 x 96

3. Factorise the following using appropriate identities:

2

(i) 9% + 6xy +y? (i) 4y2 =4y + 1 (iii) -
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&eddes 19 1 8x3 + 27y3 + 36X%y + 54Xy? % sederomrenre QgLoSod.
PED T B JBrR) & (Bod DFore Toahr
= (2x)° + (3y)° + 3(4x*)(3y) + 3(2x)(9y?)
= (2¢)° + (3y)° + 3(2x)*(3y) + 3(2x)(3y)?
= (2x + 3y)® (2500880 VI 65@eA0D)
= (2x + 3y)(2x + 3y)(2x + 3y)
a9 (X +Y +2)(X%+y?+ 22— Xy — yz — 2X) &:%8%08.
[ DJ3BoBe, K Bod oa};@& PoHsro.
X(X2+ Y2+ 22 =Xy —yz —2X) + Y(X* + y* + 2> — Xy — yZ — ZX)
+2Z(X2+ Y2+ 22— Xy — Yz — 2X) = X3 + Xy? + X22 — X%y — Xyz — 2x* + X%y
+ Y3+ Y22 — XY? = Y22 - XyZ + X2 + Y’z + 7 — Xyz — y7* — X2*
= X3 +y® + 23 - Bxyz (S§g605rr)
D, &8 (Bod éé&éﬁbééwo:ﬁa PoHseo.
éégéﬁ)aééeao VI x3+y3+22-3xyz=(X+y +2)(X? +y? + 22 = Xy — yz — ZX)
amesdes 20 1 8x3 + Y3 + 2773 — 18Xyz & sedesroseente QifBokod.
PED T ad@es 9ko
8x3 + y® + 272% — 18xyz
= (2x)° + y° + (32)° - 3(2x)(y)(32)
= (2x +y + 37)[(2x)* + y* + (32)* - (2x)(y) — (¥)(32) - (2x)(32)]
= (2x +y + 32) (4x* + y? + 922 — 2xy — 3yz — 6X2)

g5 2.4

1. &od oaped SRS DBRBEBETeR GHIAPA0D KBoBos.
() (x+4) (x+10) (i) (x +8) (x=10) (i) (3x+4) (3x-5)

V) P +2)0P-2) M B-290@E+2)
2. Koo BoHE0ES (Bod SENGIEE A
(i) 103 x 107 (i) 95 x 96 (iii) 104 x 96
3. ¥B8 $8RMBBeoH SDBrA0N Bobd AN SPBErosPeT DEFRoSod.

2

(i) 9%+ 6xy +y? (i) 4y2 =4y + 1 (iii) -
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4. Expand each of the following, using suitable identities:

() (x +2y +42)? (i) 2x -y + 2)? (i)  (-2x + 3y + 22)?
(iv) (32— Th —¢)? V) (<2x + By =32 (vi) Ea Lo 1}2
5. Factorise:

(i) 4x® + 9y? + 1622 + 12xy — 24yz — 16xz
(i) 2x2+ y? + 822 — 2\2 Xy + 42yz — 8xz
6. Write the following cubes in expanded form:
() @x+ 17 (i) (2a—3b)® (i) BHlT (iv) [x—%y}

7. Evaluate the following using suitable identities:

(i) (99)3 (i) (102)3 (iii) (998)3
8. Factorise each of the following:
(i) 8a3 + b®+ 12a%b + 6ab? (ii) 8a® - b® — 12a%b + 6ab?
(iii) 27 — 125a® — 135a + 225a%  (iv) 64a® — 27b* — 144a%b + 108ab?
st 9.1
(v) 27p 216 27 4P

9. Verify : () X +y* = (x+y) (—-xy +y?) (i) X¥*=y*=(x-y) (X* +xy +y?)
10. Factorise each of the following:
(i) 27y3 + 12573 (if) 64m?3—343n®
[Hint : See Question 9.]
11. Factorise : 27x3 + y® + 73 — 9xyz

12. Verify that x3 + y3 + 22— 3xyz = % (X+y+2)[(x=y)P +(y-2)+(z-x%7]

13.1f x +y +z = 0, show that x® + y® + 73 = 3xyz.

14. Without actually calculating the cubes, find the value of each of the following:
(i) (-12)* + (7)° + (5)°
(ii) (28)® + (-15)° + (-13)®

15. Give possible expressions for the length and breadth of each of the following rectangles,
in which their areas are given:

Area ;| 25a? - 35a + 12 Area] 35y?+13y-12
(i) (i)
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4. (Bod TP $BP BBRDEBETOR SIBrA0Y DJBoSOE.
() (x +2y +42)? (i) (2x -y +2)? (iii)  (=2x + 3y + 22)?
(iv) (3a - 7b - ¢)? (V) (=2x + 5y = 327  (vi) Ea Lo 1}2

5. se8esrosrente QgsRoSod.
(i) 4x® + 9y? + 1622 + 12xy — 24yz — 16xz
(i) 2x2+ y? + 822 — 2\2 Xy + a2z — 8xzZ
6. (od oo diBnsrHost Trabod.

() 2x+ 172 (i) (2a—3b)? (iii) BHlT (iv) [x_gyT

7. (8od &P ¥BB BEGDLESeTOl GHRPACD KeBoBod!

(i) (99)? (ii) (102)° (iii) (998)°
8. Bod 7 se8erosrenr DRo[o !
(i) 8a3 + b®+ 12a%b + 6ab? (ii) 8a® - b® — 12a%b + 6ab?
(iii) 27 — 125a% — 135a + 225a%  (iv) 64a® — 27b® — 144a% + 108ab?
s_ 1 9.1
(V) 27p° = e = 5P+ 5P

9. RBsrsod: ()X +y3 =(X+y) (X*=xy +Vy?) (i) 3=y} =(X=y) (+xy +y?)
10. (8od a2 se8esrozrente DgFRoSod !
(i) 27y* + 12573 (if) 64m?3—343n?

[ - (54 9 08 ]
11. so8ezrosrenre dgfBosod.: 27x3 + y3 + 22 — Oxyz
12. X3+ y3 + 28— 3xyz = % X+ y+2) [(x=y) +(y - 2)" + (2 - X)* | & %008,
13. Xx+y+z=0oonae X3+ Y3+ 7%= 3XyZ @ SrH08.
14. 585 Ko BHBomeR Bod oare ended EiPSod.

(i) (12)° + (7)° + (5)°

(ii) (28) + (-15)% + (-13)®
15. 80d a5 ég H$EHB(RPe ST30 STREOTP a& FPE), Ie)eBd B Birarey Teabod.

Szrego: | 25a° —35a + 12 Szeego: | 35y? + 13y 12
(i) (i)
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16. What are the possible expressions for the dimensions of the cuboids whose volumes are
given below?

\Volume 1 3x? - 12x Volume | 12ky? + 8ky — 20k

(i) (ii)

2.6 Summary

In this chapter, you have studied the following points:

1.

© N o ok~ wDd

10.

11.
12.
13.
14.

A polynomial p(x) in one variable x is an algebraic expression in x of the form
p(x)=ax"+a X""t+...+ax +ax+a,

wherea,, a;, a,, ..., a areconstantsanda_# 0.

a, a,a, ... a arerespectively the coefficients of x°, x, x%, . . ., x", and n is called the
degree of the polynomial. Eachofa x",a_ x"*, ..., a,, witha_ =0, is called a term of the
polynomial p(x).

A polynomial of one term is called a monomial.

A polynomial of two terms is called a binomial.

A polynomial of three terms is called a trinomial.

A polynomial of degree one is called a linear polynomial.

A polynomial of degree two is called a quadratic polynomial.

A polynomial of degree three is called a cubic polynomial.

Areal number “a’ is a zero of a polynomial p(x) if p(a) = 0. In this case, a is also called a
root of the equation p(x) = 0.

Every linear polynomial in one variable has a unique zero, a non-zero constant polynomial
has no zero, and every real number is a zero of the zero polynomial.

Factor Theorem : x — a is a factor of the polynomial p(x), if p(a) = 0. Also, if x—ais a
factor of p(x), then p(a) = 0.

(X+y+2)2=x2+y2+ 72+ 2xXy + 2yz + 22X
(X+Yy)=x+y°+3xy(x +Y)
(X—y)* =% —y* - 3xy(x - y)

XA+ -3Xyz=(X+Yy+2) (X*+Yy*+ 22— Xy —yz—-12X)
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16. &o& BRES &g@mo 3H0Kea0 eTPBOT TP o) IS oy Trdbod.

IHBSmes0; | 3x2— 12X o088 ee0 1| 12ky? + 8ky — 20k
(i) (i)

2.6 Frorodo :
& e:9c5°§c3530e3‘5 Bod DR 3&3&5&0.
1. D8 $380°8 X & NS H0&mes 225008 Haeso p(X),

— n n-1 2 .
px)=ax'+a Xx""'+.. .. +ax +ax+a, &rHos® eotnod.
w0’ a, a, ay, ..., a e Roroseen, @ # 0

aypa,a,...,a o X0 X, X, ..., X" RBoog), MDeasPe0tro. N & adVSB 385700 Woero.
anx”, a X a, O VN6 TN DTPeoETo.

28 28 HBo Ko aFTVHO DEHE wotro.

B0t Hore Ko TR B8 @otro.

Q7o) HDTPe Ke) DTVIA (BHE ®oéro.

$05e0 288 Ko 2IFHO BHAH 20HG wotro.
B0 BoIMT Ko DTVRB Y 250D Woero.

HBKe90 Koot Ko STVIRY 0l dFTVH ©oéro.

L N o 0o B W D

P(X) &3 50068 DFT 280 Yogg 8 P(a) = 0 wand ad a0s P(X) = 0 GoE) ey Deodd
0O,

9. 58 550°8 DAL (58 TDH assoHds g Dendd DEOTT 60enod. Erngss 2BT°38 5006 Ey
Dendd DBIROLED. %33265 DETNOE (8 a°§£§éogp§ a8 %Jvzéego ©HBok.

10. se8eseo8 Rrpodo: P(a) = 0 o PX) o oDt X — 8 30 SEerosHHEod. veon
P(X)% X — a &8 se8erodo wowd P(a) = 0 wH&Hos.

11. (X +y +2)?= X2+ y? + 72+ 2Xy + 2yz + 22X

12. (x +y)° =X+ + 3xy(x +y)

13. (x—y)* =x° -y = 3xy(x - y)

143 +y3+22-3xyz=(X+y+2) (X3 +y?+ 22— Xy — yz — 2X)
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CHAPTER 3|

COORDINATE GEOMETRY
I

What’s the good of Mercator’s North Poles and Equators, Tropics, Zones and Meridian Lines?’
So the Bellman would cry; and crew would reply © They are merely conventional signs!’
LEWIS CARROLL, The Hunting of the Snark
3.1 Introduction

You have already studied how to locate a point on a number line. You also know how to describe
the position of a point on the line. There are many other situations, in which to find a point we
are required to describe its position with reference to more than one line. For example, consider
the following situations:

I. In Fig. 3.1, there is a main road running in the East-
West direction and streets with numbering from West to East.

Also, on each street, house numbers are marked. To look for i i i P:j
a friend’s house here, is it enough to know only one reference —PBeop oo
point? For instance, if we only know that she lives on Street g? ;,% ? g? g ?
2, will we be able to find her house easily? Not as easily ag; E
when we know two pieces of information about it, namely, LU SUNE D 2
the number of the street on which it is situated, and the house S i }Zi = i z] §
number. If we want to reach the house which is situated in the c% L4 %..4 %..4 % 4
2" street and has the number 5, first of all we would identify Hs 5 1B 7
the 2" street and then the house numbered 5 oniit. InFig. 3.1,
Fig. 3.1

H shows the location of the house. Similarly, P shows the
location of the house corresponding to Street number 7 and
House number 4.
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I1. Suppose you put a dot on a sheet of paper [Fig.3.2 (a)]. If we ask you to tell us the
position of the dot on the paper, how will you do this? Perhaps you will try in some such manner:
“The dot s in the upper half of the paper”, or “It is near the left edge of the paper”, or “Itis very
near the left hand upper corner of the sheet”. Do any of these statements fix the position of the
dot precisely? No! But, if you say “ The dot is nearly 5 cm away from the left edge of the paper”,
it helps to give some idea but still does not fix the position of the dot. A little thought might
enable you to say that the dot is also at a distance of 9 cm above the bottom line. WWe now know
exactly where the dot is!

S5cm

9cm

(2) (b)
Fig. 3.2

For this purpose, we fixed the position of the dot by specifying its distances from two fixed
lines, the left edge of the paper and the bottom line of the paper [Fig.3.2 (b)]. In other words, we
need two independent informations for finding the position of the dot.

Now, perform the following classroom activity known as “Seating Plan’.

Activity 1 (Seating Plan) : Draw a plan of the seating in your classroom, pushing all the desks
together. Represent each desk by asquare. In each square, write the name of the student occupying
the desk, which the square represents. Position of each student in the classroom is described
precisely by using two independent informations:

(1) the column in which she or he sits,
(i1) the row in which she or he sits.

If you are sitting on the desk lying in the 5" column and 3" row (represented by the shaded
square in Fig. 3.3), your position could be written as (5, 3), first writing the column number, and
then the row number. Is this the same as (3, 5)? Write down the names and positions of other
students in your class. For example, if Sonia is sitting in the 4" column and 1% row, write S(4,1).
The teacher’s desk is not part of your seating plan. We are treating the teacher just as an observer.
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Fig. 3.3

In the discussion above, you observe that position of any object lying in a plane can be
represented with the help of two perpendicular lines. In case of “dot’, we require distance of the
dot from bottom line as well as from left edge of the paper. In case of seating plan, we require
the number of the column and that of the row. This simple idea has far reaching consequences,
and has given rise to a very important branch of Mathematics known as Coordinate Geometry.
In this chapter, we aim to introduce some basic concepts of coordinate geometry. You will
study more about these in your higher classes. This study was initially developed by the French
philosopher and mathematician René Déscartes.

René Déscartes, the great French mathematician of the
seventeenth century, liked to lie in bed and think! One day,
when resting in bed, he solved the problem of describing the
position of a point in a plane. His method was a development
of the older idea of latitude and longitude. In honour of
Déscartes, the system used for describing the position of a

point in a plane is also known as the Cartesian system. René Déscartes (1596 -1650)

Fig. 3.4

EXERCISE 3.1
1. How will you describe the position of a table lamp on your study table to another person?

2. (Street Plan) : A city has two main roads which cross each other at the centre of the

city. These two roads are along the North-South direction and East-West direction. All
the other streets of the city run parallel to these roads and are 200 m apart. There are 5
streets in each direction. Using 1cm =200 m, draw a model of the city on your notebook.
Represent the roads/streets by single lines.



QBFLE g0 91

B8 ags Srdkod
BT 220> Jedod

Qend HBoden
He0 3.3

2 S8 2.8 Boo 2 B HH @) Y Botd 00209 BBAHo&® KrdosKesd Khomro.
SPAS0D 50636:‘1)26 oth) HB0HEB SPASYH BIDD ®od (B) 0B NED 0D (B )08 Brdsnen
5980, SH&R PR ?Jgowoiﬁeyﬁ)% Qensd S, LY Sder OBIBHHT ow. &8 Dredes wSPSS w0d So0gg
HBeEOTe KBS THS (8 TP “ T Dge MBeso / s Ty MeBSo” G ed02meA8 Td S0k,
& wgga0s® AETDY eend® (Co-ordinate Geometry) &% §°Q) (P8 grdKo HBSCHo Bchoerd
g0 eRBHTN0. DA 6B S8KDHOS® W HBoSMT eieDIo VY. (FRH TobS KBS Bz,
S5338 wond 3D Gs°§ (Rene Descartes) Snotearr Br68 a8 ©PHS BIE.

17 $ doeapd8 3063 KBE Qe B Gs°f. Hofo i HEER

w&*DoBKo w88 vgo. a8 HB08 B0l el JrHos®

a8 o) DY) 3(;@?0& DHBOT BB HBYBoT. & oo Ko

oD 3(;@50& (‘0655303 D505 PHOTD. TP ¢S5 wone egroen

505 Bgrozrelh ©PHE IAHEDH ©8 HE8. BI GG FTIEo

00 Doy BwE) 3;@?0& DHBoD JgTHH “Qgﬁdoﬁgég’ o & 33 ds§ (1596 -1650)
QOLTED. . Bér0 3.4

ogrsdo 3.1

1 & 38 BenSp Savd oD Fard) hth HEEKEE der DSORH?
5 L= ) b

2. (D8 (KeDB) : &8 JK5BoERR Botd (e Bermrtoen K180 S0%S® 28T .88 Bevran. s 3o
5% &85-88e B &t -533) &S o, S80S ) 88 Dpen & TLH ViroBborr
200 &o. &m0 Gamom. K (38 6FE° 5 ihen eImom. 10.80. 200 . e HOKBD, D
SEeSenES® $i580 B8, S0 AcHoR. H8¥ Tye oRo° 88@, | e drDoSod.



92 CoOoRDINATE GEOMETRY

There are many cross- streets in your model. A particular cross-street is made by
two streets, one running in the North - South direction and another in the East - West
direction. Each cross street is referred to in the following manner : If the 2™ street
running in the North - South direction and 5" in the East - West direction meet at some
crossing, then we will call this cross-street (2, 5). Using this convention, find:

(1) how many cross - streets can be referred to as (4, 3).
(i1) how many cross - streets can be referred to as (3, 4).

3.2 Cartesian System

You have studied the number line in the chapter on *‘Number System’. On the number line,
distances from a fixed point are marked in equal units positively in one direction and negatively
in the other. The point from which the distances are marked is called the origin. We use the
number line to represent the numbers by marking points on a line at equal distances. If one unit
distance represents the number 1, then 3 units distance represents the number “3’, ‘0’ being at
the origin. The point in the positive direction at a distance r from the origin represents the
number r. The point in the negative direction at a distance r from the origin represents the
number —r. Locations of different numbers on the number line are shown in Fig. 3.5.

One unit One unit
distance distance
P Origin Py
-5 4 3 2 -1 0 1 2 3 4 5
Fig. 3.5

Descartes invented the idea of placing two such lines perpendicular to each other ona plane,
and locating points on the plane by referring them to these lines. The perpendicular lines may

be in any direction such as in Fig.3.6. But, when we choose

() (b) (©)
Fig. 3.6
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these two lines to locate a point in a plane in this chapter, one line will be
horizontal and the other will be vertical, as in Fig. 3.6(c).

These lines are actually obtained as follows : Take two number lines, calling A
them X'Xand Y"Y. Place X'X horizontal [as in Fig. 3.7(a)] and write the numbers
on it just as written on the number line. We do the same thing with Y'Y except 4+
that Y'Y is vertical, not horizontal [Fig. 3.7(b)].

W
s

o
"
t

0+ Origin
14
24
34
—44
Ougm
X t —_— XN
—5—4—3—2— 012345 Y’
(a) (b)
Fig. 3.7

Combine both the lines in such a way that the

two lines cross each other at their zeroes, or origins - 3{

(Fig. 3.8). The horizontal line XX is called the x - e

axis and the vertical line YY" is called the y - axis. j

The point where X'X and Y'Y cross is called the N

origin, and is denoted by O. Since the posmve Negative x -axis 11 Positive v -axis
numbers lie on the directions OX and OY, OX and IR 72'*1'3'. 123456
OY are called the positive directions of the x - *2:

axis and the y - axis, respectively. Similarly, OX’ . i

and OY’ are called the negative directions of the ]

X - axis and the y - axis, respectively. R ;

Fig. 3.8

X
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You observe that the axes (plural of the word ‘axis’) divide X

the plane into four parts. These four parts are called the quadrants
(one fourth part), numbered I, II, 11l and IV anticlockwise from
OX (see Fig.3.9). So, the plane consists of the axes and these
quadrants. We call the plane, the Cartesian plane, or the
coordinate plane, or the xy-plane. The axes are called the
coordinate axes.

Quadrant I1 Quadrant I

X 0 X

Quadrant 111 Quadrant [V

Fig. 3.9

Now, let us see why this system is so basic to mathematics, and how it is useful. Consider
the following diagram where the axes are drawn on graph paper. Let us see the distances of the
points P and Q from the axes. For this, we draw perpendiculars PM on the x - axis and PN on the
y - axis. Similarly, we draw perpendiculars QR and QS as shown in Fig. 3.10.

Fig.3.10
You find that

(1) The perpendicular distance of the point P from the y - axis measured along the positive
direction of the x - axis is PN = OM = 4 units.

(i1) The perpendicular distance of the point P from the x - axis measured along the positive
direction of the y - axis is PM = ON = 3 units.
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(iii) The perpendicular distance of the point Q from the y - axis measured along the negative
direction of the x - axis is OR = SQ = 6 units.

(iv) The perpendicular distance of the point Q from the x - axis measured along the negative
direction of the y - axis is OS = RQ = 2 units.

Now, using these distances, how can we describe the points so that there is no confusion?

We write the coordinates of a point, using the following conventions:

(i) The x - coordinate of a point is its perpendicular distance from the y - axis measured
along the x -axis (positive along the positive direction of the x - axis and negative along
the negative direction of the x - axis). For the point P, itis + 4 and for Q, itis—6. The x
- coordinate is also called the abscissa.

(i) The y - coordinate of a point is its perpendicular distance from the x - axis measured
along the y - axis (positive along the positive direction of the y - axis and negative along
the negative direction of the y - axis). For the point P, it is + 3 and for Q, itis—2. The y
- coordinate is also called the ordinate.

(iii) In stating the coordinates of a point in the coordinate plane, the x - coordinate comes
first, and then the y - coordinate. We place the coordinates in brackets.

Hence, the coordinates of P are (4, 3) and the coordinates of Q are (-6, — 2).

Note that the coordinates describe a point in the plane uniquely. (3, 4) is not the same as
(4,3).

Example 1 : See Fig. 3.11 and complete the following statements:

(1) The abscissa and the ordinate of the point B are _ _~ _ and _ _ _, respectively.

Hence, the coordinatesof Bare (_ _, ).

(i) The x-coordinate and the y-coordinate of the point M are __and __ _, respectively.

Hence, the coordinatesof Mare (_ _, _ ).

(iii) The x-coordinate and the y-coordinate of the point Lare _ _and _ _ _, respectively.

Hence, the coordinates of Lare (_ _, ).

(iv) The x-coordinate and the y-coordinate of the pointSare _ __and _ _ _, respectively.

Hence, the coordinatesof Sare (_ _, _ ).



QBFLE g0 99

(iii) X- @go @) anes &I Y - oFo Hod Foadsd Q Hokhs) GEn) voatrso OR=SQ = 6
OeEY.

(V) Y - oo Gng) awes 83E° X - oFo o8 Fodadd Q Howd Gwg) eoairdo OS=RQ = 2
57D,

BYD, &8 LPTPRONETNOD, Koo B ome HoHhHOD der DNB0BHEY?
035w & (8od Kacgéaeazéa SDTPA0D 2.8 Hoth) Food) ABrHTeD (3P0

(i) X- o980 2 e Hothd) ol woadrdo K85 Ko roed) (X oo Gs) 5 BES geBorr
o8 X e@go G e0eedISE aa:as@?é%éorw) X-085°580 0 ©otro. P othsdhdh 26 + 4 S5o8c%mw
Q3% -6. X=-QEm550q)), (69§36 es80 (Abscissa) & Erwe @otrd.

(i) Y- &80 2 S Do) DHod woaario $8% Ko roed) (Y o Gng) &S BES georr
08w Y e9go G, N AL ON amwé%éorv) Y-Q&5°550 9 ewoersm. P othHd 26 + 3 odckw
Q5% 26 -2. Y- reesseR)) Ggdad darsso (Ordinate) ©d Eree @otr.

(i) &8 Hoth) GwE) Vs VDO ity X-DErHEsim, 63 Y -Erdskn ok (@,
T 8T (Fraro.

529, P Dothsh GwE) Asrsseen (4,3) 0cin Q Hothsh Jrdseen (-6, —2) wHEeaw. 2.8 00
BotHy BwE) OB 5o (Uniquere eoérom.

aTdEdes 1: $00 8.11 & K509 (8ol grded Frehabos:

(i) B oo G (5555 drdEo B0k BBcH AEFHEo SEHT ___ H0a__ _. 0%, B Gy
Qsmen B ().

(i) M Dotod Go8) X- 8o HBAm Y- JrKo SEHT___ 8cko_ _, wand, M @wg)
mHen ().

(i) L Dothd En) X- JEro H0aM Y-- Ao SWIP _ _ _ B _ _, eand, Laws)
msen ().
(IV)S Dot Ty X-- Ero HBAm Y-- JrsBo S _ __ DBk _ _, wond, S @)

Q&rdseen (L _, _ )



100 CooRDINATE GEOMETRY

Fig. 3.11

Solution: (1) Since the distance of the point B from the y - axis is 4 units, the
X - coordinate or abscissa of the point B is 4. The distance of the point B from the
X - axis is 3 units; therefore, the y - coordinate, i.e., the ordinate, of the point B is 3. Hence, the
coordinates of the point B are (4, 3).

Asin (i) above :

(i) The x - coordinate and the y - coordinate of the point M are —3 and 4, respectively. Hence,
the coordinates of the point M are (-3, 4).

(ii1) The x - coordinate and the y - coordinate of the point L are -5 and — 4, respectively. Hence,
the coordinates of the point L are (-5, — 4).

(iv) The x - coordinate and the y- coordinate of the point S are 3and -4, respectively. Hence,
the coordinates of the point S are (3, — 4).
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Example 2 : Write the coordinates of the points marked v
on the axes in Fig. 3.12.

. 4
Solution : You can see that : 3B
1

(i) The point Ais at a distance of + 4 units from the y -axis . N
and at a distance zero from the x - axis. Therefore, the X< — <=1 o Z 3 5 43 X
- 3

X - coordinate of A is 4 and the y - coordinate is 0. 2

Hence, the coordinates of A are (4, 0). b
(i1) The coordinates of B are (0, 3). Why? B
(11i) The coordinates of C are (- 5, 0). Why? Y’

(iv) The coordinates of D are (0, — 4). Why?
2
(v) The coordinates of E are [5’ Oj . Why?

Since every point on the x - axis has no distance (zero distance) from the x - axis, therefore,
the y - coordinate of every point lying on the x - axis is always zero. Thus, the coordinates of any
point on the x - axis are of the form (x, 0), where x is the distance of the point from the y - axis.
Similarly, the coordinates of any point on the y - axis are of the form (0, y), where y is the
distance of the point from the x - axis. Why?

Fig. 3.12

What are the coordinates of the origin O? It has zero distance from both the axes so that its
abscissa and ordinate are both zero. Therefore, the coordinates of the origin are (0, 0).

In the examples above, you may have observed the following relationship between the signs

of the coordinates of a point and the quadrant of a point in which it lies.

(i) If apoint is in the 1st quadrant, then the point will be in the form (+, +), since the 1st
quadrant is enclosed by the positive x - axis and the positive y - axis.

(i1) If a point is in the 2nd quadrant, then the point will be in the form (-, +), since the 2nd
quadrant is enclosed by the negative x - axis and the positive y - axis.

(ii1) If a point is in the 3rd quadrant, then the point will be in the form (-, -), since the 3rd
quadrant is enclosed by the negative x - axis and the negative y - axis.

(iv) If a point is in the 4th quadrant, then the point will be in the form (+, -), since the 4th
quadrant is enclosed by the positive x - axis and the negative y - axis
(see Fig. 3.13).
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V.
Fig. 3.13

Remark : The system we have discussed above for describing a point in a plane is only a
convention, which is accepted all over the world. The system could also have been, for example,
the ordinate first, and the abscissa second. However, the whole world sticks to the system we
have described to avoid any confusion.

EXERCISE 3.2

1. Write the answer of each of the following questions:

(1) What is the name of horizontal and the vertical lines drawn to determine the position
of any point in the Cartesian plane?

(i1)What is the name of each part of the plane formed by these two lines?
(iif)  Write the name of the point where these two lines intersect.
2. SeeFig.3.14, and write the following:
(i) The coordinates of B.
(i1) The coordinates of C.
(iii)  The point identified by the coordinates (-3, -5).
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(iv)  The pointidentified by the coordinates (2, — 4).
(v)  The abscissa of the point D.

(vi)  The ordinate of the point H.

(vii)  The coordinates of the point L.

(viii) The coordinates of the point M.

Y
6..
SJLL
41
3
Beemmee o ——— 2 1D
|
1
: 1+ |
| M :
X i + + i ——> X
5 4 32 10 1,23 45 6
| 1 ~1t 1 |
| | | |
| | ) | |
| | - | 1
| | 1 |
H~-————1——————:l 1 |
| 1 |
| 1
[ o tg [
| |

3.3 Summary

In this chapter, you have studied the following points :

1.

To locate the position of an object or a point in a plane, we require two perpendicular lines.
One of them is horizontal, and the other is vertical.

The plane is called the Cartesian, or coordinate plane and the lines are called the coordinate
axes.

The horizontal line is called the x -axis, and the vertical line is called the y - axis.
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4. The coordinate axes divide the plane into four parts called quadrants.
5. The point of intersection of the axes is called the origin.

6. The distance of a point from the y - axis is called its x-coordinate, or abscissa, and the

distance of the point from the x-axis is called its y-coordinate, or ordinate.

7. If the abscissa of a point is x and the ordinate is y, then (x, y) are called the coordinates of

the point.

8. The coordinates of a point on the x-axis are of the form (x, 0) and that of the point on the y-
axis are (0, y).

9. The coordinates of the origin are (0, 0).

10. The coordinates of a point are of the form (+, +) in the first quadrant, (-, +) in the second
quadrant, (-, -) in the third quadrant and (+, -) in the fourth quadrant, where + denotes a

positive real number and — denotes a negative real number.

11. If x =y, then (X, y) = (v, X), and (x, y) = (y, X), if x =vy.
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CHAPTER 4

LINEAR EQUATIONS IN TWO VARIABLES
I
The principal use of the Analytic Art is to bring Mathematical Problems to Equations
and to exhibit those Equations in the most simple terms that can be.
—Edmund Halley

4.1 Introduction

In earlier classes, you have studied linear equations in one variable. Can you write down a linear

equation in one variable? You may say that x + 1 =0, x + 2 =0and +2y + /3 =0 are
examples of linear equations in one variable. You also know that such equations have a unique
(i.e., one and only one) solution. You may also remember how to represent the solution on a
number line. In this chapter, the knowledge of linear equations in one variable shall be recalled
and extended to that of two variables. You will be considering questions like: Does a linear
equation in two variables have a solution? If yes, is it unique? What does the solution look like
on the Cartesian plane? You shall also use the concepts you studied in Chapter 3 to answer these
questions.

4.2 Linear Equations

Let us first recall what you have studied so far. Consider the following equation:
2x+5=0

Its solution, i.e., the root of the equation, is _g . This can be represented on the number line

as shown below:
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While solving an equation, you must always keep the following points in mind:

The solution of a linear equation is not affected when:

(1) the same number is added to (or subtracted from) both the sides of the equation.
(i1) you multiply or divide both the sides of the equation by the same non-zero number.
Let us now consider the following situation:

In a One-day International Cricket match between India and Sri Lanka played in Nagpur, two
Indian batsmen together scored 176 runs. Express this information in the form of an equation.

Here, you can see that the score of neither of them is known, i.e., there are two unknown
quantities. Let us use x and y to denote them. So, the number of runs scored by one of the
batsmen is x, and the number of runs scored by the other is y. We know that

X +y =176,
which is the required equation.

This isan example of a linear equation in two variables. It is customary to denote the variables
in such equations by x and y, but other letters may also be used. Some examples of linear
equations in two variables are:

1.2s+3t=5p+4q=7,-u+5v=9and 3= 2x-7y.

Note that you can put these equations in the form 1.2s+3t-5=0,p+4q-7=0, U+ 5v
-9=0and V2 x-7y-3=0, respectively.

So, any equation which can be put in the form ax + by + ¢ = 0, where a, b and c are real

numbers, and a and b are not both zero, is called a linear equation in two variables. This
means that you can think of many many such equations.

Example 1 : Write each of the following equations in the form ax + by + ¢ = 0 and indicate the
values of a, b and ¢ in each case:
()2x+3y=4.37 (ii)x-4= 3y (i) 4 =5x - 3y (iv) 2x =y
Solution : (i) 2x + 3y =4.37 can be writtenas 2x + 3y —4.37 =0. Herea=2, b = 3 and
c=-4.37.
(ii) The equation x —4 = /3y can be writtenas X — \/3y-4=0. Herea=1,
b=-3 andc=-4.
(ii1) The equation 4 = 5x — 3y can be writtenas 5x —3y—4=0. Herea=5,b

=-3 and ¢ =—4. Do you agree that it can also be written as -5x + 3y + 4
=0?Inthiscasea=-5,b=3andc=4.
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(iv) The equation 2x =y can be written as 2x -y + 0 = 0. Here a =2, b = -1 and
c=0.

Equations of the type ax + b = 0 are also examples of linear equations in two variables because
they can be expressed as

ax+0y+b=0
For example, 4 — 3x = 0 can be written as -3x + 0.y + 4 =0.

Example 2 : Write each of the following as an equation in two variables:

(i) x=-5 (iy=2 (iii) 2x =3 (iv) by =2
Solution : (i) x=-5can be writtenas 1.x + 0.y =-5, or 1L.x+ 0.y + 5 =0.

(i) y =2 can be writtenas0.x + 1.y =2, or 0.x+1y-2=0.

(i) 2x = 3 can be writtenas 2x + 0.y - 3 =0.

(iv) 5y = 2 can be written as 0.x + 5y -2 = 0.

EXERCISE 4.1

1. The cost of a notebook is twice the cost of a pen. Write a linear equation in two variables
to represent this statement.

(Take the cost of a notebook to be I x and that of a pen to be X y).

2. Express the following linear equations in the form ax + by + ¢ = 0 and indicate the
values of a, b and c in each case:

(i)2x+3y =935  (ii) x—%—lO:O (i) -2x+3y=6 (iv) x=3y

(V) 2x = -5y (vij 3x+2=0 (vil) y-2=0 (viii) 5=2x

4.3 Solution of a Linear Equation

You have seen that every linear equation in one variable has a unique solution. What can you say
about the solution of a linear equation involving two variables? As there are two variables in the
equation, a solution means a pair of values, one for x and one for y which satisfy the given
equation. Let us consider the equation 2x + 3y = 12. Here, x =3 and y = 2 is a solution because
when you substitute x = 3and y = 2 in the equation above, you find that
2X+3y=(2%x3)+(3x2)=12

This solution is written as an ordered pair (3, 2), first writing the value for x and then the

value for y. Similarly, (0, 4) is also a solution for the equation above.
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On the other hand, (1, 4) is not a solution of 2x + 3y = 12, because on putting
x=1andy =4we get 2x + 3y = 14, which is not 12. Note that (0, 4) isa solution but not (4, 0).

You have seen at least two solutions for 2x + 3y =12, i.e., (3, 2) and (0, 4). Can you find any
other solution? Do you agree that (6, 0) is another solution? Verify the same. In fact, we can get
many many solutions in the following way. Pick a value of your choice for x (say x =2) in 2x +
3y =12. Then the equation reduces to 4 + 3y = 12, which is a linear equation in one variable. On
solving this, you gety = g So 2, 8‘ is another solution of 2x + 3y = 12. Slmllarly, choosing
x = -5, you find that the equatlon Bécomes -10 + 3y = 12. This gives y = 2— . S0, [ -5, 22‘
another solution of 2x + 3y = 12. So there is no end to different solutions of a linear equat’ion
in two variables. That is, a linear equation in two variables has infinitely many solutions.

Example 3 : Find four different solutions of the equation x + 2y = 6.

Solution : By inspection, x = 2, y = 2 is a solution because forx =2,y =2
X+2y=2+4=6
Now, let us choose x = 0. With this value of x, the given equation reduces to 2y = 6 which has
the unique solutiony =3. Sox =0, y = 3is also a solution of x + 2y = 6. Similarly, takingy =
0, the given equation reduces to x = 6. So, x =6, y = 0 isa solution of x + 2y = 6 as well. Finally,
let us take y = 1. The given equation now reduces to x + 2 = 6, whose solution is given by x =4.
Therefore, (4, 1) is also asolution of the given equation. So four of the infinitely many solutions
of the given equation are:
(2,2), (0, 3), (6, 0) and (4, 1).

Remark : Note that an easy way of getting a solution is to take x = 0 and get the corresponding
value of y. Similarly, we can puty = 0 and obtain the corresponding value of x.

Example 4 : Find two solutions for each of the following equations:

(i) 4x+3y =12

(i)2x+5y =0

(iii)3y +4=0
Solution : (i) Taking x = 0, we get 3y = 12, i.e., y = 4. So, (0, 4) is a solution of the given
equation. Similarly, by taking y =0, we get x = 3. Thus, (3, 0) is also a solution.
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(i1) Taking x =0, we get 5y =0, i.e., y = 0. So (0, 0) is a solution of the given equation. Now, if
you take y = 0, you again get (0, 0) as a solution, which is the same as the earlier one. To get

. . .2
another solution, take x = 1, say. Then you can check that the corresponding value of y is - =

So 1, %‘l is another solution of 2x + 5y = 0.
L5

(i11) Writing the equation 3y + 4=0as 0.x + 3y + 4 =0, you will find that y = —g for any value

of x. Thus, two solutions can be given as | o, —g‘l and | 1, —g‘l :
( ) ( )
EXERCISE 4.2

1. Which one of the following options is true, and why?
y=3x +5has
(i) aunique solution,  (ii) only two solutions,  (iii) infinitely many solutions
2. Write four solutions for each of the following equations:
(i) 2x+y=7 (ii).x+y=9 (iii) x=4y
3. Check which of the following are solutions of the equation x — 2y =4 and which are not:
(i) (O, 2) (ii) (2, 0) (iii) (4, 0)
(iv) (V2,42) (V) (1, 1)
4. Findthe value of k, if x =2, y = 1 is a solution of the equation 2x + 3y = k.

4.4 Summary

In this chapter, you have studied the following points:

1. Anequation of the form ax + by + ¢ =0, where a, b and c are real numbers, such thataand b
are not both zero, is called a linear equation in two variables.

2. Alinear equation in two variables has infinitely many solutions.

3. Every point on the graph of a linear equation in two variables is a solution of the linear
equation. Moreover, every solution of the linear equation is a point on the graph of the linear
equation.
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CHPER 5

INTRODUCTION TO EUCLID’S GEOMETRY
I

5.1 Introduction

The word ‘geometry’ comes form the Greek words ‘geo’, meaning the ‘earth’, and ‘metrein’,
meaning ‘to measure’. Geometry appears to have originated from the need for measuring
land. This branch of mathematics was studied in various forms in every ancient civilisation,
be it in Egypt, Babylonia, China, India, Greece, the Incas, etc. The people of these civilisations
faced several practical problems which required the development of geometry in various
ways.

For example, whenever the river Nile overflowed, it wiped
out the boundaries between the adjoining fields of different
land owners. After such flooding, these boundaries had to be
redrawn. For this purpose, the Egyptians developed a number
of geometric techniques and rules for calculating simple areas
and also for doing simple constructions. The knowledge of
geometry was also used by them for computing volumes of
granaries, and for constructing canals and pyramids. They also
knew the correct formula to find the volume of a truncated
pyramid (see Fig. 5.1).You know that a pyramid is a solid
figure, the base of which is atriangle, or square, or some other
polygon, and its side faces are triangles converging to a point
at the top. Fig. 5.1 : ATruncated Pyramid
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In the Indian subcontinent, the excavations at Harappa and Mohenjo-Daro, etc. show that the
Indus Valley Civilisation (about 3000 BCE) made extensive use of geometry. It was a highly
organised society. The cities were highly developed and very well planned. For example, the
roads were parallel to each other and there was an underground drainage system. The houses
had many rooms of different types. This shows that the town dwellers were skilled in mensuration
and practical arithmetic. The bricks used for constructions were kiln fired and the ratio length
- breadth : thickness, of the bricks was foundtobe 4:2: 1.

In ancient India, the Sulbasutras (800 BCE to 500 BCE) were the manuals of geometrical
constructions. The geometry of the Vedic period originated with the construction of altars (or
vedis) and fireplaces for performing Vedic rites. The location of the sacred fires had to be in
accordance to the clearly laid down instructions about their shapes and areas, if they were to be
effective instruments. Square and circular altars were used for household rituals, while altars
whose shapes were combinations of rectangles, triangles and trapeziums were required for
public worship. The sriyantra (given in the Atharvaveda) consists of nine interwoven isosceles
triangles. These triangles are arranged in such a way that they produce 43 subsidiary triangles.
Though accurate geometric methods were used for the constructions of altars, the principles
behind them were not discussed.

These examples show that geometry was being developed and applied everywhere in the
world. But this was happening in an unsystematic manner. What is interesting about these
developments of geometry in the ancient world is that they were passed on from one generation
to the next, either orally or through palm leaf messages, or by other ways. Also, we find that in
some civilisations like Babylonia, geometry remained a very practical oriented discipline, as
was the case in India and Rome. The geometry developed by Egyptians mainly consisted of the
statements of results. There were no general rules of the procedure. In fact, Babylonians and
Egyptians used geometry mostly for practical purposes and did very little to develop it as a
systematic science. But in civilisations like Greece, the emphasis was on the reasoning behind
why certain constructions work. The Greeks were interested in establishing the truth of the
statements they discovered using deductive reasoning (see Appendix 1).

A Greek mathematician, Thales is credited with giving the first known
proof. This proof was of the statement that a circle is bisected (i.e., cut into
two equal parts) by its diameter. One of Thales’ most famous pupils was
Pythagoras (572 BCE), whom you have heard about. Pythagoras and his group
discovered many geometric properties and developed the theory of geometry
to a great extent. This process continued till 300 BCE. At that time Euclid, a
teacher of mathematics at Alexandria in Egypt, collected Thales

all the known work and arranged it in his famous treatise (640 BCE — 546 BCE)
Fig. 5.2
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124 INTRODUCTION TO EUCLID’S GEOMETRY

called ‘Elements’. He divided the ‘Elements’ into thirteen chapters,
each called a book. These books influenced the whole world’s
understanding of geometry for generations to come.

In this chapter, we shall discuss Euclid’s approach to geometry
and shall try to link it with the present day geometry.

Euclid (325 BCE - 265 BCE)
5.2 Euclid’s Definitions, Axioms and Postulates Fig.5.3

The Greek mathematicians of Euclid’s time thought of geometry as an abstract model of the
world in which they lived. The notions of point, line, plane (or surface) and so on were derived
from what was seen around them. From studies of the space and solids in the space around
them, an abstract geometrical notion of a solid object was developed. A solid has shape, size,
position, and can be moved from one place to another. Its boundaries are called surfaces. They
separate one part of the space from another, and are said to have no thickness. The boundaries
of the surfaces are curves or straight lines. These lines end in points.

Consider the three steps from solids to points (solids-surfaces-lines-points). In each step
we lose one extension, also called a dimension. So, a solid has three dimensions, a surface has
two, a line has one and a point has none. Euclid summarised these statements as definitions. He
began his exposition by listing 23 definitions in Book 1 of the ‘Elements’. A few of them are
given below :

1. Apoint isthat which has no part.

A line is breadthless length.

The ends of a line are points.

A straight line is a line which lies evenly with the points on itself.
Assurface is that which has length and breadth only.

SR e

The edges of a surface are lines.

7. A plane surface is a surface which lies evenly with the straight lines on itself.

If you carefully study these definitions, you find that some of the terms like part, breadth,
length, evenly, etc. need to be further explained clearly. For example, consider his definition of
a point. In this definition, ‘a part’ needs to be defined. Suppose if you define “a part’ to be that
which occupies “area’, again ‘an area’ needs to be defined. So, to define one thing, you need to
define many other things, and you may get a long chain of definitions without an end. For such
reasons, mathematicians agree to leave
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126 INTRODUCTION TO EUCLID’S GEOMETRY

some geometric terms undefined. However, we do have a intuitive feeling for the geometric
concept of a point than what the ‘definition’ above gives us. So, we represent a point as a dot,
even though a dot has some dimension.

Assimilar problem arises in Definition 2 above, since it refers to breadth and length, neither
of which has been defined. Because of this, a few terms are kept undefined while developing
any course of study. So, in geometry, we take a point, a line and a plane (in Euclid*s words a
plane surface) as undefined terms. The only thing is that we can represent them intuitively, or
explain them with the help of *‘physical models’.

Starting with his definitions, Euclid assumed certain properties, which were not to be proved.
These assumptions are actually ‘obvious universal truths’. He divided them into two types: axioms
and postulates. He used the term ‘postulate’ for the assumptions that were specific to geometry.
Common notions (often called axioms), on the other hand, were assumptions used throughout
mathematics and not specifically linked to geometry. For details about axioms and postulates,
refer to Appendix 1. Some of Euclid’s axioms, not in his order, are given below :

(1) Things which are equal to the same thing are equal to one another.

(2) If equals are added to equals, the wholes are equal.

(3) If equals are subtracted from equals, the remainders are equal.

(4) Things which coincide with one another are equal to one another.

(5) The whole is greater than the part.

(6) Things which are double of the same things are equal to one another.

(7) Things which are halves of the same things are equal to one another.

These ‘common notions’ refer to magnitudes of some kind. The first common notion could
be applied to plane figures. For example, if an area of a triangle equals the area of a rectangle
and the area of the rectangle equals that of a square, then the area of the triangle also equals the
area of the square.

Magnitudes of the same kind can be compared and added, but magnitudes of different kinds
cannot be compared. For example, a line cannot be compared to a rectangle, nor can an angle be
compared to a pentagon.

The 4th axiom given above seems to say that if two things are identical (that is, they are the
same), then they are equal. In other words, everything equals itself. It is the justification of the
principle of superposition. Axiom (5) gives us the definition of “‘greater than’. For example, if
a quantity B is a part of another quantity A, then A can be written as the sum of B and some third
quantity C. Symbolically, A > B means that there is some C such thatA=B + C.
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128 INTRODUCTION TO EUCLID’S GEOMETRY

Now let us discuss Euclid’s five postulates. They are :
Postulate 1 : A straight line may be drawn from any one point to any other point.

Note that this postulate tells us that at least one straight line passes through two distinct
points, but it does not say that there cannot be more than one such line. However, in his work,
Euclid has frequently assumed, without mentioning, that there is a unique line joining two
distinct points. We state this result in the form of an axiom as follows:

Axiom 5.1 : Given two distinct points, there is a unique line that passes through them.

How many lines passing through P also pass through Q (see Fig. 5.4)? Only one, that is, the
line PQ. How many lines passing through Q also pass through P? Only one, that is, the line PQ.
Thus, the statement above is self-evident, and so is taken as an axiom.

N N
7N

Postulate 2 : A terminated line can be produced indefinitely.

Fig. 5.4

Note that what we call a line segment now-a-days is what Euclid called a terminated line. So,
according to the present day terms, the second postulate says that a line segment can be extended
on either side to form a line (see Fig. 5.5).

Fig. 5.5
Postulate 3 : A circle can be drawn with any centre and any radius.
Postulate 4 : All right angles are equal to one another.

Postulate 5 : If a straight line falling on two straight lines makes the interior angles on
the same side of it taken together less than two right angles, then the two straight lines, if
produced indefinitely, meet on that side on which the sum of angles is less than two right
angles.
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130 INTRODUCTION TO EUCLID’S GEOMETRY

For example, the line PQ in Fig. 5.6 falls on lines AB and CD
such that the sum of the interior angles 1 and 2 is less than 180° on
the left side of PQ. Therefore, the lines AB and CD will eventually
intersect on the left side of PQ.

Fig. 5.6

A brief look at the five postulates brings to your notice that Postulate 5 is far more complex
than any other postulate. On the other hand, Postulates 1 through 4 are so simple and obvious
that these are taken as “self-evident truths’. However, it is not possible to prove them. So, these
statements are accepted without any proof (see Appendix 1). Because of its complexity, the
fifth postulate will be given more attention in the next section.

Nowe-a-days, ‘postulates’ and ‘axioms’ are terms that are used interchangeably and in the
same sense. ‘Postulate’ is actually a verb. When we say “let us postulate”, we mean, “let us make
some statement based on the observed phenomenon in the Universe”. Its truth/validity is checked
afterwards. Ifit is true, then it is accepted as a ‘Postulate’.

A system of axioms is called consistent (see Appendix 1), if it is impossible to deduce
from these axioms a statement that contradicts any axiom or previously proved statement. So,
when any system of axioms is given, it needs to be ensured that the system is consistent.

After Euclid stated his postulates and axioms, he used them to prove other results. Then
using these results, he proved some more results by applying deductive reasoning. The statements
that were proved are called propositions or theorems. Euclid deduced 465 propositions in a
logical chain using his axioms, postulates, definitions and theorems proved earlier in the chain.
In the next few chapters on geometry, you will be using these axioms to prove some theorems.

Now, let us see in the following examples how Euclid used his axioms and postulates for
proving some of the results:

Example 1 : If A, B and C are three points on a line, and B lies between Aand C
(see Fig.5.7), then prove that AB + BC = AC.
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Solution : In the figure given above, AC coincides with AB + BC.

Also, Euclid’s Axiom (4) says that things which coincide with one another are equal to one
another. So, it can be deduced that

AB+BC=AC

Note that in this solution, it has been assumed that there is a unique line passing through two
points.

Example 2 : Prove that an equilateral triangle can be constructed on any given line segment.

Solution : In the statement above, a line segment of any length is given, say AB
[see Fig. 5.8(1)] C C

(1) (i1) (ii1)

Fig. 5.8

Here, you need to do some construction. Using Euclid’s Postulate 3, you can draw a circle with
point Aas the centre and AB as the radius [see Fig. 5.8(ii)]. Similarly, draw another circle with
point B as the centre and BAas the radius. The two circles meet at a point, say C. Now, draw the
line segments AC and BC to form A ABC [see Fig. 5.8 (iii)]

So, you have to prove that this triangle is equilateral, i.e., AB = AC = BC.
Now, AB = AC, since they are the radii of the same circle (1)
Similarly, AB = BC (Radii of the same circle) (2)

From these two facts, and Euclid’s axiom that things which are equal to the same thing are equal
to one another, you can conclude that AB = BC =AC.

So, A ABC is an equilateral triangle.

Note that here Euclid has assumed, without mentioning anywhere, that the two circles drawn
with centres Aand B will meet each other at a point.

Now we prove a theorem, which is frequently used in different results:
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Theorem 5.1 : Two distinct lines cannot have more than one point in common.

Proof : Here we are given two lines | and m. We need to prove that they have only one point in
common.

For the time being, let us suppose that the two lines intersect in two distinct points, say P
and Q. So, you have two lines passing through two distinct points P and Q. But this assumption
clashes with the axiom that only one line can pass through two distinct points. So, the assumption
that we started with, that two lines can pass through two distinct points is wrong.

From this, what can we conclude? We are forced to conclude that two distinct lines cannot
have more than one point in common.

EXERCISES.1

1. Which of the following statements are true and which are false? Give reasons for your
answers.

(1) Only one line can pass through a single point.

(i1) There are an infinite number of lines which pass through two distinct points.
(iif)  Aterminated line can be produced indefinitely on both the sides.

(iv)  Iftwo circles are equal, then their radii are equal.

(v) InFig. 5.9, if AB = PQ and PQ = XY, then AB = XY.

Fig. 5.9

2. Give adefinition for each of the following terms. Are there other terms that need to be
defined first? What are they, and how might you define them?

(1) parallel lines (i1) perpendicular lines (iit)  line segment
(iv) radius of a circle (v) square
3. Consider two “postulates’ given below:

(i) Givenany two distinct points Aand B, there exists a third point C which is in between
AandB.

(i1) There exist at least three points that are not on the same line.

Do these postulates contain any undefined terms? Are these postulates consistent?
Do they follow from Euclid’s postulates? Explain.
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4. If a point C lies between two points A and B such that AC = BC, then prove that
AC= %AB. Explain by drawing the figure.

5. In Question 4, point C is called a mid-point of line segment AB. Prove that every line
segment has one and only one mid-point.

6. InFig.5.10, if AC = BD, then prove that AB = CD.

B D
A C

Fig. 5.10

7. Why is Axiom 5, in the list of Euclid’s axioms, considered a ‘universal truth’? (Note
that the question is not about the fifth postulate.)

5.3 Summary

In this chapter, you have studied the following points:

1. Though Euclid defined a point, a line, and a plane, the definitions are not accepted by
mathematicians. Therefore, these terms are now taken as undefined.

2. Axioms or postulates are the assumptions which are obvious universal truths. They are not
proved.

3. Theorems are statements which are proved, using definitions, axioms, previously proved
statements and deductive reasoning.

4. Some of Euclid’s axioms were :
(1) Things which are equal to the same thing are equal to one another.
(2) If equals are added to equals, the wholes are equal.
(3) If equals are subtracted from equals, the remainders are equal.
(4) Things which coincide with one another are equal to one another.
(5) The whole is greater than the part.
(6) Things which are double of the same things are equal to one another.
(7) Things which are halves of the same things are equal to one another.
5. Euclid’s postulates were :
Postulate 1 : Astraight line may be drawn from any one point to any other point.
Postulate 2 : Aterminated line can be produced indefinitely.
Postulate 3 : Acircle can be drawn with any centre and any radius.
Postulate 4 : All right angles are equal to one another.
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CHAPTER O

LINES AND ANGLES
I

6.1 Introduction

In Chapter 5, you have studied that a minimum of two points are required to draw a line. You
have also studied some axioms and, with the help of these axioms, you proved some other
statements. In this chapter, you will study the properties of the angles formed when two lines
intersect each other, and also the properties of the angles formed when a line intersects two or
more parallel lines at distinct points. Further you will use these properties to prove some
statements using deductive reasoning (see Appendix 1). You have already verified these statements
through some activities in the earlier classes.

In your daily life, you see different types of angles formed between the edges of plane
surfaces. For making a similar kind of model using the plane surfaces, you need to have a
thorough knowledge of angles. For instance, suppose you want to make a model of a hut to keep
in the school exhibition using bamboo sticks. Imagine how you would make it? You would keep
some of the sticks parallel to each other, and some sticks would be kept slanted. Whenever an
architect has to draw a plan for a multistoried building, she has to draw intersecting lines and
parallel lines at different angles. Without the knowledge of the properties of these lines and
angles, do you think she can draw the layout of the building?

In science, you study the properties of light by drawing the ray diagrams.
For example, to study the refraction property of light when it enters from one medium to the
other medium, you use the properties of intersecting lines and parallel lines. When two or
more forces act on a body, you draw the diagram in which forces are represented by directed
line segments to study the net effect of the forces on the body. At that time, you need to know
the relation between the angles when the rays (or line segments) are parallel to or intersect
each other. To find the height of a tower or to find the distance of a ship from the light house,
one needs to know the angle formed between the horizontal and the line of sight. Plenty of
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other examples can be given where lines and angles are used. In the subsequent chapters of
geometry, you will be using these properties of lines and angles to deduce more and more
useful properties.

Let us first revise the terms and definitions related to lines and angles learnt in earlier
classes.

6.2 Basic Terms and Definitions

Recall that a part (or portion) of a line with two end points is called a line-segment and a part
of a line with one end point is called a ray. Note that the line segment AB is denoted by AB, and
its length is denoted by AB. The ray AB is denoted by ag, and a line is denoted by ag . However,
we will not use these symbols, and will denote the line segment AB, ray AB, length AB and
line AB by the same symbol, AB. The meaning will be clear from the context. Sometimes small
letters I, m, n, etc. will be used to denote lines.

If three or more points lie on the same line, they are called collinear points; otherwise
they are called non-collinear points.

Recall that an angle is formed when two rays originate from the same end point. The rays
making an angle are called the arms of the angle and the end point is called the vertex of the
angle. You have studied different types of angles, such as acute angle, right angle, obtuse angle,
straight angle and reflex angle in earlier classes (see Fig. 6.1).

[N}

‘\x

(i) acute angle : 0° <x <90° (i) rightangle: y=90° (iii) obtuse angle : 90° < z< 180°

(iv) straight angle : s=180° (v) reflex angle : 180° <t < 360°

v

&
< rd

Fig. 6.1 : Types of Angles
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An acute angle measures between 0° and 90°, whereas a right angle is exactly equal to
90°. An angle greater than 90° but less than 180° is called an obtuse angle. Also, recall that a
straight angle is equal to 180°. An angle which is greater than 180° but less than 360° is called
a reflex angle. Further, two angles whose sum is 90° are called complementary angles, and

two angles whose sum is 180° are called supplementary angles.

You have also studied about adjacent angles in the
earlier classes (see Fig. 6.2). Two angles are adjacent, if
they have a common vertex, a common arm and their non-
common arms are on different sides of the common arm.
InFig. 6.2, Z~ ABD and £ DBC are adjacent angles. Ray
BD is their common arm and point B is their common
vertex. Ray BA and ray BC are non common arms.
Moreover, when two angles are adjacent, then their sum is
always equal to the angle formed by the two non-common
arms. So, we can write

ZABC=ZABD + 2 DBC.

Note that £ ABC and £ ABD are not adjacent angles.
Why? Because their non-common arms BD and BC lie on
the same side of the common arm BA.

If the non-common arms BA and BC in
Fig. 6.2, forma line then it will look like Fig. 6.3. In this
case, £ ABD and ~ DBC are called linear pair of angles.

You may also recall the vertically opposite angles
formed when two lines, say AB and CD, intersect each
other, say at the point O (see Fig. 6.4). There are two pairs
of vertically opposite angles.

One pair is ZAOD and #BOC. Can you find the other
pair?

A

B ¢

Fig. 6.2 : Adjacent angles

7z

4
<

A B

Fig. 6.3 : Linear pair of angles

Fig. 6.4 : Vertically opposite
angles
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6.3 Intersecting Lines and Non-intersecting Lines

Draw two different lines PQ and RS on a paper. You will see that you can draw them in two
different ways as shown in Fig. 6.5 (i) and Fig. 6.5 (ii).

R S
(1) Intersecting lines (i1) Non-intersecting (parallel) lines
Fig. 6.5 : Different ways of drawing two lines

Recall the notion of a line, that it extends indefinitely in both directions. Lines PQ and RS
in Fig. 6.5 (i) are intersecting lines and in Fig. 6.5 (ii) are parallel lines. Note that the lengths of
the common perpendiculars at different points on these parallel lines is the same. This equal
length is called the distance between two parallel lines.

6.4 Pairs of Angles

In Section 6.2, you have learnt the definitions of some of the ¢

pairs of angles such as complementary angles, supplementary

angles, adjacent angles, linear pair of angles, etc. Can you think

of some relations between these angles? Now, let us find out

the relation between the angles formed when aray standsona N
line. Draw a figure in which a ray stands on a line as shown in CA O B~
Fig. 6.6. Name the line as AB and the ray as OC. What are the Fig. 6.6 : Linear pair of angles

angles formed at the point O? They are £ AOC, £ BOCand £

AOB.

Can we write Z AOC + ~ BOC = £ AOB? (1)
Yes! (Why? Refer to adjacent angles in Section 6.2)

What is the measure of £ AOB? Itis 180°. (Why?) (2)

From (1) and (2), can you say that £ AOC + £ BOC =180°? Yes! (Why?)

From the above discussion, we can state the following Axiom:
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Axiom 6.1 : If a ray stands on a line, then the sum of two adjacent angles so formed is 180°.

Recall that when the sum of two adjacent angles is 180°, then they are called a linear pair
of angles.

In Axiom 6.1, it is given that ‘a ray stands on a line’. From this “given’, we have concluded
that ‘the sum of two adjacent angles so formed is 180°°. Can we write Axiom 6.1 the other way?
That is, take the ‘conclusion’ of Axiom 6.1 as ‘given’ and the “‘given’ as the ‘conclusion’. So it
becomes:

(A) If the sum of two adjacent angles is 180°, then a ray stands on a line (that is, the non-
common arms form a line).

Now you see that the Axiom 6.1 and statement (A) are in a sense the reverse of each others.
We call each as converse of the other. We do not know whether the statement (A) is true or not.
Let us check. Draw adjacent angles of different measures as shown in Fig. 6.7. Keep the ruler
along one of the non-common arms in each case. Does the other non-common arm also lie
along the ruler?

60°
80°

60°
30°

® (1)

o/N\5° B

M N
TTH[TTH[TTTT[‘TTTT“TTT[HTT[THT[TTH[TTTHHH“TH‘[UH“HHHH

(iii)

Fig. 6.7 : Adjacent angles with different measures
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You will find that only in Fig. 6.7 (iii), both the non-common arms lie along the ruler, that is,
points A, O and B lie on the same line and ray OC stands on it. Also see that # AOC + ~ COB =
125° +55° = 180°. From this, you may conclude that statement (A) is true. So, you can state in
the form of an axiom as follows:

Axiom 6.2 : If the sum of two adjacent angles is 180°, then the non-common arms of the
angles form a line.

For obvious reasons, the two axioms above together is called the Linear Pair Axiom.
Let us now examine the case when two lines intersect each other.

Recall, from earlier classes, that when two lines intersect, the vertically opposite angles
are equal. Let us prove this result now. See Appendix 1 for the ingredients of a proof, and keep
those in mind while studying the proof given below.

Theorem 6.1 : If two lines intersect each other, then the vertically opposite angles are equal.

Proof : In the statement above, it is given that ‘two lines
intersect each other’. So, let AB and CD be two lines
intersecting at O as shown in Fig. 6.8. They lead to two
pairs of vertically opposite angles, namely,

(i) £ AOC and « BOD (ii)) £« AOD and

Fig. 6.8 : Vertically opposite angles

2 BOC.

We need to prove that £ AOC=~2BODand L AOD =~/

BOC.

Now, ray OAstands on line CD.

Therefore, £ AOC + £ AOD =180° (Linear pair axiom) (1)
Can we write £ AOD + 2 BOD =180°? Yes! (Why?) (2)

From (1) and (2), we can write

ZAOC+ £ AOD = £ AOD + «BOD
This implies that £ AOC=2BOD (Refer Section 5.2, Axiom 3)
Similarly, it can be proved that ZAOD = ZBOC

Now, let us do some examples based on Linear Pair Axiom and Theorem 6.1.
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Example 1 : In Fig. 6.9, lines PQ and RS intersect each other at
point O. If £ POR : ~ ROQ = 5:7, find all the angles.

Solution : £ POR +Z ROQ = 180°

(Linear pair of angles)

But ZPOR:ZROQ=5:7 “‘ °
(Given) “

R
> Q
Therefore, Z POR = I x 180° = 75°
Fig. 6.9
- 7

Similarly, ZROQ = Ty x 180° = 105°

Now, / POS = Z/ROQ = 105° (\ertically opposite angles)

and £ S0Q = ZPOR = 75° (Vertically opposite angles)

Example 2 : In Fig. 6.10, ray OS stands on a line POQ. Ray OR and ray OT are angle bisectors of £ POS
and £ SOQ, respectively. If ~ POS = x, find £ ROT.

Solution : Ray OS stands on the line POQ.

Therefore, Z/ POS + £ SOQ = 180° R S

But, Z POS =x T
Therefore, X+ £ SOQ = 180° P O Q
So, 2/ SOQ = 180° — x Fig.6.10

Now, ray OR bisects ~ POS, therefore,

1
— x / POS

Z ROS
2

1
2 X7

1
~ x /S0Q

Similarly, Z SOT >

—lx 180°
= 5 *(180°-%)

90° — —
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S
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529, X+ £ S0OQ = 180°

S°33§J, Z SOQ = 180° - x

B, 88ea0 OR, £ POS Q $3083otss 3‘@006. S°a>é§,
1
Z ROS = E x / POS

X
XX= —

RGO, ZSOT = = x £S0Q

= = x (180° - X)

N, NP, N

90° — X
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Now, /ZROT=/ZROS+ £ SOT
= X490 2
2 2
=90°
Example 3 :InFig. 6.11, OP, OQ, OR and OS are four rays.
Prove that £ POQ + £ QOR + £ SOR + £ POS = 360°.

Solution : In Fig. 6.11, you need to produce any of the rays
OP, OQ, OR or OS backwards to a point. Let us produce ray
OQ backwards to a point T so that TOQ is a line (see Fig.
6.12).

Now, ray OP stands on line TOQ.
Therefore, «ZTOP+/P0OQ=180° (1)
(Linear pair axiom)

Similarly, ray OS stands on line TOQ.
Therefore, ~ZTOS+~2S0Q=180° (2)
But ZS0Q=2SOR+ ZQOR
So, (2) becomes

ZTOS+ ZSOR+ ZQOR =180°
Now, adding (1) and (3), you get
ZTOP+ /ZPOQ+ £TOS+ ZSOR+ £ QOR =360°
But ZTOP+ 2 TOS=~ZPOS
Therefore, (4) becomes
ZPOQ+ /QOR+ ZSOR+/POS=360°

EXERCISE6.1

1.In Fig. 6.13, lines AB and CD intersect at O. If
Z AOC + « BOE = 70° and £« BOD = 40°, find
« BOE and reflex £ COE.

Fig. 6.12

3)

(4)
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S, ZROT = ZROS + 2 SOT
= X o002
2 2
= 90°

aTedeses 3: 500 6.116° OP, 0Q, OR £8c OS en arenih &een Z/POQ
+/ QOR + Z/ SOR + Z POS = 360° &3 d&-20i508.

S %0 6.116° OP, OQ, OR Bre 0S &88ewed® dpar o8 ool a8
Doty HBH SEH F&AoTD. 0Q 88erQ T H8H 98D &ATTo.
oJd TOQ a8 B ©H&H0d (0 6.12 SeEod).

559, OP 88eax5n TOQ T3 &0t
sad, Z TOP + ZPOQ = 180° (1)
B s gysi)

RJGor, 8o OS, By TOQ 2 &otD.

=08, ZTOS + £S0Q =180°  (2)
S Z/'SOQ = / SOR + / QOR
wHS (2) So0d

Z/ TOS + / SOR + / QOR = 180°
S, (1) $6050 (3) Sesre

/ TOP + / POQ + / TOS + / SOR + / QOR = 360°
=0 ZTOP + £ TOS = £ POS
=5, (4) $008

ZPOQ + ZQOR + £ SOR + £ POS = 360°

g0 6.1

1. $606.136° AB 500k CD {6¥Cpen 0 Do) 5 eododEotran.
Z AOC + / BOE = 70° £5080% ~ BOD = 40° @ond ~ BOE £8050
SoPS5ES a0 £ COE o EHiPS08.

S0 6.11

(4)

v

&+
<

A 0 B

Seo 6.13
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2. InFig. 6.14, lines XY and MN intersect at O. If
ZPOY=90°anda:b=2:3,findc.

X

C
N
Fig.6.14
3. InFig. 6.15, Z PQR = Z PRQ, then prove that P
ZPQS=/PRT. /\\

< IS Q R T" 7

Fig.6.15

4. InFig. 6.16, ifx +y=w+ z, then prove that AOB
isaline.

5. InFig.6.17,POQisaline. Ray OR is perpendicular
to line PQ. OS is another ray lying between rays S
OP and OR. Prove that

1
£ROS= 2 (£Q0S~£POS).

v

N

=+
O
L+

6. Itisgiventhat « XYZ=64°and XY isproduced
to point P. Draw a figure from the given
information. If ray YQ bisects # ZYP, find Z XYQ Fig.6.17
andreflex ZQYP.
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EPK08.
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6.5 Lines Parallel to the Same Line

If two lines are parallel to the same line, will they be parallel to each other? Let us check it. See
Fig. 6.18 in which line m || line I and line n || line I.

Let us draw a line t transversal for the lines, I, m and n. It is given that
linem || line land line n || line 1.

Therefore, £/ 1=22 and £1=/3 t
(Corresponding angles axiom) . ,\\1 .

So, /2= /3(Why?) \\2

But £ 2and £ 3 are corresponding angles and they are equal. " >

Therefore, you can say that \\3

n
Linem||Linen \/
(Converse of corresponding angles axiom) Fig. 6.18
This result can be stated in the form of the following theorem:

Theorem 6.6 : Lines which are parallel to the same line are parallel to each other.
Note : The property above can be extended to more than two lines also.

Now, let us solve some examples related to parallel lines.

Example 4 :InFig. 6.19, if PQ || RS, £ MXQ =135° and £ MYR =40°, find £ XMY.

135°

, 40° ,
R Y s
Fig. 6.19 Fig. 6.20

Solution : Here, we need to draw a line AB parallel to line PQ, through point M as shown in
Fig. 6.20. Now, AB || PQand PQ || RS.
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Therefore, AB| RS (Why?)
Now, Z QXM+ £ XMB = 180°
(AB || PQ, Interior angles on the same side of the transversal XM)

But Z QXM =135°
So, 135° + £ XMB = 180°
Therefore, Z XMB = 45° (¢D)
Now, ZBMY = ZMYR (AB| RS, Alternate angles)
Therefore, ZBMY = 40° (2
Adding (1) and (2), you get

Z XMB + Z BMY = 45° + 40°
That is, Z XMY = 85°

Example 5 : Ifatransversal intersects two lines such that the bisectors of a pair of corresponding
angles are parallel, then prove that the two lines are parallel.

Solution : In Fig. 6.21, a transversal AD intersects two lines PQ and RS at points B and C
respectively. Ray BE is the bisector of £ ABQ and ray CG is the bisector of £ BCS;

and BE || CG.
We are to prove that PQ || RS.

A
E
It is given that ray BE is the bisector of ~ ABQ. . V

Therefore, £ ABE= % Z ABQ

Similarly, ray CG is the bisector of £ BCS. R C\ 3
D
Therefore, ~ BCG = % /£ BCS (2
. Fig. 6.21
But BE || CG and AD is the transversal.
Therefore, ~ ABE= ~/BCG
(Corresponding angles axiom) (3)

Substituting (1) and (2) in (3), you get

%AABQ: % /BCS

That s, ZABQ= «£BCS
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=28, AB | RS (Qoth¥?)
YD, Z QXM + £ XMB = 180°
(AB || PQ, 855 XM 8 28 393 Ko @088 Seren)

S Z QXM = 135°

=HS, 135° + £ XMB = 180°

w0, Z XMB = 45° (1)

SR, Z BMY = Z MYR (AB || RS, ds0088 &een)

w0, Z BMY = 40° 2)

(1) £0605 (2) Sewdirr
Z XMB + Z BMY = 45° + 40°
ST, Z XMY = 85°

S8 5 3ot Sepod ol @6568;3 EVOTRTIANT S Tah) ézﬁe)% &% J0EROED B 238 DSrosBorr &os

&9 oo Bpen DTPoBBore SotrcH 8RB0,

P 1 Hwo 6.218° AD 88 PQ 08¢ RS ed 3ot Tpeih HKre B 5o C Hobde I
podnod. BE 88e0 £ ABQ BwE) &% DDEPOLED B 085w CG &80 ~ BCS D), &% QEDEHOLD

By 5065w BE || CG.
%30 PQ || RS ©9 A&r8079.
BE &880 £ ABQ ?wééﬁ;&s&aoéé B @ BREH.

1
=08, £ ABE = 3 £ ABQ (1)

o8 Qo CG 880, £ BCS D), &% DO of)
1
=28, ZBCG = > Z BCS 2)
5 BE || CG 5805 AD &885Tiep.
=28, Z ABE = Z BCG
(St SS) ?’o&é@éo) (3)
(1) 208650 (2) 0 (3) &° (H&ZPoT™,

1 1
- LABQ= - «£BC
2 Q 2 S
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But, they are the corresponding angles formed by transversal AD with PQ and RS; and are equal.
Therefore, PQ || RS
(Converse of corresponding angles axiom)

Example 6 : InFig. 6.22, AB || CD and CD || EF. Also EA L AB. If £ BEF =55°, find the values
of x, yand z.

Solution 1y +55° = 180°
A—S——E
(Interior angles on the same side of the ‘550
transversal ED) D 3
Therefore, y =180° — 550 = 125° 5 /
X
Again X=y TF
(AB || CD, Corresponding angles axiom) Fig.6.22

Therefore X =125°
Now, since AB || CD and CD || EF, therefore, AB || EF.
So, ZEAB+ ZFEA=180° (Interior angles on the same

side of the transversal EA)

Therefore, 90° + z + 55° = 180°
Which gives z=35°
EXERCISE®6.2

1. InFig.6.23,ifAB||CD,CD ||[EFandy:z=3:7, find x.
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ol PQ || RS

(K3 SR %sée)é DDHBge%00)
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Ko @088 Segen)
S°8D@, y = 180°-55°=125°
Evalovos! X=y

(AB || CD, &3 S3000) g’osé@ééo)

SV V) X = 1250
[»]

=6, AB || CD $06as» CD || EF, 8, AB || EF.

AT

y
BY )x

Seo. 6.22

8]

55°

93, Z EAB + Z FEA = 180° (BT EASD 28 39 Ko
088 Eegoen)
w2, 90° +z + 55° = 180°
& Lo 7= 35°
©g530 6.2

1. &0 6.238° AB|CD, CD || EF 80 y:z=3:7 ©and X Qenddy EHA°sos.

Seo. 6.23
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. InFig.6.24,ifAB ||CD, EF L CD and £ GED =126°, find £ AGE, £ GEFand £ FGE.

AG F B

$ _] $

C E D
Fig. 6.24

. InFig. 6.25, if PQ || ST, £ PQR = 110° and £ RST = 130°, find £ QRS.

[Hint : Draw a line parallel to ST through point R.]
S T
P_Q
110°
R

130°

Fig. 6.25

. InFig.6.26,ifAB||CD, £ APQ=50°and « PRD =127°, findxand y.

Fig. 6.26

. InFig.6.27, PQ and RS are two mirrors placed parallel to each other. An incident ray AB
strikes the mirror PQ at B, the reflected ray moves along the path BC and strikes the
mirror RS at C and again reflects back along CD. Prove that AB || CD.

P B Q
D

A
R C S
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2. %&0. 6.24 5 AB || CD, EF L CD 8050 £ GED =126°, @on £ AGE, £ GEF %8050

/FGE o 8fP808.
AG F B
" 1 "
C E D
Heo 6.24

3. 60 6.25¢° PQ|| ST, £ PQR =110° %8cin £ RST = 130° ewomis £ QRS E0fPi508.
[$0558 : 80D R wegoe ST darogbore a8 Spo Acohod. ]

S T
F Q 130°
110°
R
Heo. 6.25
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Seo. 6.26
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P B Q
D

A
R C S

Seo. 6.27
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6.6 Summary

In this chapter, you have studied the following points:

1. Ifaray standson aline, then the sum of the two adjacent angles so formed is 180° and vice-versa. This property is
called as the Linear pair axiom.

If two lines intersect each other, then the vertically opposite angles are equal.
3. Lineswhich are parallel toa given line are parallel to each other.
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ArPENDIX 1

PROOFS IN MATHEMATICS
I

Al.1 Introduction

Suppose your family owns a plot of land and there is

no fencing around it. Your neighbour decides one day 1

to fence off his land. After he has fenced his land, you

discover that a part of your family’s land has been

enclosed by his fence. How will you prove to your //
neighbour that he has tried to encroach on your land?
Your first step may be to seek the help of the village
elders to sort out the difference in boundaries. But,
suppose opinion

is divided among the elders. Some feel you are right and others feel your neighbour is right.
What can you do? Your only option is to find a way of establishing your claim for the boundaries
of your land that is acceptable to all. For example, a government approved survey map of your
village can be used, if necessary in a court of law, to prove (claim) that you are correct and your
neighbour is wrong.

Let us look at another situation. Suppose your mother has paid the electricity bill of your
house for the month of August, 2005. The bill for September, 2005, however, claims that the
bill for August has not been paid. How will you disprove the claim made by the electricity
department? You will have to produce a receipt proving that your August bill has been paid.

You have just seen some examples that show that in our daily life we are often called upon
to prove that a certain statement or claim is true or false. However, we also accept many
statements without bothering to prove them. But, in mathematics we only accept a statement as
true or false (except for some axioms) if it has been proved to be so, according to the logic of
mathematics.
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In fact, proofs in mathematics have been in existence for thousands of years, and they are
central to any branch of mathematics. The first known proof is believed to have been given by
the Greek philosopher and mathematician Thales. While mathematics was central to many ancient
civilisations like Mesopotamia, Egypt, China and India, there is no clear evidence that they used
proofs the way we do today.

In this chapter, we will look at what a statement is, what kind of reasoning is involved in
mathematics, and what a mathematical proof consists of.

Al.2 Mathematically Acceptable Statements

In this section, we shall try to explain the meaning of a mathematically acceptable statement. A
‘statement’ is a sentence which is not an order or an exclamatory sentence. And, of course,
a statement is not a question! For example,

“What is the colour of your hair?” is not a statement, it is a question.

“Please go and bring me some water.” is a request or an order, not a statement.
“What a marvellous sunset!” is an exclamatory remark, not a statement.
However, “The colour of your hair is black” is a statement.

In general, statements can be one of the following:

e always true

e always false

e ambiguous

The word “ambiguous’ needs some explanation. There are two situations which make a
statement ambiguous. The first situation is when we cannot decide if the statement is always
true or always false. For example, “Tomorrow is Thursday” is ambiguous, since enough of a
context is not given to us to decide if the statement is true or false.

The second situation leading to ambiguity is when the statement is subjective, that is, it is
true for some people and not true for others. For example, “Dogs are intelligent” is ambiguous
because some people believe this is true and others do not.

Example 1 : State whether the following statements are always true, always false or ambiguous.
Justify your answers.

(i) Thereare 8days in aweek.
(i1) Itisraining here.
(ii1) The sun sets in the west.
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(iv) Gauriisakind girl.

(v) The product of two odd integers is even.

(vi) The product of two even natural numbers is even.

Solution :

(i) Thisstatement is always false, since there are 7 days in a week.

(i) This statement is ambiguous, since it is not clear where “here’ is.

(i) This statement is always true. The sun sets in the west no matter where we live.

(iv) This statement is ambiguous, since it is subjective—Gauri may be kind to some and not to
others.

(v) This statement is always false. The product of two odd integers is always odd.

(vi) Thisstatement is always true. However, to justify that it is true we need to do some work.
It will be proved in Section Al.4.

As mentioned before, in our daily life, we are not so careful about the validity of statements.
For example, suppose your friend tells you that in July it rains everyday in Manantavadi, Kerala.
In all probability, you will believe her, even though it may not have rained for a day or two in
July. Unless you are a lawyer, you will not argue with her!

As another example, consider statements we often
make to each other like “it is very hot today”. We easily
accept such statements because we know the context even
though these statements are ambiguous. ‘It is very hot
today’ can mean different things to different people
because what is very hot for a person from Kumaon may
not be hot for a person from Chennai.

But a mathematical statement cannot be ambiguous. In mathematics, a statement is only
acceptable or valid, if it is either true or false. We say that a statement is true, if it is always
true otherwise it is called a false statement.

For example, 5 + 2 = 7 is always true, so ‘5 + 2 = 7’ is a true statement and
5+ 3 =7 s a false statement.
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Example 2 : State whether the following statements are true or false:

(1) The sum of the interior angles of a triangle is 180°.

(i) Every odd number greater than 1 is prime.

(iit) For any real number X, 4x + x = 5x.

(iv) For every real number x, 2x > X.

(v) Forevery real number x, x?> x.

(vi) Ifaquadrilateral has all its sides equal, then it is a square.

Solution :

(1)  This statement is true. You have already proved this in Chapter 6.

(i) Thisstatement is false; for example, 9 is not a prime number.

(iit) This statement is true.

(iv) This statement is false; for example, 2 x (-1) = -2, and — 2 is not greater than —1.
(v) Thisstatementis false; for example, [%)Z =%, and % IS not greater than %

(vi) This statement is false, since a rhombus has equal sides but need not be a square.

You might have noticed that to establish that a statement is not true according to mathematics,
all we need to do is to find one case or example where it breaks down. So in (ii), since 9 is not
a prime, it is an example that shows that the statement “Every odd number greater than 1 is
prime” is not true. Such an example, that counters a statement, is called a counter-example. We
shall discuss counter-examples in greater detail in Section A1.5.

You might have also noticed that while Statements (iv), (v) and (vi) are false, they can be
restated with some conditions in order to make them true.

Example 3 : Restate the following statements with appropriate conditions, so that they become
true statements.

(1) Forevery real number x, 2x > Xx.

(if) For every real number X, X* > X.

(ii1) If you divide a number by itself, you will always get 1.

(iv) The angle subtended by a chord of a circle at a point on the circle is 90°.
(v) Ifaquadrilateral has all its sides equal, then it is a square.
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Solution :

(1) Ifx>0,then2x>x.

(i) Mfx<0orx>1,then x*>x.

(ii1) Ifyou divide a number except zero by itself, you will always get 1.

(iv) The angle subtended by a diameter of a circle at a point on the circle is 90°.
(v) Ifaquadrilateral has all its sides and interior angles equal, then it is a square.

EXERCISEAL1

1. State whether the following statements are always true, always false or ambiguous. Justify
your answers.
(i) Thereare 13 months inayear.
(i) Diwali falls on a Friday.
(iii) The temperature in Magadi is 26° C.
(iv) The earth has one moon.
(v) Dogs canfly.
(vi) February has only 28 days.
2. State whether the following statements are true or false. Give reasons for your answers.
(1) The sum of the interior angles of a quadrilateral is 350°.
(ii) For any real number x, x> 0.
(i) Arhombus is a parallelogram.
(iv) The sum of two even numbers is even.
(v) The sum of two odd numbersis odd.
3. Restate the following statements with appropriate conditions, so that they become true
statements.
(1) All prime numbers are odd.
(i) Two times a real number is always even.
(ii1) For any x, 3x +1 > 4.
(iv) Forany x, x3>0.
(v) Ineverytriangle, amedian is also an angle bisector.

Al.3 Deductive Reasoning

The main logical tool used in establishing the truth of an unambiguous statement is deductive
reasoning. To understand what deductive reasoning is all about, let us begin with a puzzle for
you to solve.
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You are given four cards. Each card has a number printed on one side and a letter on the
other side.

Suppose you are told that these cards follow the rule:
“If a card has an even number on one side, then it has a vowel on the other side.”
What is the smallest number of cards you need to turn over to check if the rule is true?

Of course, you have the option of turning over all the cards and checking. But can you
manage with turning over a fewer number of cards?

Notice that the statement mentions that a card with an even number on one side has a vowel
on the other. It does not state that a card with a vowel on one side must have an even number on
the other side. That may or may not be so. The rule also does not state that a card with an odd
number on one side must have a consonant on the other side. It may or may not.

So, do we need to turn over ‘A’? No! Whether there is an even number or an odd number on
the other side, the rule still holds.

What about ‘5°? Again we do not need to turn it over, because whether there is a vowel or a
consonant on the other side, the rule still holds.

But you do need to turn over V and 6. If V has an even number on the other side, then the rule
has been broken. Similarly, if 6 has a consonant on the other side, then the rule has been broken.

The kind of reasoning we have used to solve this puzzle is called deductive reasoning. Itis
called “deductive’ because we arrive at (i.e., deduce or infer) a result or a statement from a
previously established statement using logic. For example, in the puzzle above, by a series of
logical arguments we deduced that we need to turn over only V and 6.

Deductive reasoning also helps us to conclude that a particular statement is true, because it
is a special case of a more general statement that is known to be true. For example, once we
prove that the product of two odd numbers is always odd, we can immediately conclude (without
computation) that 70001 x 134563 is odd simply because 70001 and 134563 are odd.
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Deductive reasoning has been a part of human thinking for centuries, and is used all the time
in our daily life. For example, suppose the statements “The flower Solaris blooms, only if the
maximum temperature is above 28° C on the previous day” and “Solaris bloomed in Imaginary
Valley on 15th September, 2005 are true. Then using deductive reasoning, we can conclude
that the maximum temperature in Imaginary Valley on 14th September, 2005 was more than 28°
C.

Unfortunately we do not always use correct reasoning in our daily life! We often come to
many conclusions based on faulty reasoning. For example, if your friend does not smile at you
one day, then you may conclude that she is angry with you. While it may be true that “if she is
angry with me, she will not smile at me”, it may also be true that “if she has a bad headache, she
will not smile at me”. Why don’t you examine some conclusions that you have arrived at in your
day-to-day existence, and see if they are based on valid or faulty reasoning?

EXERCISE Al.2

1. Use deductive reasoning to answer the following:

(1) Humans are mammals. All mammals are vertebrates. Based on these two statements,
what can you conclude about humans?

(i) Anthony is a barber. Dinesh had his hair cut. Can you conclude that Antony cut
Dinesh’s hair?

(iit) Martians have red tongues. Gulag is a Martian. Based on these two statements, what
can you conclude about Gulag?

(iv) If it rains for more than four hours on a particular day, the gutters will have to be
cleaned the next day. It has rained for 6 hours today. What can we conclude about
the condition of the gutters tomorrow?

(v) What is the fallacy in the cow’s reasoning in the cartoon below?

All dogs have tails.

| have a tail.
Therefore | am a
dog.
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2. Once again you are given four cards. Each card has a number printed on one side and a
letter on the other side. Which are the only two cards you need to turn over to check
whether the following rule holds?

“If a card has a consonant on one side, then it has an odd number on the other side.”

Al.4 Theorems, Conjectures and Axioms

So far we have discussed statements and how to check their validity. In this section, you will
study how to distinguish between the three different kinds of statements mathematics is built
up from, namely, a theorem, a conjecture and an axiom.

You have already come across many theorems before. So, what is a theorem? A mathematical
statement whose truth has been established (proved) is called a theorem. For example, the
following statements are theorems, as you will see in Section A1.5.

Theorem A1.1 : The sum of the interior angles of a triangle is 180°.
Theorem A1.2 : The product of two even natural numbers is even.

Theorem AL.3 : The product of any three consecutive even natural numbers is divisible by
16.

Aconjecture is a statement which we believe is true, based on our mathematical understanding
and experience, that is, our mathematical intuition. The conjecture may turn out to be true or
false. If we can prove it, then it becomes a theorem. Mathematicians often come up with
conjectures by looking for patterns and making intelligent mathematical guesses. Let us look at
some patterns and see what kind of intelligent guesses we can make.

Example 4 : Take any three consecutive even numbers and add them, say,
2+4+6=12,4+6+8=18,6+8+10=24,8+10+12=230,20 +22 + 24 = 66.
Is there any pattern you can guess in these sums? What can you conjecture about them?
Solution : One conjecture could be :

(1) the sum of three consecutive even numbers is even.

Another could be :

(i1) the sum of three consecutive even numbers is divisible by 6.
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Example 5 : Consider the following pattern of numbers called the Pascal’s Triangle:
Line Sum of numbers

1 1 1

2 1 1 2

3 1 2 1 4

4 1 3 3 1 8

5 1 4 6 4 1 16

6 1 5 10 10 5 1 32
7
8

What can you conjecture about the sum of the numbers in Lines 7 and 8? What about the
sum of the numbers in Line 21? Do you see a pattern? Make a guess about a formula for the sum
of the numbers in line n.

Solution : Sum of the numbers in Line 7 =2 x 32 =64 = 2°
Sum of the numbers in Line 8 =2 x 64 =128 =2’
Sum of the numbers in Line 21 = 2%°

Sum of the numbers in Line n = 2"-1

Example 6 : Consider the so-called triangular numbers T :

—
—
oo
—

Fig. Al.1

The dots here are arranged in such a way that they form a triangle. Here T, = 1,
T,=3,T,=6,T,=10, and so on. Can you guess what T, is? What about T,? What about T ?
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Make a conjecture about T .

It might help if you redraw them in the following way.

T T. T T

1 2 3 4
Fig. AL2
solution T,=  1+2+3+4+5=15= 220
T,=1+2+3+4+45+6=21= "
_nx(n+1
7= 0D

A favourite example of a conjecture that has been open (that is, it has not been proved to be
true or false) is the Goldbach conjecture named after the mathematician Christian Goldbach
(1690 — 1764). This conjecture states that “every even integer greater than 4 can be expressed
as the sum of two odd primes.” Perhaps you will prove that this result is either true or false,
and will become famous!

You might have wondered — do we need to prove everything we encounter in mathematics,
and if not, why not?
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The fact is that every area in mathematics is based on some statements which are assumed
to be true and are not proved. These are “self-evident truths” which we take to be true without
proof. These statements are called axioms. In Chapter 5, you would have studied the axioms and
postulates of Euclid. (We do not distinguish between axioms and postulates these days.)

For example, the first postulate of Euclid states:

A straight line may be drawn from any point to any other point.
And the third postulate states:

A circle may be drawn with any centre and any radius.

These statements appear to be perfectly true and Euclid assumed them to be true. Why? This
IS because we cannot prove everything and we need to start somewhere. We need some
statements which we accept as true and then we can build up our knowledge using the rules of
logic based on these axioms.

You might then wonder why we don’t just accept all statements to be true when they appear
self-evident. There are many reasons for this. Very often our intuition can be wrong, pictures or
patterns can deceive and the only way to be sure that something is true is to prove it. For
example, many of us believe that if a number is multiplied by another, the result will be larger
than both the numbers. But we know that this is not always true: for example, 5 x 0.2 =1, which
is less than 5.

Also, look at the Fig. A1.3. Which line segment is longer, AB or CD?

A%
Line sagment AB
cr [
Line segmant 5O
Fig. ALl.3

It turns out that both are of exactly the same length, even though AB appears shorter!

You might wonder then, about the validity of axioms. Axioms have been chosen based on our
intuition and what appears to be self-evident. Therefore, we expect them to be true. However, it
is possible that later on we discover that a particular axiom is not true. What is a safeguard
against this possibility? We take the following steps:

(i) Keep the axioms to the bare minimum. For instance, based on only axioms and five
postulates of Euclid, we can derive hundreds of theorems.
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(i) Make sure the axioms are consistent.

We say a collection of axioms is inconsistent, if we can use one axiom to show that
another axiom is not true. For example, consider the following two statements. We
will show that they are inconsistent.

Statement1: No whole number is equal to its successor.

Statement 2: Awhole number divided by zero is a whole number.

(Remember, division by zero is not defined. But just for the moment, we assume that
itis possible, and see what happens.)

From Statement 2, we get — =a, where a is some whole number. This implies that, 1
= 0. But this disproves Statement 1, which states that no whole number is equal to its
successor.

(ii1) A false axiom will, sooner or later, result in a contradiction. We say that there is a
contradiction, when we find a statement such that, both the statement and its
negation are true. For example, consider Statement 1 and Statement 2 above once
again.

From Statement 1, we can derive the result that 2 = 1.

Now look at x? — x2. We will factorise it in two different ways as follows:
(i) x*=x2=x(x-x)and

(i) x2=x2=(xX+x)(x-Xx)

S0, X(X = X) = (X + X)(X = ).

From Statement 2, we can cancel (x — x) from both sides.

We get x = 2x, which in turn implies 2 = 1.

So we have both the statement 2 = 1 and its negation, 2 = 1, true. This is a contradiction. The
contradiction arose because of the false axiom, that a whole number divided by zero isa whole
number.

So, the statements we choose as axioms require a lot of thought and insight. We must make
sure they do not lead to inconsistencies or logical contradictions. Moreover, the choice of
axioms themselves, sometimes leads us to new discoveries. From Chapter 5, you are familiar
with Euclid’s fifth postulate and the discoveries of non-Euclidean geometries. You saw that
mathematicians believed that the fifth postulate need not be a postulate and is actually a theorem
that can be proved using just the first four postulates. Amazingly these attempts led to the
discovery of non-Euclidean geometries.

We end the section by recalling the differences between an axiom, a theorem and a
conjecture. An axiom is a mathematical statement which is assumed to be true
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without proof; a conjecture is a mathematical statement whose truth or falsity is yet to be
established; and a theorem is a mathematical statement whose truth has been logically
established.

EXERCISEA13

1. Take any three consecutive even numbers and find their product; for example,
2x4x6=48,4x%x6x 8=192, and so on. Make three conjectures about these products.

2. Go back to Pascal’s triangle.
Linel:1=11°
Line2: 1 1=111
Line3:1 2 1=112
Make a conjecture about Line 4 and Line 5. Does your conjecture hold? Does your
conjecture hold for Line 6 too?

3. Letuslook at the triangular numbers (see Fig.A1.2) again. Add two consecutive triangular
numbers. Forexample, T, +T,=4,T,+T,=9, T+ T,=16.

What about T, + T, ? Make a conjectureabout T__ +T .
4. Look at the following pattern:

12=1
112=121
1112= 12321

11112 = 1234321
111112 = 123454321
Make a conjecture about each of the following:
1111112 =
1111111% =
Check if your conjecture is true.
5. Listfive axioms (postulates) used in this book.
Al1.5 What is a Mathematical Proof?

Let us now look at various aspects of proofs. We start with understanding the difference between
verification and proof. Before you studied proofs in mathematics, you were mainly asked to
verify statements.

For example, you might have been asked to verify with examples that “the product of
two even numbers is even”. So you might have picked up two random even numbers,
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say 24 and 2006, and checked that 24 x 2006 = 48144 is even. You might have done so for
many more examples.

Also, you might have been asked as an activity to draw several triangles in the class and
compute the sum of their interior angles. Apart from errors due to measurement, you would
have found that the interior angles of a triangle add up to 180°.

What is the flaw in this method? There are several problems with the process of verification.
While it may help you to make a statement you believe is true, you cannot be sure that it is true
in all cases. For example, the multiplication of several pairs of even numbers may lead us to
guess that the product of two even numbers is even. However, it does not ensure that the product
of all pairs of even numbers is even. You cannot physically check the products of all possible
pairs of even numbers. If you did, then like the girl in the cartoon, you will be calculating the
products of even numbers for the rest of your life. Similarly, there may be some triangles
which you have not yet drawn whose interior angles do not add up to 180°. We cannot measure
the interior angles of all possible triangles.

, even , even
At age 8 At age 16
, even , even

At age 36 At age 86
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Moreover, verification can often be misleading. For example, we might be tempted to
conclude from Pascal’s triangle (Q.2 of Exercise A1.3), based on earlier verifications, that 11°
= 15101051. But in fact 11° =161051.

So, you need another approach that does not depend upon verification for some cases only.
There is another approach, namely “proving a statement’. A process which can establish the
truth of a mathematical statement based purely on logical arguments is called a mathematical
proof.

In Example 2 of Section Al.2, you saw that to establish that a mathematical statement is
false, it is enough to produce a single counter-example. So while it is not enough to establish
the validity of a mathematical statement by checking or verifying it for thousands of cases, it is
enough to produce one counter-example to disprove a statement (i.e., to show that something
is false). This point is worth emphasising.

Girls don’t
climb trees.

To show that a mathematical statement is false, it is enough to find a single counter-
example.

So, 7+ 5 =12 is a counter-example to the statement that the sum of two odd numbers is
odd.

Let us now look at the list of basic ingredients in a proof:
(i) Toprove atheorem, we should have a rough idea as to how to proceed.

(i1) The information already given to us in a theorem (i.e., the hypothesis) has to be clearly
understood and used.
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(iii)

(iv)

For example, in Theorem Al.2, which states that the product of two even numbers is
even, we are given two even natural numbers. So, we should use their properties. In the
Factor Theorem (in Chapter 2), you are given a polynomial p(x) and are told that p(a) = 0.
You have to use this to show that (x — a) is a factor of p(x). Similarly, for the converse
of the Factor Theorem, you are given that (x — a) is a factor of p(x), and you have to use
this hypothesis to prove that p(a) =0.

You can also use constructions during the process of proving a theorem. For example,
to prove that the sum of the angles of a triangle is 180°, we draw a line parallel to one of
the sides through the vertex opposite to the side, and use properties of parallel lines.

A proof is made up of a successive sequence of mathematical statements. Each statement
ina proof is logically deduced froma previous statement in the proof, or from a theorem
proved earlier, or an axiom, or our hypothesis.

The conclusion of a sequence of mathematically true statements laid out ina logically
correct order should be what we wanted to prove, that is, what the theorem claims.

To understand these ingredients, we will analyse Theorem Al.1 and its proof. You have already
studied this theorem in Chapter 6. But first, a few comments on proofs in geometry. We often
resort to diagrams to help us prove theorems, and this is very important. However, each statement
in the proof has to be established using only logic. \ery often, we hear students make statements
like “Those two angles are equal because in the drawing they look equal” or “that angle must be
90°, because the two lines look as if they are perpendicular to each other”. Beware of being
deceived by what you see (remember Fig AL1.3)! .

So now let us go to Theorem Al.1.

Theorem A1.1 : The sum of the interior angles of a triangle is 180°.

Proof :

Consider a triangle ABC (see Fig. Al.4).

We have to prove that #/ ABC + « BCA+ « CAB =180° (1)

FigA 1.4
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Construct a line DE parallel to BC passing through A. (2)
DE is parallel to BC and AB is a transversal.
So, £ DAB and £ ABC are alternate angles. Therefore, by Theorem 6.2, Chapter 6, they are

equal, i.e. « DAB=ZABC 3)
Similarly, £ CAE = ZACB (4)
Therefore, ~ ABC + ~ BAC+ Z/ACB=2DAB +2 BAC+ Z CAE (5)
But £ DAB +~2 BAC + « CAE = 180°, since they form a straight angle. (6)
Hence, £ ABC + Z BAC+ £ ACB =180°. (7)

Now, we comment on each step of the proof.
Step 1 : Our theorem is concerned with a property of triangles, so we begin with a triangle.

Step 2 : This is the key idea — the intuitive leap or understanding of how to proceed so as to be
able to prove the theorem. Very often geometric proofs require a construction.

Steps 3 and 4 : Here we conclude that # DAE = Z ABC and £ CAE = Z ACB, by using the fact
that DE is parallel to BC (our construction), and the previously proved Theorem 6.2, which
states that if two parallel lines are intersected by a transversal, then the alternate angles are
equal.

Step 5 : Here we use Euclid’s axiom (see Chapter 5) which states that: “If equals are added to
equals, the wholes are equal” to deduce

ZABC+ /£BAC+ ZLACB=ZDAB +/ZBAC+ £ CAE.

That is, the sum of the interior angles of the triangle are equal to the sum of the angles on a
straight line.

Step 6 : Here we use the Linear pair axiom of Chapter 6, which states that the angles on a
straight line add up to 180°, to show that « DAB +2 BAC + £ CAE =180°.

Step 7 : We use Euclid’s axiom which states that “things which are equal to the same thing are
equal to each other” to conclude that # ABC + « BAC + Z/ ACB =2 DAB +/ BAC + £ CAE
= 180°. Notice that Step 7 is the claim made in the theorem we set out to prove.

We now prove Theorems Al.2 and Al.3 without analysing them.
Theorem A1.2 : The product of two even natural numbers is even.
Proof : Letxandy be any two even natural numbers.

We want to prove that xy is even.
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Since x and y are even, they are divisible by 2 and can be expressed in the form
X = 2m, for some natural number m and y = 2n, for some natural number n.
Then xy =4 mn. Since 4 mn is divisible by 2, so is xy.

Therefore, xy is even.

Theorem AL.3 : The product of any three consecutive even natural numbers is divisible by
16.

Proof : Any three consecutive even numbers will be of the form 2n, 2n + 2 and
2n + 4, for some natural number n. We need to prove that their product
2n(2n + 2)(2n + 4) is divisible by 16.
Now, 2n(2n + 2)(2n + 4) = 2n x 2(n +1) x 2(n + 2)
=2x2x2n(n+1)(n+2)=8n(n+ 1)(n+2).
Now we have two cases. Either niseven or odd. Letus examine each case.
Suppose n is even : Then we can write n = 2m, for some natural number m.
And, then 2n(2n + 2)(2n + 4) =8n(n + 1)(n + 2) = 16m(2m + 1)(2m + 2).
Therefore, 2n(2n + 2)(2n + 4) is divisible by 16.
Next, suppose nis odd. Then n+ 1is even and we can write n+ 1 = 2r, for some natural number
r.
We then have :2n(2n + 2)(2n + 4) =8n(n + 1)(n + 2)
=8(2r-1) x 2rx (2r + 1)
=16r(2r - 1)(2r + 1)
Therefore, 2n(2n + 2)(2n + 4) is divisible by 16.
So, in both cases we have shown that the product of any three consecutive even numbers is
divisible by 16.

We conclude this chapter with a few remarks on the difference between how mathematicians
discover results and how formal rigorous proofs are written down. As mentioned above, each
proof has a key intuitive idea (sometimes more than one). Intuition is central to a mathematician’s
way of thinking and discovering results. Very often the proof of a theorem comes to a
mathematician all jumbled up. A mathematician will often experiment with several routes of
thought, and logic, and examples, before she/he can hit upon the correct solution or proof. Itis
only after the creative phase subsides that all the arguments are gathered together to form a
proper proof.

It is worth mentioning here that the great Indian mathematician Srinivasa Ramanujan used
very high levels of intuition to arrive at many of his statements, which
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he claimed were true. Many of these have turned out be true
and are well known theorems. However, even to this day
mathematicians all over the world are struggling to prove
(or disprove) some of his claims (conjectures).

1.

o 0 bk~ w

Srinivasa Ramanujan

(1887-1920)
EXERCISEA14 Fig. AL5

Find counter-examples to disprove the following statements:

(i) If the corresponding angles in two triangles are equal, then the triangles are
congruent.

(i) Aquadrilateral with all sides equal is a square.

(iit) A quadrilateral with all angles equal is a square.

(iv) Forintegersaandb, \Ja> +b> =a+b

(v) 2n?+ 11 isa prime for all whole numbers n.

(vi) n?—n+41is a prime for all positive integers n.

Take your favourite proof and analyse it step-by-step along the lines discussed in Section

AL.5 (what is given, what has been proved, what theorems and axioms have been used,

and so on).

Prove that the sum of two odd numbers is even.

Prove that the product of two odd numbers is odd.

Prove that the sum of three consecutive even numbers is divisible by 6.

Prove that infinitely many points lie on the line whose equation is y = 2x.

(Hint : Consider the point (n, 2n) for any integer n.)

You must have had a friend who must have told you to think of a number and do various

things to it, and then without knowing your original number, telling you what number you

ended up with. Here are two examples. Examine why they work.

(1) Choose a number. Double it. Add nine. Add your original number. Divide by three.
Add four. Subtract your original number. Your result is seven.

(i1) Write down any three-digit number (for example, 425). Make a six-digit number by
repeating these digits in the same order (425425). Your new number is divisible by
7,11 and 13.
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Al.6 Summary

In this Appendix, you have studied the following points:

1. In mathematics, a statement is only acceptable if it is either always true or always false.

2. To show that a mathematical statement is false, it is enough to find a single counter-example.
3. Axioms are statements which are assumed to be true without proof.
4

. A conjecture is a statement we believe is true based on our mathematical intuition, but which
we are yet to prove.

ol

. A mathematical statement whose truth has been established (or proved) is called a theorem.
6. The main logical tool in proving mathematical statements is deductive reasoning.

7. A proof is made up of a successive sequence of mathematical statements. Each statement in
a proof is logically deduced from a previouly known statement, or from a theorem proved
earlier, or an axiom, or the hypothesis.
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. KBS (HSSred Jbrde Bosos® (Hees B8 P5d0 IS AbrHes HE8.

. 2.8 QB Kb (DS B) Sd (E5008° Erfrobotintod. JErHeet (K8 (HHEb0 FO)Borr
S0t BOVS (HHB50 $008 Soe 208 S0t Brerd) BoHES a8 ?oasoéo 208 S o8 Ego(sée)ééo
Soe HBBS Dol (IErotatHEH0b.

~N OO O &~ W DN
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ANSWERS/HINTS
. - IS

EXERCISE 1.1

1. Yes. 0=

o

00 : .
== €fc, denominator g can also be taken as negative integer.

2. There can be infinitely many rationals betwen numbers 3 and 4, one way is to take them

_ 21
6+1
330 4

40 . .
3. 5" 5075 50 Therefore, five rationals are :

, 4 =%- Then the six numbers are
+

4. (i) True, since the collection of whole numbers contains all the natural numbers.
(i) False, for example —2 is nota whole number.
(ii1) False, forexample isa rational number but not a whole number.
EXERCISE 1.2
1. (i) True, since collection of real numbers is made up of rational and irrational numbers.
(i1) False, no negative number can be the square root of any natural number.
(ii1) False, for example 2 is real but not irrational.
2. No. Forexample,  =2isarational number.

3. Repeat the procedure asin Fig. 1.8 several times. First obtain ~ and then
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ezarenen [ Bresdden
[ -

ogrgdo 1.1
0 0 O
1. ©H. O:EZEZE 3011, 58850 g Do ms@@vg Logye S ézﬁag‘szﬁiﬁa.

2. 35000 4 ©o8e i @bosR00 8BS Doggen o). O S a8 dgeko

— 21 28

3=, 4=""_ oHpH 6 Sogren

6+1 6+1 D 8
330 4 40 3 _
3. 5—555—5-m®@§65%o‘53(ooa>§@.

4. (i) B850 (Qodedsme) Frrposeen @5& e Soggeidd EOA ot
(i) o850, smrrdnd — 2 Fropoo .
(i) o850, arrirdnd @85 Sogy R Hrgpoto .
ogrsdo 1.2
1 (i) ®850. o Soages @D EBHD $BN @ESHADH Sogge SayFiso.
(i) od&50. & Sdrabongs anesdosny $PEore0 SOREE.
(i) od&50 emrrdnd 2 80 Sogg 52 E8ehos Sogy 5o
2. =, eTesednd =2 a8 o8B dogy

3. $eo 1.88° ATPTY OIE>E SN BO5TO. Jesed Boars  PoHEed.
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EXERCISE 1.3
1. (i) 0.36, terminating. (i1) 0.09, non-terminating repeating.
(i) 4.125, terminating. (iv) 0.230769 , non-terminating repeating.
(V) o018 non-terminating repeating.(vi) 0.8225 terminating.

4

2. %: 2x —- 0.285714, ;Z 3x = - 0.428571, -- 4« - 0.714285,

~N |-
~N| -
~N |

- 0.571428, ?: 5«

~N |

¢ - 6« 1 - 0857142
7 7

3. (i) = [Letx=0.666. .. S0 10x = 6.666.. . or, 10X=6+X Of, X=1-

wlnN

]

(i) g (iii) T;Q

1[Letx=0.9999...S5010x=9.999... or, 10x =9+x or, x =1]

0.0588235294117647
The prime factorisation of g has only powers of 2 or powers of 5 or both.
0.01001000100001. . ., 0.202002000200002. . ., 0.003000300003. . .
0.75075007500075000075. . ., 0.767076700767000767. . ., 0.808008000800008. . .
(i) and (v) irrational; (ii), (iii) and (iv) rational.

EXERCISE 14

© oo N o g B~

1. (i) lrrational (ii) Rational  (iii) Rational (iv) Irrational
(v) Irrational
2. (1) 6.3/2. 2J3. 6 (i1) 6 (i) 7. 2vho (iv) 3

3. There is no contradiction. Remember that when you measure a length with a scale or any
other device, you only get an approximate rational value. So, you may not realise that either
c or dis irrational.

4. ReferFig. 1.17.

NG
7

5. (i) L (i) 7. 6 (i) 2 () YL
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ogrsdo 1.3
1. (i) 0.36 wodsdhy szrodo (i) 009, ®oBosed wS Lzeodo (sBo)
(iii) 4.125, w08y $zeodo (1) 0.230769 , @080 S - &S Szr0do

(V) 018 wodo 52 eBo wid Saeodo (Vi) 0.8225 wodtndlhy dzrodo

_ 0428571, ;: 4.

2. 2. 2. L. 0.285714, 3. 3.
7 7 7

~N| -
~N |-

- 0.571428, ?: S« %: 0.714285,

¢ - 6« 1 - 0857142
7 7

3. (i) 2 [x=0.666. .. cEmn oo 10x=6.666... 87, 10X=6+X B, X=

©o|o

2
L
(i1) gg (i) 9;9

4. 1[Letx=0.9999. .. 00800 oH 10X=9.999... &Sz, 10X = 9+X &z, X =
1]

5. 0.0588235294117647

6. q RBooE) sP8er08 Defesd B0 2 RBoE) eeroBore el Soe 5 g FoegroBorr el Sar Bo&odD
EOA GotH.

7. 0.01001000100001. . ., 0.202002000200002. . ., 0.003000300003. . .
8. 0.75075007500075000075. . ., 0.767076700767000767. . ., 0.808008000800008. . .
9. (i) 0805w (V) 88 Soggen; (i), (iii) $980w0 (iv) en es8hD Soggen
ogrso 1.4
1. (i) s8as oy (ii) o8880H Sogy (i) eosseBdadh Somg
(iv) 85800 Somg (V) 85BH Somg
2. (i) 6.32. 243. 6 (ii))6  (iii) 7. 2410 (iv) 3

3. @it AeoBHod DEES Bed. IHET I 8.8 troeR) ens'® PR Soe 9B HOEEE" PR SDDIH
0ETE Denddd SolBah oKD ﬁ)@ooiﬁags. 9% € Soe d m E8dad Dogged aﬁ&)oiﬁtééﬁg.

4, 5630 1.17 % 56890508,

J7 V52 T2
7 3 (iv) 3

5. (i) (i) v7. 6 (iii)
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EXERCISE 1.5

1. () 8 (i) 2 (i) 52.() 27 (i) 4 (iii) 8 (iv) %[(125) NS

]

3. () 25 (ii) 32 (i) 11111 (iv) 562
EXERCISE 2.1
1. (i) and (ii) are polynomials in one variable, (v) is a polynomial in three variables,

(i), (iv) are not polynomials, because in each of these exponent of the variable is not a
whole number.

2. (i) 1 (ii) -1 (iif) 5 (iv) 0

3. 3x®—4; 2y (You can write some more polynomials with different coefficients.)

4. (i) 3 (i) 2 (iii) 1 (iv)0
5. (i) quadratic (i1) cubic (it1) quadratic ~ (iv) linear
(V) linear (vi) quadratic (vii) cubic

EXERCISE 2.2

1. (i) 3 (i1) -6 (i) =3
2. () 1,1,3 (i) 2,4, 4 (i) 0,1, 8 (iv)-1,0,3
3. (i) Yes (i) No (iii) Yes (iv) Yes
(v) Yes (vi) Yes
(vil) - % Is a zero, but % IS not a zero of the polynomial (viii) No
4. (i) -5 (i) 5 (iii) 75 (iv) %
(V) 0 (vi) 0 (viiy 4

EXERCISE 2.3
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ogrsdo 1.5

1. () 8 (i) 2 (i) 52.() 27 (i) 4 (i) 8 (iv) %[(125) NS

]

3. (i) 2= (ii) 32 (iii) 11° (iv) s6°
ogrso 2.1

1. (i) %8050 (ii) 5059 255586 exssosen (V) obs 3 SEoeHeos? oirDs.

(iii), (V) 05058 2505w 5°8). JoHE0E & aFvHHE® (HS SET>8 Gw¥) Fraroso Fraposo
s,

2. (i) 1 (ii) -1 (iif) 5 (iv) 0

3. 3x¥ —4; 2y (8 I Heesres® KO8 B0DKeks T°eHHBNK)

4. (i) 3 (ii) 2 (iii) 1 (iv) 0
5. (i) s (i) % (iii) 8 (iv) B
(V) Bds (vi) 3% (vii) 5
g0 2.2
1. (i) 3 (ii) -6 (iii) -3
2. (i) 1,1,3 (i) 2, 4, 4 (iii) 0, 1, 8 (iv)-1,0, 3
3. (i) o5% (ii) (iii) 9% (iv) 5%
(V) o5 (Vi) 055
(vii) - % 0556 &risy Denid 50 % 50 DIHOS Erisy Dens T,
(viii) =%
. .. ceay - . 2
4. (i) -5 (i) 5 (i) 75 (@iv) 3
(V) 0 (Vi) 0 (viiy 4

©grsdo 2.3
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(x + 1) is a factor of (i), but not the factor of (ii), (iii) and (iv).
(1) Yes (i) No (1) Yes

(i) -2 (i) - (2. v2, (i) v2_1 (iv)g

(i) Bx=1) @x=-D(Hx+3)(2x+1) (iii) (2x +3) (3x - 2) (iv)
(x+1) (3x—14)

() x=-2) (x-1) (x+1) (i) (x+1) (x+1) (x-5)

(i)  (x+1)(x+2) (x+10) (ivy(y=-1) (y+1 2y +1)
EXERCISE 2.4

(i) x2+ 14x + 40(ii) x2—2x —80 (iii) 9x* —3x - 20

i)y - (V) 9 — 4x2

(i) 11021 (ii) 9120 (iii) 9984

(i) (Bx+y) Bx+ Yy - D) 2y - 1)(ii)i x- 1511 X 35!
(i) x2+4y? + 1622 + 4xy + 16yz + 8xz

(i) 4x2 + y? + 72 — 4xy — 2yz + 4xz

(iii)  4x2+9y? + 422 — 12xy + 12yz — 8xz

(iv)9a? + 49b? + c? — 42ab + 14bc - 6ac

(V) 4x + 25y? + 972 — 20xy — 30yz + 12xz

2

Lat p ab
— + T+ 1 -
(VI) 16 4

—_b.
4

N | o

(i) 2x+3y—-4z) (2x+3y—4z) (i) (-V2x. y- 242z -2x. y. 2427
(i) 8X3+12x2 + 6x + 1 (i) 8a’ - 27b°® — 36a%h + 54ab?

27 . 271, 9 s 8 4 ?
—X &+ —X &+ =X+ 1 Iv) X - — - 2X +
8 4 2 () 27y y

(iii) 4’;"
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1. (x + 1) o556 (i) % s6erogo, 59 (i), (jii) $0605s (V) 0% smroso .

2. (i) o5 (i) = (i) o5
3. (i) -2 (i) (2. 2 (iii) V2.1 (iv) g
4. (1) 3x—=1) (4x-1) (ii)) (x+3) (2x+1) (iii) (2x+3) (3x-2) (iv)
(x+1) (3x—14)
5 (i) x=2)(x=-1) (x+1) (i) (x+1) (x+1)(x-5)
@) (x+1) (x+2) (x+10) (ivy(y=-1) (y+1 2y +1)
ogRso 2.4

1. (i) x*+ 14x + 40 (ii) x2—2x—80 (iii) 9x>—3x—-20
i)y - (V) 9 — 4x2
2. (i) 11021 (ii) 9120 (iii) 9984

3. (i) (3x+y) (3x+y) (i) @y—-1) y-1) (i) {x- 5}/ 7]

4. (i) x2+4y? + 162> + 4xy + 16yz + 8xz
(i) 4x2 + y?2 + 72 — 4xy — 2yz + 4xz
(iii) 4x® + 9y? + 47% — 12xy + 12yz — 8xz
(iv)9a? + 49b? + c? — 42ab + 14bc - 6ac
(V) 4x2 + 25y? + 972 — 20xy — 30yz + 12xz

2

Lat p ab
— + T+ 1 -
(VI) 16 4

—_b.
4

N | o

5. (i) 2x+3y—4z) (2x+3y—4z) (i) (-V2x- y. 22z -2x. y. 227

6. (i) 8 +12x* +6x +1 (i) 8a®-27b® - 36a’b + 54ab?
2_73222 . 323 2y2 4xy*
(i) g X 4x+2x+1 (|v)x_27y_ X7y + 3
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7.

8.

10.

11.

12.

13.

14.

15.

16.

(i) 970299 (i) 1061208 (i) 994011992
(i) (2a + b)(2a + b)(2a + b) (ii) (2a - b)(2a - b)(2a - b)

(iii) (3 -5a)(3 - 5a)(3 - 5a) (iv)(4a - 3b)(4a — 3b)(4a — 3b)

1y

1,
= L
61

3p -
p6J

(v) {3p- Z1i3p-
\ 61

(i) (3y +52) (9y? + 2522 — 15yz)  (ii) (4m —7n) (16m? + 49n? + 28mn)

(Bx +y +2) (9%% + y? + 72— 3xy — yz — 3X2)

Simiplify RHS.

Putx +y+z=0in Identity VIII.

() —=1260. Leta=-12,b=7,c=5. Herea + b + ¢ = 0. Use the result given in Q13.

(ii) 16380

(i) One possible answer is : Length = 5a — 3, Breadth = 5a — 4

(i1) One possible answer is : Length = 7y — 3, Breadth =5y + 4

(i) One possible answer is: 3, xand x —4.

(i1) One possible answer is: 4k, 3y +5and y - 1.

EXERCISE 3.1

Consider the lamp as a point and table as a plane. o

Choose any two perpendicular edges of the table. Lamp
Measure the distance of the lamp from the longer
edge, suppose it is 25 cm. Again, measure the distance
of the lamp from the shorter edge, and suppose it is
30 cm. You can write the position of the lamp as (30, UJ
25) or (25, 30), depending on the order you fix.

30 cm
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7. (i) 970299 (ii) 1061208 (iii) 994011992
8. (i) (2a+ b)(2a + b)(2a + b) (i) (2a - b)(2a - b)(2a - b)

(iiii) (3 — 5a)(3 - 5a)(3 - 5a) (iv)(4a — 3b)(4a — 3b)(4a — 3b)

1y

1,
= 2z
61

3p -
p6J

(v) (3p- T)f3p-
\ 61
10. (i) (3y +5z) (9y? + 2522 — 15yz)  (ii) (4m —7n) (16m? + 49n? + 28mn)
11. (3x+y +2) (9%x* +y? + 22 — 3xy — yz — 3X2)
12. RHS % 80508,
13. VIl & &P X +y +2 =0 808%8.

14. (i) -1260 , a=-12,b =7, c = 5 o8%&. ase> a+ b+ ¢ =0. Q13 & a9 HO=
SHABTA0BOE.

(ii) 16380
15. (i) 2regsd ssmgeso, e = 5a— 3, ey = 5a— 4
(i) Ares5d dsoprso PeH = Ty — 3, Bikey) = By + 4
16. (i) regodhy vsrmrso 3, X $oBckw X — 4.
(i) Aressocdhy vamgeso 4k, 3y +5 Hoak0 Y - 1.

ogrsdo 3.1

25 cm

1. 29 a8 Sodoorr ok Hrd) &8 Hohde b od. A
2g @) IBT° BorH ©oPore &) wohed Sstod.
S 0o SHod EF8 Ko ey SPokod. ©b a8 25
20.80. ©58%&. Hder HF) @0 Hob BB e TR
Food. @& 3020.0. exnsol. s &k xR (30,25) UJ
& (25,30) 1 ToaHDHED),. @8 b S BT WrrEHd
€08O.

30 cm
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2. The Street plan is shown in figure given below.

e i
P R R~

> Street 5

4,3)

> Street 4

> Street 3

> Street 2

Street 1

C

\ 4

S

>E

Both the cross-streets are marked in the figure above. They are uniquely found because of
the two reference lines we have used for locating them.

EXERCISE

1. (i)Thex-axisandthey-axis (ii) Quadrants (iii) The origin

3.2

2. (i)(=5,2) (ii)(5-5) (ii)E (V)G (V)6 (vi)=3 (vii)(0,5) (viii) (=3, 0)

EXERCISE
1. x-2y=0
2. (i) 2x+3y—-935=0;a=2,b=3,c=-935
(i)x-%-10=0;a=1,b= " c=-10

4.1

(i)  —2x+3y-6=0;a=-2,b=3,c=-6

(iv)1x-3y+0=0;a=1,b=-3,c=0
(V) 2x+5y+0=0;a=2,b=5,c=0
(vi)3x+0y+2=0;a=3,b=0,c=2

(vii) 0.x+1y-2=0;a=0,b=1,¢c=-2
(viii) -2x+0.y+5=0;a=-2,b=0,c=5
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2. (808 ad@dd H00s° HY Herds Srdadse.

NH(\IO’)Q‘LO
AS S 8 8 8
bl
(‘75 > 535,35
4 > 25 4
> a3
> D8 2
> %1
W >
C vV V V VvV V
v
S

2 B008° (595 [Je5 (Cross-streets) Dehen Bodr HgoDaTran. © [HEFET BB, JoLB0E
A KoroHers 3ot 33569 JEETPOL SHRBrAOTOED.

g0 3.2
1. ()X - o980 805w Y -wgo (i) rstwen (1) Lo Dot
2. ()(=5,2) (@)B,-5) (@HE (v)G (v)6 (vi)—3 (vii) (0,5) (viii) (-3, 0)

oo 4.1
1. x-2y=0
2. () 2x+3y—-93=0;a=2,b=3,c=-19.35
(ix- 2 -10=0;a=1,b= " c=-10
(iii) -2x+3y-6=0;a=-2,b=3,c=-6
(iv)1x-3y+0=0;a=1,b=-3,c=0
(V) 2x+5y+0=0;a=2,b=5¢=0
(vi)3x+0.y+2=0;a=3,b=0,c=2
(vii) 0.x+1ly-2=0;a=0,b=1,c=-2
(viii) -2x+0.y+5=0;a=-2,b=0,c=5
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EXERCISE 4.2

1. (iii), because for every value of x, there is a corresponding value of y and vice-versa.

2. (1) (0,7),(1,5),(2,3), (4,-1)

(i) (1,9-+),(0,9), (1,9 +.), (”3, 0!

(iii) (0, 0), (4, 1), (-4, 1), (2.

3. () No (i) No (ii1) Yes (iv) No (v) No
4. 7
EXERCISEb5.1
1. (i) False. This can be seen visually by the student.

(i1) False. This contradicts Axiom 5.1.
(iii) True. (Postulate 2)

(iv) True. If you superimpose the region bounded by one circle on the other, then they
coincide. So, their centres and boundaries coincide. Therefore, their radii will
coincide.

(v) True. The firstaxiom of Euclid.

There are several undefined terms which the student should list. They are consistent,
because they deal with two different situations - (i) says that given two points Aand B,
there is a point C lying on the line in between them; (ii) says that given Aand B, you can
take C not lying on the line through Aand B.

These “postulates’ do not follow from Euclid’s postulates. However, they follow from
Axiom5.1.

AC=BC
So, AC +AC = BC + AC(Equals are added to equals)
ie., 2AC=AB (BC+ACcoincideswith AB)
Therefore, AC= %AB
Make a temporary assumption that different points C and D are two mid-points of AB.
Now, you show that points C and D are not two different points.
AC=BD (Given) (1)
AC = AB + BC(Point B lies between Aand C) (2)

BD = BC + CD(Point C lies between B and D) (3)
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g0 4.2

1. (iil) Qo808 B8 X DenddH w8 @iheHS Y Dend G0ty $HBH (K8 Y DenddH ool
DMHEIFPS X Dend 60enod.

2. (1) (0,7),(1,5),(2,3), (4,-1)

(i) (1,9-+x),(0,9), (-1,9+:), 2.0

)
(iii) (0, 0), (4, 1), (-4, 1), {2%]
3. (i) =% (i) =% (i) % (iv) == (V) ==
4. 7
ogr5o 5.1
1 () od&0. 50 drsds §)ddsorr odiso vHdob.
(1) oRg50. 26 5.1 sy g Do,
(i) &g0. (25 Bgg)Bo)
(iv) ®850. Both K& YT e5TVP HEES 60D 0 HEAFar. 579 =& Soprey
B HF Hoghen ErGe DELFDOHI. WorHHD Q) HF FTren Eree DEFDIaw.
(V) %850, GhraE FoBd sy Grss,

3. as® o8 ©BWS Hwre D50 ez Er08® SrEHE)). © $oISIN. okEod Bok
3o BorTetn H8FDoSm (1) Hod awas A oo B dothde rome D6 Tep
A, B o 5555 C 0 Hothsh Sotd @ Benkyod. (i) ol Abcin B home 53 S BHoTe
C o o S é?ﬁ)g"éérﬁa 0 8O0.

& 2505%@@ o8& g‘oogée)@e)zéa ©03800) BY. ®ond ©d Py PSS 5,10 @d80D

BIQW.

4, AC=BC
SV AC +AC = BC + AC (358 orhed d85mdoediedd i)
Sl 2AC = AB (BC+AC = AB &9 585208 )
Therefore, AC= % AB

5. C%8c%0 D 959 AB % 3ok 38563 Eﬁ)tﬁeg DoHHen @Hsol. ad C Hr8csn D 939 ok
38563 DoHen 08 © Seard.

6. AC=BD (5@&oB) (1)
AC= AB +BC (B oty Asdasin Co g Seotd ) (2)
BD =BC+CD (C 80t B 0805w D o g S ) (3)
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Substituting (2) and (3) in (1), you get
AB +BC=BC+CD

So, AB = CD (Subtracting equals from equals)

. Since this is true for any thing in any part of the world, this is a universal truth.

EXERCISE6.1

. 30°, 250° 2.126° 4. Sum of all the angles at a point = 360°

. 2 Q0OS=., SOR+. ROQand. POS=. POR-. SOR. 6.122° 302°

EXERCISE 6.2
. 126° 2. 126°, 36°, 54° 3. 60° 4. 50°, 77°
. Angle of incidence = Angle of reflection. At point B, draw BE . PQ and at point C, draw
CF. RS.
EXERCISE 7.1
. They are equal. 6. - BAC=. DAE
EXERCISE 7.2
. - BCD=. BCA+. DCA=. B+. D 7. eachisof 45°
EXERCISE 7.3

. (i) From (i), - ABM=_. PQN

EXERCISE8.1

. (i) From, DACand. BCA, show . DAC=_. BCAand. ACD=_. CAB, etc.

(i)Show . BAC=_. BCA, using Theorem 8.4.
EXERCISE 8.2

. Show PQRS s a parallelogram. Also show PQ || AC and PS || BD. So, - P=90°.
. AECF isaparallelogram. So, AF || CE, etc.
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(2) Sobos (3) o (1) &6 ©EEBoST
AB +BC = BC + CD
ISEEVISE AB = CD (35% oo 008 8808 ordheodd é?o?;%oﬁam)

DoHE0E (HHoso® H DRI v D50, B FEYBE $&s0.

©gr5o 6.1

30°,250° 2. 126° 4. 28 ot 5 o) e Imdo = 360°

+ QOS=_. SOR+ . ROQ%8cs» » POS=. POR-. SOR. 6. 122°, 302°
©g00 6.2

126° 2. 126° 36° 54° 3.60° 4. 50° 77°

H8% S0 Jend = FTHBS Ero Jend. B Dothd $¢ BE 1 PQ erbiiey BES moasm C
CF. RSerisey CF % Adhod.

ogrRso 7.1
@ J37eTPen 6. - BAC=_. DAE
g0 7.2
. BCD=, BCA+. DCA=. B+. D 7. ©88%s0 Qensd 45°
ogrsdo 7.3
(if) 208 (1), - ABM=_. PQN
ogrsdo 8.1

(I) » DAC £%8050 » BCAe %0& » DAC =, BCAS85»n - ACD =, CAB 3o 9
SPard.

(ii)derodo 8.4 & e@Brhod » BAC=- BCA Srbod.

g0 8.2

PQRS 2.8 $ir088 Séhtyeo o rard. wodsedore PQ || AC 8cio PS || BD @ $rar®.
Y, P =90°.

AECF o306 2.8 $55r0o88 Sétyzo. 5293, AF || CE Sbon
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EXERCISEO.1

. Prove exactly as Theorem 9.1 by considering chords of congruent circles.

. Use SAS axiom of congruence to show the congruence of the two triangles.

EXERCISE9.2

. 6. cm. Firstshow that the line joining centres is perpendicular to the radius of the smaller

circle and then that common chord is the diameter of the smaller circle.

. IfAB, CD are equal chords of a circle with centre O intersecting at E, draw perpendiculars

OM on AB and ON on CD and join OE. Show that right triangles OME and ONE are
congruent.

. Proceed as in Example 2. 4. Draw perpendicular OM on AD.

. Represent Reshma, Salma and Mandip by R, S

and M respectively. Let KR = x m (see figure).
Areaof» ORS :%x x 5. Also, areaof » ORS =

s

RE—1x M
1 1 (L
LRSxOL=1x6x4. %/

S

Find x and hence RM.

. Use the properties of an equilateral triangle and also Pythagoras Theorem.

EXERCISE 9.3
. 45° 2. 150°, 30° 3. 10°
. 80° 5. 110° 6. . BCD=80%and . ECD =50°

. Draw perpendiculars AM and BN on CD (AB || CD and AB < CD). Show

» AMD:- » BNC.Thisgives. C=_. Dand, therefore, . A+. C=180°.
EXERCISE 10.1

NE

R ,900,3cm? 2. % 1650000 3. 20/2m?

2111cm? 5. 9000 cm? 6. 915 cm?
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g0 9.1
1. dzrodo 9.1 (Bsedo DBRETS Hze emgeid H0MS"8 SR JrHe BATD.
2. Botb> [Bebaren SEFETHO ©D ST 5.85.4h. BELTHE DHERD) SHEPROTH.

©gsd0 9.2

1. 620.8. Ao $E Solmred Swo) Ty DHYHS THITTRE ©020rP 000 Sard
B0 &iind ey DY) HE 500 © HPard.

2. OBoorr Ko $H¥o Ews) Botk Hkmd a5 e E 98 90805087588 AB & eomo OM ssoi

CD % o0 ON £ Acsred 8050 OEL Sesos. eoases @’ée;;a_a?en OME 08050 ONEe»
DERBHD 5oaed.

3. SETPRBE 25 ©Kd80808. 4. AD &g OM ©0erl) AcDo&.

5. 8&)&, ey 5B 55H%e R, S $08c50 M o8t
SrQosod. KR =XMehsbold. (567 SrEod). a

ORS 3zeex0 :%X X 5. %0cw » ORSZzeex0 = %

22
1 RE—1x M
RSxOL= 1 x6x4. %/

S

X 58050 RM enderds 8f°508.

6. Doers™ (Bhes Goen HOAH PEHNER RTPoR SIBPA0L0E.

o550 9.3
1. 45° 2. 150°, 30° 3.10°
4. 80° 5. 110° 6. - BCD=80°%80» » ECD=50°

7. CDév AM 586 BN soares Adhod. (AB || CD ok AB < CD).
» AMD: » BNC @9 &$r3r9. 605008 » C=., D%ocs» » A+. C=180°.

ogrsdo 10.1

1. $a2,900,3cm2 2. ¥ 1650000 3. 20/2m?

4. 2111cm? 5. 9000 cm? 6. 9415 cm?
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© o w npoE

7.

EXERCISE11.1

165 cm? 2. 124457 m? 3. (i) 7cm (ii) 462 cm?
(i) 26 m (i) ¥ 137280 5. 63 m 6. T 1155
5500 cm? 8. ¥ 384.34 (approx.)
EXERCISE 11.2
(i) 1386 cm? (ii) 394.24 cm? (iii) 2464 cm?
(i) 616 cm? (ii) 1386 cm? (iii) 38.5m?
942 cm? 4.1:4 5.%327.72
3.5¢cm 7.1:16 8. 173.25 cm?
(i) 4xr? (ii) 4~ r? @iii) 1:1
EXERCISE 11.3
(i) 264 cmd(ii) 154 cm? 2. (i) 1.232 1 (ii) %I
10 cm 4.8cm 5. 38.5 kl
(i) 48 cm (ii) 50 cm (iii) 2200 cm? 7.100. cm?® 8. 240, c¢cm3; 5 :
12
86.625x m3, 99.825 m?

EXERCISE 114

(1) 1437 % cmd (ii) 1.05 m? (approx.)

(i) 11498 = cm? (ii) 0.004851 m? 3. 345.39 (approx.)
o 5. 0.3031 (approx.) 6. 0.06348 m* (approx.)
179§cm3 8. (i) 249.48 m?  (ii) 523.9 m? (approx.) 9. M3r ()l:9

10.22.46 mm? (approx.)
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7.

ogrgdo 11.1
165 cm? 2. 1244.57 m? 3. (i) 7 cm (ii) 462 cm?
(i) 26 m (i) ¥ 137280 5. 63 m 6. ¥ 1155
5500 cm? 8. ¥ 384.34 (oswdore)
ogrgdo 11.2
(i) 1386 cm? (ii) 394.24 cm? (iii) 2464 cm?
(i) 616 cm? (if) 1386 cm? (iii) 38.5 m?
942 cm? 4.1:4 5.327.72
3.5¢cm 7.1:16 8. 173.25 cm?
(i) 4er? (il) 4xr? (i) 1:1
ogrgdo 11.3
(i) 264 cm?(ii) 154 cm?® 2. (i) 1.232 1 (ii) %I
10 cm 4.8cm 5.38.5kl
(i) 48 cm (ii) 50 cm (iii) 2200 cm? 7. 100. cm® 8.240. cm? 5:12

86.625x m?, 99.825 m?

ogrgdo 11.4

(i) 1437 + om?® (ii) 1.05 M? (sesore)

(i) 11498 = cm? (ii) 0.004851 m? 3. 345.39 g (xos565r)

1
64

1792cm? 8. (i) 249.48 m? (i) 523.9 m° (oisetore) 9. (i) 3r (i) 1: 9

10.22.46 mm?3 (Rox8or)

= 5. 0.3031 (o) 6. 0.06348 mM? (xosimsorr)
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EXERCISE 12.1

1. (it)Reproductive health conditions.
3. (i)Party A 4. (i) Frequency polygon (iii) No 5. (i) 184

8. |Age (inyears) | Frequency | Width | Length of the rectangle
1-2 5 1 g 1-5
2-3 3 1 %1 3
3-5 6 2 € 1.3

2
5.7 12 2 % 1.6
9
7-10 9 3 gx1: 3
10- 15 10 5 =1.2
4
15-17 4 2 > 1.2

Now, you can draw the histogram, using these lengths.

9. (1)|Number of letters |[Frequency| Widthof | Length of
interval | rectangle
6
1 = 4 6 3 gx 2-4
4-6 30 2 2 2%
6-8 44 2 % <2 44
8-12 16 4 % 2.8
4
12-20 4 8 g 21

Now, draw the histogram.
(i) 6-8
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ogrgdo 12.1
1. (i) 538888 Somofod 6Ky Srkgen.
3. (i) A 4. (i) P5:0%8 oogde  (iii) o 5. (i) 184

8. | Sy (vons®) 85880 e 88 SHB(Ho ) FUD
1-2 5 1 g 1.5
2-3 3 1 23

6
3'5 6 2 Ex 1: 3
5-7 12 2 % 16
9
7-10 9 3 31 3
10- 15 10 5 % 1.2
4
15 - 17 4 2 5+ 1-2

DD G PEYODBEPAD o> PBFLTe VFo PPPSH A,

9. (i) ofTre Bogy E8H8s0 Sken) 88 SH8(s0
B FED
1-4 6 3 S 2.4
3
4-6 30 2 2%
6-8 44 2 %x 2. 44
8-12 16 4 % 2.8
4
12 - 20 4 8 g 21

D SPRPPSD VBT DFo Aad.
(ii) 6-8
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EXERCISEAL1

. (i) False. There are 12 months in a year.

(if) Ambiguous. Inagiven year, Diwali may or may not fall on a Friday.

(iit) Ambiguous. At some time in the year, the temperature in Magadi, may be 26° C.
(iv) Always true.

(v) False. Dogs cannot fly.

(vi) Ambiguous. In aleap year, February has 29 days.

. (i) False. The sum of the interior angles of a quadrilateral is 360°.

(i) True (iit) True (iv) True
(v) False, for example, 7 +5 =12, which is not an odd number.

. (1) All prime numbers greater than 2 are odd.

(i1) Two times a natural number is always even.  (iii) Foranyx>1,3x+1>4.

(iv) Foranyx: 0,x3: 0.

(v) Inanequilateral triangle, a median is also an angle bisector.
EXERCISEAL1.2

. (1) Humans are vertebrates. (ii) No. Dinesh could have got his hair cut by anybody

else. (i) Gulaghasaredtongue. (iv) We conclude that the gutters will have to be
cleaned tomorrow.  (v) Allanimals having tails need not be dogs. For example, animals
such as buffaloes, monkeys, cats, etc. have tails but are not dogs.

. You need to turn over B and 8. If B has an even number on the other side, then the rule has

been broken. Similarly, if 8 has a consonant on the other side, then the rule has been
broken.

EXERCISEA1.3

. Three possible conjectures are:

(i) The product of any three consecutive even numbers is even. (ii) The product of
any three consecutive even numbers is divisible by 4.  (iii) The product of any three
consecutive even numbers is divisible by 6.

. Line4:1331=11% Line5:14 64 1=11% the conjecture holds for Line 4 and Line

5: No, because 11°. 15101051.

. T,+T,=25=5%, T  +T =n
. 1111112 = 12345654321 ; 11111112 = 1234567654321
. Student’s own answer. For example, Euclid’s postulates.
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ogrsvo ALl
() ¥&50. a8 K0TS 12 Jven.
(i) dobRS: &8 Bons® Barsd Hgaeso o), T8N,
(i) SoKss : Sons® e.88%s Hore &S 26° C sordly,.
(V) gy S&so.
(V) od850. HHen DS 8.
(Vi) Sobrs : 85 Kons® Had I 29 Berenoto.
(1) o850, SHB2os® wosss e Fwgo 360°.
(i) S0 (i) %o (Iv) S0
(V) o0, smededent 7+ 5= 12 82 Sogy sow.
(1) 2808 EBS (e éo%@ﬁ)& BV Soggen.
(i) &8 Derazsogs B0 YD $HOKogy ©HSOR.
(i) x> 1 odgey X @0%) @ dendBae 3X + 1> 4 0H%0b.
(iV) x> 0edhgty X @) O dend3e X*= 0 whHsob.
(V) Ssoees (Babezos® Loe3558 Badh e DSBS B ©H&Hod.
ogrsvo AL.2
(i) srsder s5dmer @inins Ko dven) (i) s, OFF wipd HBSP 58000
GogEESY. (1ii) Herh BB Trenso BOA God. (IV) srenden TH Hlgo Doirod bk

Qedoro. (V) ésée»:é& o) es0&Hhen HEen SPHSIG0 B, eorrdnd Nae, Sden, Hepen
SInBorHED &8en EOA &oHd.

9% B 5605w 89 STy G0k 2,838 B 57835 %0 Qogg &08 9 DSHH0o PO BEB.
©RJBorr 2858 B 35"%&3_?’.9) ?8600% 608 @ VD0 FPBoSEs.

ogrsvo AL3

S0t ©°C§?3263&3:§ HBE)Sex.

(i) 93 3 5K BEomge ©zo VB Kogy, (i) ITT° 3 HBD VB Kogge wwo 43 AN,
(iii) S 3 HL% $B Bomge ©go 63 FrhoSatE0b.

45 $%% 0 1331=113% 55 5508 11464 1=11% 45 $850 805 5 $8d0es HOBS
$806. 11° . 15101051 =290 $580:560.

T,+T,=25=5% T +T =n

111111% = 12345654321 ; 1111111% = 1234567654321
Derge o8 KEFGI0. arrirtnd gl dgmren,
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EXERCISEA14

. (1) Youcan give any two triangles with the same angles but of different sides.

(i) Arhombus has equal sides but may not be a square.

(it1)  Arectangle has equal angles but may not be a square.
(iv) For a = 3 and b = 4, the statement is not true.

(v) Forn=11, 2n?+ 11 = 253 which is not a prime.

(vi)Forn=41,n?>-n +41lisnotaprime.

2. Student’s own answer.
3. Let x and y be two odd numbers. Then x = 2m +1 for some natural number m and

y = 2n + 1 for some natural number n.
X+y=2(m+n+1). Therefore, x +y is divisible by 2 and is even.

. See Q3. xy=2m+1)@2n+1)=22mn+m+n) + 1.

Therefore, x y is not divisible by 2, and so it is odd.

. Let 2n, 2n + 2 and 2n + 4 be three consecutive even numbers. Then their sum is

6(n + 1), which is divisible by 6.

. (i) Letyour original number be n. Then we are doing the following operations:

n. 2n- 2n+9. 2n+9+n=3n+9., ¥:n+3% n+3+4=n+7.
n+7-n=71.
(i1) Note that 7 x 11 x 13 = 1001. Take any three digit number say, abc. Then

abc x 1001 = abcabc. Therefore, the six digit number abcabc is divisible by 7, 11
and 13.

EXERCISEA21

. Step 1: Formulation :

The relevant factors are the time period for hiring a computer, and the two costs given to
us. We assume that there is no significant change in the cost of purchasing or hiring the
computer. So, we treat any such change as irrelevant. We also treat all brands and
generations of computers as the same, i.e. these differences are also irrelevant.

The expense of hiring the computer for x months is ¥ 2000x. If this becomes more than
the cost of purchasing a computer, we will be better off buying a computer. So, the
equationis

2000 x = 25000 (1)
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ogrgvo Al.4

(1) 5% SPeren 5OA ST gheren DAL BT 2 (Bghereon DY sdGHD).
(i) Troad ©HHs JLeS gherey EOA 6ot 570 SEHBR0 SEDBHLD.
(i) Buesn 85 oy BOA &0k, 520 SHBHo SPEVEBD).

(iv) a = 3 805w b = 4 0% (H5550 &0 2.

(V) N =11 o 2n* + 11 = 253 ({555 Sogy s00.

(Vi) n =41 wowd N =N + 41 (K58 Sogy so.

3)@5630 00 (R08) Baregeo.

3. X 508050 Y 08 Bok B Koggen 08508, ©HH X =2m +1. m a8 dee: Dogyg B0

y=2n+1nezg Sees Sons.

X+y=2(Mm+n+1).x+y28& grhosatodn $dasn 98 dogyg
Q.3 S0 Xy =(2m+1)(2n+1) =2 (2mn+m+n) + 1.
X Y 0088 ‘2 & grhodalth. 298 35 B Qogy.

2n, 2n + 2 £06a5» 2N + 4 00050 Sk $808 $05opge. @K a0 Swgo
6(N + 1) 088 6’ &° grhodacl.

(1) & @) wden Sogyg N w08 . @H Hdo Bod Horr Baro.

n.2n. 2n+9. 2n+9+n=3n+9_ ¥:n+3% nN+3+4=n+7.
n+7-n="17.
(i) 7 x 11 x 13 = 1001 @ $odos0s. 937 3  woSe dogg AbC @Hs*od. wHi

abc x 1001 = abcabc s0:% ‘6’ wosedosyg abcabc 038 7, 11 $8050 13 &
FPA0LED.

ogrsvo A2.1
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Step 2 : Solution : Solving (1), x = % =125

Step 3 : Interpretation : Since the cost of hiring a computer becomes more after 12.5
months, it is cheaper to buy a computer, if you have to use it for more than 12 months.

. Stepl : Formulation : We will assume that cars travel at a constant speed. So, any

change of speed will be treated as irrelevant. If the cars meet after x hours, the first car
would have travelled a distance of 40x km from A and the second car would have travelled
30x km, so that it will be at a distance of (100 — 30x) km from A. So the equation will be
40x = 100 — 30x, i.e., 70x = 100.

Step 2 : Solution : Solving the equation, we get x = %.
Step 3 : Interpretation : %

1.4 hours.

Is approximately 1.4 hours. So, the cars will meet after

. Stepl: Formulation : The speed at which the moon orbits the earth is

Length of the orbit
Time taken

Step 2 : Solution : Since the orbit is nearly circular, the length is 2 x . x 384000 km
= 2411520 km

The moon takes 24 hours to complete one orbit.

24215 = 100480 km/hour.

So, speed =
Step 3 : Interpretation : The speed is 100480 km/h.

. Formulation : An assumption is that the difference in the bill is only because of using

the water heater.

Let the average number of hours for which the water heater is used = x
Difference per month due to using water heater = ¥ 1240 — ¥ 1000 =% 240
Cost of using water heater for one hour =3 8

So, the cost of using the water heater for 30 days =8 x 30 x x

Also, the cost of using the water heater for 30 days = Difference in bill due to using
water heater

So, 240x =240
Solution : From this equation, we get x = 1.
Interpretation : Since x = 1, the water heater is used for an average of 1 hour in a day.
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25 68 1 355 1 (1) ® pose x= =08 =125

35 8% 1 DRBBea: 12.5 I SoE Sosirgtab O3S &5 H0e0% @63)5 L) BN ©HEOB.
So9S Boxgrgr8idn 12 Joen EoB HENS DA S T i Bohweds edly 93) T8
€08000.

L8886 1 15 8% 1 ‘z’géﬁﬁo@s BATBRTNEH @Bomro. HI SKos® O HrdnIae
©B0B0FHIBT gPATT0. W8IE X Hotre o @ 528 e.88° 8O 0 s o Aod
40X 8.8. Br80 (HoSrBnod B 285 =% 30X &rdo (Hirdnod. @ A Kod
(100 — 30x) &.&. eHHob.

25 653 S 0y Fose X = 0 rothero,
35 B8 QN8 % = 1.4 on (2o35rre) s29S 2 508 1. 4000 T8 Senraw.

S @586 1 15 84 Solthed ated Seap 88K o =

25 8% 1 PES L 8 R §zesros® a0 Ed 2 X « x 384000 8.5
= 2411520 &.5.

S0 a8 HB(ES0E0 B K)§S°e>o 2401

=95 3o = 241214520 = 100480 &.8v/¥on

25 8 1 DHBes : HBEIee Iso 100480 8.5, /5o

“( 580 : e Srebi DAFrROSEO S SrE Dend® Bre $Q)0EY wdHomro. b
8165550 DARTAODS DTKd Kobse Sdogyg = X ©05E &,

T¢36 S1e6% AGEPKo Sl e Iod Bwe =T 1240 -7 1000 =2 240
150 5268 868 DABrAODOH ©dls Pty =3 8
053, 5 7665 30 Sere DIBEACEHE @63)5 &) =8 x 30 X X

025 $6:5% 30 Sferren DIBTACLHEL @i P = b 8185550 DABPA0SEI0 S0k E3oS
Dens® DS B

5055, 240x = 240
PES 1 B DE0EBe0 5008 X = 1 e@HEod.
D88 1 X =1 %08 7068 Srerb 2.8 Bl $ordd 1Ko ABPA0HEH06.
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EXERCISEA2.2

1. We will not discuss any particular solution here. You can use the same method as we
used in last example, or any other method you think is suitable.

EXERCISEA23

1. We have already mentioned that the formulation part could be very detailed in real-life
situations. Also, we do not validate the answer in word problems. Apart from this word
problem have a ‘correct answer’. This need not be the case in real-life situations.

2. The important factors are (ii) and (iii). Here (i) is not an important factor although it can
have an effect on the number of vehicles sold.
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